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BIHK 3
XML BB A 2R ¥ A (ERERIREMHRE)

{?xml version="1.0" encoding="UTF-8"7>
CMCCI_IN200100UV0I ITSVersion="YML_1.0" xsi:schemalocation="urn:hl7-org:v3 MCCI_IN200100UY01, xsd” xmlns="urn:hl7-org:v3”
xmlns:xsi="http://www. w3. org/2001/XMLSchema—instance™>
<id extension="N. 1. 2" root="2.16. 840.1, 113883, 3,989, 2, 1.3,227/>
<!— N, 1.2: Batch Number —»
{creationTime value="20101214151617"/>
¢l== N.1.5: Date of Batch Transmission —>
{responseModeCode code="D"/>
<interactionld extension="MCCI_IN200100UV01” root="2, 16.840. 1. 113883.1.6"/>
{name code="N. 1.1” codeSystem="2. 16.840. 1. 1123883, 3.989. 2. 1. 1. 17 codeSystemVersion="1.01"/>
{1— N.1.1: Type of Messages in Batch —>
1=~ Message #1 —>
<PORR_IN045016UV>
{id extension="N.2.r.1" root="2, 18. 840. 1. 113883.3.989.2.1.3.1"/>
¢l==N.2.1.1: Message Identifier —>
CcreationTime value="20101214151617"/>
¢I— N.2.r.4: Date of Message Creation —>
{interactionId extension="PORR_IN049016UV" root="2.16.840, 1.113883. 1. 6"/>
{processingCode code="P"/>
{processingModeCode code="T"/>
<acceptAckCode code="AL"/>
{receiver typsCode="RCV™>
<device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N.2.r.3" root="2.16.840.1.113883.3.989.2.1,3.127/>
<|— N.2.r.3: Message Receiver Identifier —>
{/device>
{/receiver>
{sender typeCode="SND">
{device classCode="DEV” determinerCode="TNSTANCE™>
<id extension="N.2.r.2" root="2. 16, 840. 1. 113883. 3.989.2.1. 3. 11"/>
<l— N, 2.1.2: Message Sender Identifier -->
{/device>
{/sender>
{controlActProcess classCode="CACT™ moodCode="EVN">
{code code="PORR_TE049016UV" codeSystem="2. 16. 840. 1. 113883. 1. 18"/>
<|— HLT Trigger Event ID —>
<effectiveTine value="201012141518177/>
¢l— C.1.2: Date of Creation ——>
{subject typeCode="SUBJ™>
{investigationEvent classCode="INVSTG" moodCode="EVN™>
<id extension="C.1.1" root="2.16.840.1.113883.3.989,2.1.3.1"/>
¢l— C.1.1: Sender’s (case) Safety Report Unique Identifier —>
<id extension="C.1.8.1" root="2.16.840.1.113883.3.989.2.1.3.2"/>
¢l— €.1.8.1: Worldwide Unique Case Identification Number ~->
<id extension="J2.1b" root="2.16.840.1.113883.3.989.5.1.3.2.3.1"/>
<1— @gajz. 1h: #HES (F5) —
<code code="PAT_ADV_EVNT" codeSystem="2. 16. 840, 1, 113883, 5.47/>
<{text>H. 1{/text>
<!— H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant
Information —>
{statusCode code="active”/>
Il--8@8J2.7.1 5T, KETERY
{effectiveTime>
{low value="20090101"/>
{I— C.1,4: Date Report Was First Received from Source -->
</effectiveTime>
<availabilityTime value="20090101"/>
¢l— C.1.5: Date of Most Recent Information for This Report —>
<reference typeCode="REFR™>
¢document classCode="D0C” moodCode="EVN">
{code code="1" codeSystem="2. 16. 840. 1. 113883. 2. 989. 2. 1. 1. 277 codeSystemVersion="1.0"



displayName="documentsHeldBySender”/>
{title>C. 1.6. L r. 1</title>
<!— C.1.6,1.x.1: Documents Held by Sender (repeat as necessary) #1 —>
{text mediaType="application/pdf” representation="B64">C. I.86. 1. r. 2<{/text>
<!— €. 1.6.1.r.2: Included Bocuments #1 —>
¢/document>
{/reference>
{reference typeCode="REFR">
<document classCode="D0C" moodCode="EVN">
{code cede="1" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1, 1. 27" codeSystemVersion="1.0"
displayName="documentsHeldBySender” />

title>C L6 L 1/title
{!=~ C.1.6.1.r.1: Documents Held by Sender (repeat as necessary) #2 -->
{text mediaType="image/jpeg” representation="B64" compression="DF">C. 1. 6. 1.r. 2{/text)>
¢!— C.1.6.1.r.2: Included Documents 2 —>
{/document’>
</reference>

<{reference typeCode="REFR™>
<document classCede="DOC" moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3,989, 2, 1. 1. 27" codeSystemVer31on— 1.0"
displayName="1iteratureReference”/>
Ctitle>]2, 17, ré/title>
1— eeaz. 17.r BB/ HROSE #t —
{text mediaType="application/pdf” representation="B647>C.4.r. 2</text>
¢l— C.4.r.2: Included Documents #1 —>
<{bibliographicDesignationText>C. 4. r. 1{/bibliographicDesignationText>
{!— C.4.r.1: Literature Reference(s) #1 —>
{participation typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
<represented0rganization classCode="ORG™ determinerCode="INSTANCE™>
{asLocatedEntity classCode="LOCE™>
<location ¢lassCode="COUNTRY” determinerCode="INSTANCE">
<code code="J2.15.r" codeSystem="1.0.3166.1.2.2"/>
<I-- @@aJz. 15.r 2AF%E #1 —>
</location>
{/aslocatedEntity>
{/representedOrganization>
{/assignedBntity>
{/participation’
</dacument>
{/reference>
{reference typeCode="REFR">
{document classCode="D0C" moodCode="EVN">
{code code="2" codeSysten="2, 15, §40. 1. 113883. 2,989, 2. 1. 1. 27" codeSystemVersion="1.0"
displayName="literatureReference”/>
titledJ2. 17, r</title>
{l— @88Jz. 17.r BB/ HAEOHM| #2 —>
{text mediaType="application/pdf” representation="B64">C. 4. r.2</text>
<!— C.4.r. 2! Included Documents #2 -=>
{bibliographicDesignationText>C. 4. r. I{/bibliographicPesignationText>
<I— C.4,r.1: Literature Reference(s) #2 —>
{participation typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
<representedOrganization classCode="ORG" determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
<location classCode="COUNTRY” determinerCode="INSTANCE”»
<code code="]2.15. 1" codeSystem="1,0.3166,1.2 2°/>
<l-- @eajz. 15. r £FEE 2 —>
</location>
{/asLocatedEntity>
{/represented0rganization>
</assignedEntity>
{/participation>
</document>
{/reference>
{component typeCode="COMP™>
{adverseEventAssessment classCode="INVSTG” moodCode="EVN™>
{subjectl typeCode="$B]">
{primaryRole classCode="INVSB]">



{playerl classCode="PSN” determinerCode="INSTANCE">
<name>D, 1</name>
{l== D.1: Patient (name or initials) —>
<administrativeGenderCode code="D.5" codeSystem="1.0.5218"/>
<1— D.5 Sex —> ,
<birthTime value="20090101"/>
<!—- D.2.1: Date of Birth —>
{deceasedTime value="20090101"/>
<!~ D.8.1: Date of Death -->
CasIdentifiedEntity classCode="I1DENT">
¢id extension="D.1.1.17 root="2.16.840.1.113883,3.989,2.1.3.7°/>
{I~~ D, 1.1.1: Patient Medical Record Number(s) and Source(s) of the Record Number (GP Medical
Record Number) —>
. {code code="1" codeSystem="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 4" codeSystenVersion="1. 0"
displayName="GP"/>
(/asldentifiedEntity>
<asIdentifiedEntity classCode="IDENT">
<id extension="P.1.1.2" Toot="2. 16.840.1.113883.3.989.2.1.3.8"/>
<l— D.1.1.2: Patient Medical Record Number(s) and Source(s} of the Record Number (Specialist
Record Number) ==> .
{code code="2" codeSystem="2, 16.840. 1. 113883, 3. 989. 2, 1. 1. 4" codeSystemVersion="1.0"
displayName="Specialist”™/>
{/asldentifiedEntity>
<asldentifiedEntity classCode="IDENT™>
<id extension="D.1.1.3" root="2.16.840.1,113883.3.980.2.1.3.9"/>
¢!— D.1.1.3: Patient Medical Record Number(s) and Source(s) of the Record Number (Hospital Record
Number) —>
{code code="3" codeSystem="2. 16.840. 1. 113883. 3,989, 2, 1. 1. 4”7 codeSystemVersion="1. 0"
displayName="Hospital Record”/»
¢/asldentifiedEntity>
CasIdentifiedEntity classCode="IDENT™>
{id extension="D.1.1.4" root="2.16. 840, 1. 113883, 3.989. 2. 1. 3. 10" />
¢|— D.1.1.4: Patient Medical Record Number(s) and Source{s) of the Record Number (Investigation
Number) --> '
<code code="4" codeSystem="2. 16. 840, 1. 113883, 3,989, 2. 1. 1. 4" codeSystemVersion="1.0"
displayName="Investigation”/>
{/asIdentifiedEntity>
{role classCode="PRS™>
{code code="PRN" codeSystew="2. 16. 840, 1, 113883, 5, 111°/>
{associatedPerson classCode="PSN” determinerCode="INSTANCE™>
<name>P. 10. 1{/name>
¢l-=-D.10.1: Parent Identification —>
CadministrativeGenderCode code="D.10.8" codeSystem="1. 0. 5218"/>
<|—— D.10,6: Sex of Parent —>
<birthTime value="200901017/>
¢!-- D.10.2.1: Date of Birth of Parent ——>
{/associatedPerson?
{subject0f2 typeCode="SB]">
<observation classCode="0BS” moodCode="EVN™>
{code code="3" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="age” />
<value xsi:type="PQ" value="10" unit="D, 10.2.2b"/>
¢l==-D.10.2. 2a: Age of Parent (number} ——>
<I—D.10.2.2b: Age of Parent (unit) —>
</observation>
</subject0f2>
¢subject0f2 typeCode="SB]™>
{observation ¢lassCode="0BS" moodCode="EVN">
{code code="22" codeSystem="2. 16. 840. 1. 113883. 3,989, 2, 1. 1. 19”7 codeSystemVersion="1.1
displayName="1astMenstrualPericdDate”/>
{value xsi:type="T5" value="20090101"/>
{l==D.10.3: Last Menstrual Period Date of Parent —>
/observationy
{/subject(f2>
{subjectQf2 typeCode="SB]™>
<observation classCode="0BS" moodCode="E¥N">
<code code="7" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="bodyWeight”/>
{value xsi:type="PQ" value="50" unit="kg"/>

»



<1— D.10.4: Body Weight (kg) of Parent —>
{/observation)
{/subject0f2>
<{subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN">
{code code="17" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="height”/>
{value xsi:type="PQ" value="160" unit="cm"/>
¢1— D.10.5: Height (em) of Parent —>
</observation}
{/subject0f2>
<subject0f2 typeCode="SBI™>
<organizer classCode="CATEGORY” moodCoda="EVN™>
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 20" codeSystenVersion="1.0"
displayName="relevantMedicalHistoryAndConcurrentConditions”™/>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">

<¢code code= D.10.7. I r.Ib" codeSystem= 2. Ib. 840, 1. 113883. B. 163
codeSystemVersion="D, 10. 7. L.xr. 1a"/>

<l=~D.10, 7. 1.1. 1a7 MedDRA Version for Medical Mistory #1 -->

<l— D.10.7. 1. r.1b: Medical History (disease / surgical procedure/ ete.) (MedDRA code) #1 —

{effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
¢I— B.10.7.1.1. 2¢ Start Date #1 —>
<high value="200901017/>
¢l—D.10,7.1.r.4: End Date #1 —>
{/effectiveTimed
{outboundRelationship2 typeCode="COMP">
{obsexrvation classCode="0BS" moodCode="EVN">
{codo code="10" codeSystem="2. 16. 840. 1. 113883. 3,989, 2.1, 1. 19" codeSystemVersion="1. 1"
displayName="comment” />
{value xsi:type="ED">D, 10.7. 1. r. 5¢/valued
<= D.10.7.1.r.5: Comments #1 —->
{/observation®
</outboundRelationship2>»
<inboundRelationship typeCode="REFR">
{observation classCode="0BS” mondCode="EVN">
{code code="13" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="continuing”/>
{value xsi:type="BL" value="trus”/>
<!— D.10.7.1.r.3: Continuing #1 —>
{/observation®
{/inboundRelationship>
{/observation>
</component>
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
<code code="D,10.7.1.r. Ib" codeSystem="2, 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10, 7. 1. 1. 1la"/>
<I—D.10.7.
<l— D.10.7,

1.r.la: MedDRA Version for Medical Histery #2 —>
1.r. 1b: Medical Mistory {(disease / surgical procedure/ etc.) (MedDRA code) #2 -

{effectiveTime xsi:type="IVL_TS™>
low value="20080101"/>
<!— D.10.7.1.1.2: Start Date #2 —>
¢high value="200901017/>
<!— D.10.7.1.r.4: End Date #2 -=>
{/effectiveTime>
{outboundRelationship2 typeCodes"COMP">
<observation eclassCode="0BS" moodCode="EVN">
{code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="ED">D.10.7. 1. r.5¢/value
<I— D.10.7. 1.v. 5: Comments #2 —>
{/observation>
</outboundRelationship2>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCodex="EVN™>



{code code="13" codeSystem="2. 16. 840, 1. 113883.3.989. 2. 1.1, 19" codeSystemVersion="1.1"
displayName="continuing”/>
{value xsi:type="BL" value="true™/>
<1-— B.10. 7. 1.x. 3: Continuing #2 —>
{/observation>
</inboundRelationship>
{/observation>
</component>
{compohent typeCode="COMP™>
"Cobservation classCode="0BS" moodCode="EVN">
<code code="18" codeSystem="2, 16. 840. 1. 113883. 3.989.2.1.1.19" codeSystemVerSJOn— 117
displayName="historyAndConcurrentConditionText”/>
{value xsi:type="ED">D.10. 7, 2¢/value>
¢l— D, 10.7.2: Text for Relevant Medical History and Concurrent Conditions of Parent —>
{/observation>
¢/component>
{/organizer>
{/subject0f2>
<subjectOf2 typeCode="SB]">
{organizer classCode="CATEGORY™ moodCode="EVN">
{code code="2" codeSystem="2, 16.840. 1. 113883. 3, 989, 2. 1. 1. 20" codeSystemVersion="1. 0"
displayName="drugHistory”/>
{componhent typeCode="COMP™>
<substanceAdninistration classCode="SBADM” moodCode="EVN" >
{effectiveTime xsi:type="IVL_T8">
<low value="20090101"/>
(l==D,10.8.r. 4: Start Date #1 —>
<high value="20090101"/>
¢1— D.10.8.1r.5: End Date 1 —>
{/effectiveTime>
{consumable typeCode="CSH">
¢instance0fKind classCode="INST™>
<kindOfProduct classCode="MMAT™ determinerCode="KIND™>
<code code="D. 10.8.r.2b" codeSystem="TBD-MPID” codeSystemVersion="D. 10.8.r. 2a"/>
¢l~— D.10.8.r. 2a: WPID Version Date / Number §1 —>
<l— D.10.8.r. 2b: Medicinal Product Identifier (MPID) #1 —>
<name>D. 10, 8, r, 1</name>
¢!~ D.10.8.r. 1: Name of Drug as Reported 81 —>
</kind0fProduct>
¢/instance0fKind>
{/consumable>
<outboundRelationship2 typeCode="RSON*>
<observation classCode="0BS™ moodCode="EVN">
¢code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="}.1"
displayName="indication”/>
<value xsi:type="CE"” code="D. 10.8.r.6b" codeSysten="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D, 10. 8. r.6a" />
<l— D. 10, 8.1.6a: MedDRA Version for Indication #1 -->
¢l==D.10.8.7.6b: Indication (MedDRA code) #1 ——>
{/observation>
{/outboundRelationship2>
<outboundRelationshipZ typeCode="CAUS™>
<observation classCode="0BS" moodCode="EVN™>
{code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2, 1. 1, 19" codeSystemVersion="1.1"
displayName="reaction”/>
{value xsi:type="CE” code="D. 10.8.r.7b" codeSystem="2, 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D. 10. 8. r. 7a”/>
¢l== D.10.8.1. 7a: MedDRA Version for Reaction #I —>
¢]— D, 10.8.r. 7Tb: Reactions (MedDRA code) #1 ==>
{/observation)
</outboundRelationship2>
{/substanceAdministration>
{/component>
{component typeCode="COMP™>
{substanceAdministration classCode="SBADM™ moodCode="EVN™>
<effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
<l— D, 10.8.1. 4: Stert Date H2 —>
<high value="20090101°/>



¢|— D.10,8.r.5: End Date §2 —>
</effectiveTime>
{consumable typeCode="CSM™>
<instance0OfKind classCode="INST™>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
{code code="D. 10. 8. r. 3b” codeSystem="TBD-PhPID" codeSystemVersion="D. 10.8.r.3a"/">
<l==D.10.8.r. 3a: PhPID Version Date / Number #2 ——>
<!— D.10.8.r. 3b: Pharmaceutical Product Identifier (PhPID) #2 —>
<name>D. 10. 8. r. 1{/name>
<!— D,10.8.r.1: Name of Drug as Reported #2 —>
</kind0fProduct>
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{/consumable>
{outboundRelationship2 typeCode="RSON™>
<observation classCode="0BS" moodCode="EVN">
{code code="19" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>

Cvalue xsiitype="CE™ code="D.10.8.1.6b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 10, 8. r, 62"/>
<!— D.10.8.1r.6a: MedDRA Version for Indication #2 —>
<!~ D.10.8.r.6b: Indication (MedDRA code) #2 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
{observation classCode="CBS" moodCode="EVN">
{code code="29" codeSystem="2. 16.840. 1. 113883. 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/> .
<value xsi:type="CE" code="D. 10.8B.r.7b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="D. 18, 8, x. Ta"/> :
<!— D.10.8.1. 7a: MedDRA Version for Reaction #2 —>
<l~= D.10.8.r. 7b: Reactions (MedDRA code) #2 —>
</observation>
{/outboundRelationship2>
{/substanceAdministration>
{/component>
<forganizer>
{/subject0f2>
{/role>
</playerl>
<{subject0f1 typeCode="SB]"> .
{researchStudy classCode="CLNTRL" moodCode="EVN™>
<id extension="C.5.3" root="2. 16, 840, 1. 113883. 3.989. 2. 1. 3.5"/>
{1— C.5.3: Sponsor Study Number —>
{code code="C.5.4" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 8" codeSystemVersion="1.0"/>
<!— C.5.4: Study Type Where Reaction(s} / Event(s) Were Observed —>
<titledC. 5. 2¢/titled>
{J-= C.5.2: Study Name —>
{authorization typeCode="AUTH™>
{studyRegistration classCode="ACT" moodCode="EVN™>
<id extension="C.5.1,x. 1" root="2, 16.840. 1. 113883, 3.989. 2. 1. 3.6"/>
¢!— C.5.1.r.1: Study Registration Number #1 -->
Cauthor typeCode="AUT">
{territorialAuthority classCode="TERR">
{governingPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="C.5. 1. 1.2" codeSystem="1.0. 3166, 1.2.2"/>
¢l— C.5, 1.r.2: Study Registration Country #1 -->
{/governingPlace>
{/territorialAuthority>
</author>
{/studyRegistration>
{/authorization>
{authorization typeCode="AUTH™>
{studyRegistration classCode="ACT” moodCode="EVN™>
<id extension="C.5 1.r. 1" reot="2. 16.840. 1. 113883. 3. 989. 2. 1. 3. 6"/>
¢l-- €.5. 1.r.1 Study Registration Number #2 —>
{author typeCode="AUT™>
{territorialAuthority classCode="TERR™>
<governingPlace classCode="COUNTRY" determinerCode="INSTANCE">
{code code="C.5.1,r. 2" codeSystem="1.0. 3166.1.2.2"/>



¢!— C.5.1.1.2: Study Registration Country #2 —>
{/governingPlace>
{/territorialAuthority>
</author>
{/studyRegistrationd
<¢/authorization>
{/researchStudy>
</subject0f1>
{subjectOf2 typeCode="SBJ">
<observation classCode="0BS" moodCode="EVN">
{code code="3" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="age"/>
{value xsi:type="PQ" value="10" unit="D.2.2b"/>
¢!— D.2.2a: Age at Time of Onset of Reaction / Event (number) -->
{l=- D.2.2b: Age at Time of Onset of Reaction / Event (unit) ~—>
{/observation>
{/subjectOf2>
{subjectOf2 typeCode="SB]™>
{observation classCode="CBS" moodCode="EVN">
<code code="16" codeSystem="2. 16. 840.1. 113883. 3.988. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="gestationPeriod™/>
<value xsiitype="PQ” value="10" unit="D.2. 2. 1b"/>

{1-= D.2.2. la: Gestation Period When Reaction / Event Was Observed in the Foetus {number) —>
¢!— D, 2.2.1b: Gestation Period When Reaction / Event Was Observed in the Foetus {unit} —>

{/observation
{/subject0f2>
¢subject0f2 typeCode="SBJ">
{observation classCode="0BS” moodCode="EVN™>
{code code="4" codeSystem="2. 16. 840. 1. 113883, 3,989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="ageGroup”/>
<value xsi:type="CE” code="D.2.3" codeSystem="2.16.840.1.113883.3.989.2.1.1.9”
codeSystemVersion="1.0"/>
<!— D.2,3: Patient Age Group (as per reporter) —>
</observation>
{/subjectOf2>
{subject0f2 typeCode="SB]™>
{observation classCode="0BS" moodCode="EVN")>
{code code="7" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="bodyWeight”/>
{value xsi:type="PQ" value="48.2" vnit="kg"/>
<I— D.3: Body Weight (kg) —>
{/observation>
{/sub jectOf2>
{subjectQf2 typeCode="SB]™>
<observation classCode="0B5" moodCode="EVN">
{code code="17" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="height”"/>
{value xsi:type="PQ" value="152" unit="cm"/>
<I— P.4: Height (ew) —>
{/observation>
{/subject0£2>
{subjectOf2 typeCode="SB]">
{observation classCode="0BS" moodCode="EYN">
{code code="22" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystem¥ersion="1.1"
displayName="1lastMenstrualPeriodDate”/>
Cyalue xsi:type="TS” value="200901017/>
¢l— D.6: Last Menstrual Period Date -~>
{/observation>
</subject0f2>
<subject0f2 typeCode="SBJ™>
{organizer classCode="CATEGORY" moodCode="EVN">
{code code="1” codeSystem="2. 16. 840. 1. 113883, 3, 989. 2, 1, 1. 20" codeSystemVersion="1, 0"
displayName="relevantMedicalHistoryAndConcurrentConditions”/>
{component typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>

<code code="D.7.1.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="B.7.1.r. 1a"/">

¢I==D.7.1.r.1a: MedDRA Yersion for Medical History #1 —>

<l-=D.7. 1l.r.1b: Medical History (disease / surglcal procedure / etc.) (MedDRA code) #1 —>

{effectiveTime xsi:type="IVL_TS">



<low value="20080101"/>
<|— D.7.1.1.2: Start Date #1 —>
<high value="20050101"/>
¢l== D 7.1.1. 4! End Date #1 -~>
{/effectiveTime>
{outboundRelationship2 typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
{code code="10" codeSysten="2, 16, 840. 1, 113883, 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
<value xsi:type="EB™>D.7.1.r.5¢/value>

<d— D. 7.1, 1.5 Comments #1 —>
{/observation’
</outboundRelationship2>
<outboundRelationship2 typeCode="EXPL"> =

<observation classCode="0BS" moodCode="EVN">
{code code="38" codeSystem="2.16. B40. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="familyHistory” />

{value xsi:type="BL" value="true”™/>
<!— D.7,1.r.6: Family History #1 —>
{/observation>
</outboundRelationship2>
{inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
{code code="13" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="continuing”/>
<value xsi:type="BL" value="true”/>
¢l— D.7.1.1.3: Continuing #1 —>
{/observation>
</inbaundRelationship>
</observation>
{/component>
{component typeCode="COMP">
{observation c¢lassCode="0BS” moodCode="EVN">
<code code="D.7.1.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="D.7.1.r.1la"/>
{l==D.7.1.r.la: MadDRA Version for Medical History #2 -->
<I-— D.7.1.x. 1b: Medical history (disease / surgical procedure / etc.) (MedBRA code) #2 —>
{effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
<I— D.7.1.r.2: Start Date #2 —
<high value="200901017/>
(l==D.7.1.1.4: End Date #2 -=>
{/effectiveTime>
{outboundRelationship2 typeCode="COMP™>
{aobservation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113383. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/>
¢value xsi:itype="ED">D.7.1.71.5</valued>
¢l=— 0.7 1.r.5: Comments #2 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="EXPL">
{observation classCode="0BS" moodCode="EVN">
<code code="38" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 13" codeSystemVersion="1.1"
displayName="familyHistary”/>
<value xsi:type="BL” value="true”/>
{l=—D.7.1.1r.6: Family History f2 -
{/observation>
{/outboundRelationship2>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
{code code="13" codeSystem="2, 16, 840. 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemVersicn="1.1"
displayName="continuing”/>
<value xsiitype="BL" value="true"/>
{l== D.7.1.1.3: Continuing #2 -->
</observation>
</inboundRelationship>
{/observation>
{/component>
{component typeCode="COMP™>



{observation c¢lassCode="0BS" mcodCode="EVN™>
<eode code="18" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="historyAndConcurrentConditionText”/>
{value xsi:type="ED">D. 7. 2¢</value>
<!— D.7.2: Text for Relevant Medical History and Concurrent Conditions f{not including reaction
/ event) —>
{/observation>
{/component>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN">
<code code="11" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="concomi tantTherapy”/>
<value xsi:type="BL” value="true”/>
<1— D.7.3: Concomitant Therapies —>
</observation> '
</component>
{/organizer>
</sub ject0f2>
{subject0f2 typeCode="SB]™>
<organizer classCode="CATEGORY” moodCode="EVN™>
{code code="2" codeSystem="2. 16. 840. 1, 113883. 3. 989, 2. L. 1. 20" codeSystenmVersion="1,0"
displayName="drugHistory”"/>
{component typeCode="COMP™>
¢substanceAdministration classCode="SBADM™ moodCode="EVN™>
LeffectiveTime xsi:type="IVL_TS">
{low value="20090101"/>
¢le= D, 8.r.4: Start Date #1 -
<high value="20090101"/>
¢!— D.8.r.5: End Date #1 —>
{/effectiveTime>
<consumable typeCode="CSH™>
{instance0fKind classCode="INST">
<kind0OfProduct classCode="MMAT" determinerCode="KIND">
<code code="D,8.r.2b" codeSystem="TBD-MPID" codeSystenVersion="D.8.r.2a"/>
¢1— D.8.r.2a: MPID Version Date / Number #1 —>
¢!— D.8.1.2b: Medicinal Product Identifier (MPID) #1 ——>
<name>D, 8, r, 1{/name>
¢!~ D,8.r.1: Name of Drug as Reported #1 —>
</kind0fProduct>
{/instance0fKind>
{/consumable>
<outboundRelationship2 typeCode="RSON">
<observation classCode="0BS" moodCode="EVN">
<cede code="19" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication"/>
<valte xsi:type="CE" code="D.8.r.6b" codeSystem="2. 16. 840, 1, 113883, 6. 163"
codeSystemVersion="D. 8. r.6a"/>
¢!— D.B.r. 6a: MedDRA Yersion for Indication #1 —>
!== D.8.r. 6b: Indication (MedDRA code) #1 —>
{/observation>
{/outboundRelationship2>
<outhoundRelationship? typeCode="CAUS™>
<observation classCode="0BS" moodCode="EVN™> .
<code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="reaction”/>
<value xsi:type="CE” code="D.8.r.7b" codeSystem="2. 16. 840. 1, 113883. 6. 163~
codeSystemVersion="D. B.r. Ta"/>
<l~~ D.8.r. 7a: MedDRA Version for Reaction #1 —>
{l-—— D.8.r.7b: Reaction {MedDRA code) #1 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
{/component>
{component typeCode="COMP™>
<substanceAdministration classCode="SBADM™ moodCode="EVN™>
{effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
¢!-— D.8.r.4: Start Date #2 —>
<high value="20090101%/>



¢!— D.B.r.5: End Date #2 —>
<{/effectiveTime>
<consumable typeCode="CSH">
{instanceOfKind classCode="INST"> )
<kindOfProduet classCode="MMAT™ determinerCode="XIND">
{code code="D. 8, r.3b" codeSystem="TBD-PhPID" codeSystemVersion="D.8.r.3a"/>
<!— D.8.r.3a: PhPID Version Date / Number —>
<!~ D.8.r.3b: Pharmaceutical Product Identifier (PhPID} #2 —>
<name>D. 8. r. 1{/name>
¢!— D.8.r.1: Name of Drug as Reported #2 —>
</kind0fProduct>
{/instancal0fKind>
{/consumable>
<outboundRelationship2 typeCode="RSON">
{observation classCode="0BS" moodCode="EVN™>
<code code="19" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/> '

<value xsiiype="CE" code="D. B, r.Bb” codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="D. 8. r. 62" />
<!— D.8.1.6a: MedDRA Version for Indication #2 —>
¢l-= D.8.r.6b: Indication (MedDRA code) #2 —>
{/observation>
</outboundRelationship2>
<outhoundRelationship2 typeCode="CAUS™>
{observation classCode="0BS" moodCode="EVN™>
<code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="reaction”/»
<value xsiitype="CE” code="].8.r.7b" codeSystem="2. 16. 840. 1, 113883, 6. 163"
codeSystemVersion="D. 8. r. 7a"/>
<!— D.8.r.7a: MedDRA Version for Reaction #2 -->
<!— D.8.1.7b: Reaction (MedDRA code) #2 —>
{/observation>
</outboundRelationship2>
{/substanceAdministration>
{/component>
{/organizer>
</subject0f2>
{subject0f2 typeCode="SBJ >
{observation classCode="0BS" moodCode="EVN">
{code code="32" codeSystem="2.16.840. 1. 113883. 3.989.2.1. 1. 19" codeSystemVersion="1.1"
displayName="reportedCauseQfDeath”/>
{value xsitype="CE” code="D.9.2.r.1b" codeSystem="2, 16, 840. 1. 113883. 6. 163"
codeSystemVersion="P. 8. 2.1. 1a”>
<l-=D.9.2.1. la: MedDRA Version for Reported Cause(s) of Death #1 —>
<I— D.8.2.r, 1b: Reported Cause(s) of Death (MedDRA code) #1 -->
<originalText>D. 9. 2. r. 2¢/originalText>
{I— D.9.2.r.2: Reported Cause(s) of Death (free text) #1 —>
{/value>
{/observation>
</sub ject0f2>
{subject0f2 typeCode="SB]™>
{observation classCode="0BS" moodCode="EVN™>
{code code="32" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reportedCause0fDeath”/>
<value xsi:type="CE” code="D.89.2.r.1b" codeSystem="2. 186. 840, 1, 113883. 6. 163"
codeSystemVersion="D. 9. 2. r. 1a">
<!~ D.9.2.r.1a’ MedDRA Version for Reported Cause(s) of Death #2 —>
¢!— D.9.2.r.1b: Reported Cause(s} of Death (MedDRA code) #2 —>
{originalText>D, 9, 2, r. 2{/originalText>
¢t=—D.9.2.r.2: Reported Cause(s) of Death (free text) #2 —>
{/value>
{/observation>
</subjectQf2>
{subject0f2 typeCods="SBJ">
{observation classCode="0BS" moodCode="EVN">
{code code="5" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="autopsy”/> .
{value xsi:type="BL" value="true"/>
<I— D.9.3 Was Autopsy Done? —>



<euthoundRelationship2 typeCode="DRIV">
<observation classCode="0BS" moodCode="EVN™>
{code code="8" codeSystem="2.16.840. 1. 113883, 3,989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="cause0fDeath”™/>
<value xsi:type="CE" code="D.9. 4.r.1b" codeSystem="2. 16.840. 1. 113883, 6. 163"
codeSystenVersion="D. 9. 4.1. 1la">
: ¢l-— B.9.4.r.1a: MedDRA Version for Autopsy-determined Cause(s) of Death #1 —>
<!-- D.9.4.r.1b Autopsy-determined Cause(s) of Death (MedDRA code) H#1 —>
{originalText>D. 9. 4. r. 2¢/original Text>
<!— D,9.4,r.2: Antopsy-determined Cause(s) of Death {free text) #1 —>
{/value>
¢/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="DRIV™>
<observation classCode="0BS” moodCode="EVN™>
Ceode code="8" codeSystem="2, 16.840. I. 113883. 3.989. 2. 1. 1. 197 codeSystemVersion="1, 17
displayName="cause0fDeath”/>
{value xsi:type=*CE" code="D.9.4.r.1b" codeSystem="2. 16, 840, 1. 113883, 6, 163~
codeSystemVersion="D. 9. 4.r. la™>
¢l=-D.9.4.r. 1a: MedDRA Version for Autopsy-determined Cause(s) of Death #2 —>
<|-- D.9.4.r. 1b Autopsy-determined Cause(s) of Death (MedDRA code) #2 —>
<originalText>D. 9. 4. r. 2{/original Text>
<l-~D.9.4.r. 2: Autopsy-determined Cause(s) of Death (free text) #2 —>
{/value>
{/observationd
{/outboundRelationship2>
<{/observation>
{/subject0f2>
{subject0f2 typeCode="SBI">
{cbservation classCode="0BS” moodCaode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6£4657L" />
{code code="29" codeSystew="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS"™>
(low value="20090101/>
¢|-= E.i.4: Date of Start of Reaction / Event £1 -->
<high value="200900102"/>
<}— E.i.5: Date of End of Reaction / Event #1 —>
</effectiveTime>
<{value xsiitype="CE” code="E.i.2 1b” codeSysten="2, 16. 840, 1, 113883, 6. 163"
codeSystemVersion="E. i.2, 1a™>
¢l— E.i.2.1a: MedDRA Version for Reaction / Event #1 -=>
¢1— E.i.2.1b: Reaction / Event (MedDRA code) #1 -->
<originalText language="E.i. 1. 1b"JE.i. 1. la{/originalText>
¢!~ E.i.1. la: Reaction / Event as Reported by the Primary Source in Native Language #1 —>
¢}— £.i.1.1b: Reaction / Event as Reported by the Primary Source Language #1 —>
{/valued
{location typeCode="LOC">
{locatedEntity classCode="LOCE™>
¢locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
<code code="E.i. 9" codeSystem="1.0. 3166.1.2.27/>
¢1— E.i.9: Identification of the Country Where the Reaction / Event Occurred #1 —>
{/locatedPlace> '
<{/locatedEntity>
</location>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moadCode="EVN™>
<code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
Cvalue xsi:type="ED">E.i. 1. 2¢/value>
¢l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #1 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="37" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter™/>
{value xsi:type="CE” code="E.i.3.1" codeSystem="2, 16, 840, 1. 113883, 3,989, 2. 1. 1. 107
codeSystemVersion="1. 0" />



<!—— E.1i.3.1: Tern Highlighted by the Reporter #1 —>
{/observation>
</outboundRelationship2>
{outboundRelationshipZ typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">

{code code="34" codeSystem=”2.16.840.1.113883.3.989.2.1.1.i9” codeSystemVersion="1.

displayName="resultsInDeath”/>
<value xsi:type="BL” value="true”/>
{l~- E.i.3.2a: Results in Death #1 —>
</observation>
{/outhoundRelationship2>
{cutboundRelationship? typeCode="TORT™

<observation c¢lassCode="0BS" moodCode="EVN">

{code code="21" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1, 19" codeSystemVersion="1

displayName="isLifeThreatening”/>
<value xsiitype="BL" nullFlavor="NI"/>
{l~~ E.i.3.2b: Life Threatening #1 —>

{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">

<code code="33" codeSystem="2. 16. 840. 1. 113883, 3, 089. 2. 1. 1. 19" codeSystemVersion="1.

displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" value="true”/>
<l-= E.i.3.2¢: Caused / Prolonged Hospitalisation #1 —>
</vbservation>
{/outbeundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>

{code code="35" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1,

displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI"/>
<!— E.i.3.2d: Disabling / Incapacitating #1—>
</cbservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EVN">

<code code="12" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 19" codeSystemVersion="1

displayName="cangeni talAnomalyBirthDefect”/>
{value xsi:type="BL” nullFlavor="NI"/>
{l-- E.i.3, 2e: Congenital Anomaly / Birth Defect #] —>
<(/observation) ’
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">

{code code="26" codeSystem="2, 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.

displayName="otherMedicallyImportantCondition™/>
<value xsi:type="BL" value="true”/>
¢!— E.i.8.2f: Other Medically Important Condition #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">

{code code="27" codeSystem="2. 16. 840, 1. 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1

displayName="outcome”/>
<value xsi:type="CE” code="E.i.7" codeSystem="2, 16,840, 1. 113883.3.989.2.1,1. 11"
codeSystemVersion="1.0"/>
{l== E.i.7: Outcome of Reaction / Event at the Time of Last Observation #l —)
</observationy
{/outhoundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>

{code code="24" codeSystem="2, 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystenVersion="1.

displayName="medicalConfirmationByHeal thProfessional”/>
{value xsi:type="BL" value="true”/>
¢}== E.i.8: Medical Confirmation by Healthcare Professional #1 —>
</observation?
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">



{observation classCode="085" moodCode="EYN™>
{code code="11" codeSystem="2. 16. 840. 1. 113883, 3. 989, 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="3#0 - BE%0"/>
{value xsi:type="CE" code="J2.14.i" codeSystem="2, 16, 840, 1. 113883. 3.989.5.1. 3. 2.1, 87
codeSystemVersion="1.07/>
<l— @seye, 14,1 &4 - L& #1 -
{/observaticn>
{/outboundRelationship2>
{/observation}
<{/subject0f2>
<{subject0f2 typeCode="SB]™>
{chservation classCode="0BS” moodCode="EVN">
<id root="2baa28d6~cHe8-4e6c-23e8-5b860b3142207 />
{code code="29" codeSystem="2. 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="reaction”/>
CeffectiveTime xsi:type="IVL_TS™>
¢low value="200901017/>
¢}~~ E.i.4: Date of Start of Reaction / Event #2 -->
<width value="24" unit="E. i.6b"/>
¢!-- E i.6a: Duration of Reaction / Event {number) #2 —>
¢!=- E.i.6b: Duration of Reaction / Event (unit) #2 -->
<{/effectiveTime>
<value xsiitype="CE" code="E.i.Z2.1b" codeSystem="2. 16, 840. 1. 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a™>
¢l— E.i.2. la: MedDRA Version for Reaction / Event #2 —>
<l-- E. 1.2 1b: Reaction / Event (MedDRA code) #2 —->
{originalText language="E.1i.1.1b">E.1i. 1. la{/originalText> :
¢l— E.i.1. la: Reaction / Event as Reported by the Primary Source in Native Language #2 —>
<l—- E.i.1.1b: Reaction / Event as Reported by the Primary Source Language ¥2 —>
</value>
<location typeCode="1.0C">
<locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>"
{code code="E. i.9" codeSystem="1.0.3166.1.2.2"/>
<l-— E.i.9: Identificatien of the Country Where the Reaction / Event Occurred #2 ——>
</locatedPlace>
<{/locatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS™ moodCode="EVN">
¢code code="30" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
Cvalue xsi:type="ED™E. 1. l.2¢/value>
¢l—= E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #2 —>
¢/observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
<observation ¢lassCode="0BS™ moodCode="EYN">
¢code code="37" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="termHighlightedByReporter™/>
_ <value xsi:type="CE~ code="E.1i.3.1" codeSystem="2.16.840. 1. 113883. 3.989.2.}. 1. 107
codeSystemVersion="1,07/>
{!— E.i.3.1:Term Highlighted by the Reporter #2 -->
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS" moodCode="EVN">
3 Ccode code="34" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="resultsInDeath”/>
<value xsi:type="BL" value="true”/>
¢l— E.i.3.2a: Results in Death #2 -->
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
<valtue xsi:type="BL" nullFlaver="NI"/>
<}— E.i.3.2b: Life Threatening #2 ——>



{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="33" codeSystem="2. 16. 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization™/>
{value xsi:type="BL" value="true"/>
¢l== E.i.3.2c: Caused / Prolonged Hospitalisation #2 —>
{/observation>
<foutboundRelationship2>
{outboundRelationshipZ typeCode="PERT™>
{cbservation classCode="0BS" moodCode="EVN™>
{eode code="35" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi!type="BL” nullFlavor="NI"/>
¢{!— E.i.3.2d: Disabling / Incapacitating #2 —>
{/observation>

{/outboundRelationshipZ>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="12" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL" nullFlavor="NI"/>
¢l— E.i.3.2e: Congenital Anomaly / Birth Defect #2 ==
{/observationd
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="26" codeSystem="2. 16.840. 1, 113883, 3, 989, 2. 1. 1. 18" codeSysteaVersion="1.1"
displayName="otherMedicallyImportantCondition™/> .
<value xsi:type="BL" value="true”/>
¢l— E.i.3.2f: Other Medically Important Condition #2 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2? typeCode="PERT">
{cbservation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersian="1, 17
displayName="outcome™/>
{value xsi:type="CE" code="E.i.7” codeSystem="2. 16, 840, 1. 113883. 3.989. 2. 1. 1. 11"
codeSystemVersion="1. 0" />
¢!— E.i.7: OQutcome of Reaction / Event at the Time of Last Ohservation #2 —)
{/ebservation’
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
{code code="24" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true“/>
¢!-- E.i.8: Medical Confirmation by Healtheare Professional #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{ohservation classCode="0BS” moodCode="EVN">
{code code="11" codeSystem="2. 16. B40. 1, 113883, 3,989, 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="z%0 - BES"/>
’ {value xsi:type="CE" code="]J2.14.1" codeSystem="2, 16,840, 1. 113883.3.989.5.1.3.2. 1.8"
codeSystemVersion="1,07/>
<I-—- @@eJ2. 14.1 Kin - BRdn #2 — .
</observation>
{/outboundRelationship2>
</observation>
</sub ject0f2>
{subject0f2 typeCode="SB]">
<observation classCode="0BS” moodCode="EVN">
{id root="3a8626cb-9f1b-4eaB-8a0f-e0ff34430adf"/>
{code code="29" codeSystem="2, 16. 840. 1. 113883, 3. 989. 2. 1, 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS™
<width value="24" unit="E. i.6b"/>



<l-~ E.i.6a: Duratiocn of Reaction / Event (number} #3 —>
<l-- E.i.6b: Duration of Reaction / Event (unit) #3 —>
<high value="20101201"/>
¢l— E.i.5: Date of End of Reaction / Event #3 —>
{feffoctiveTime>
<value xsi:type="CE” code="E.i. 2. 1b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVersion="E. i{. 2. 1a™>
¢l-- E.i.2. 1a: MedDRA Version for Reaction / Event #3 —>
{!=- E.i.2 1b: Reaction / Event (MedDRA code) #3 —>
CoriginalText language="E.i. 1. 1b™>E.{i. 1. 1a¢/originalText>
¢]-— E.i.1. la! Reaction / Event as Reported by the Primary Source in Native Language #3 -->
¢!=~ E.i.1, 1b: Reaction / Event as Reported by the Primary Source Language H#3 —>
<fvalued
<location typeCode="LOC™>
¢locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
<code code="E. i.9" codeSystem="1,0, 3166.1,2.27/>
¢l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #2 —>
{/locatedPlace> :
{/locatedEntity>
{/location>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN™>
<code code="30" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1, 19" codeSystemVersion="}. 17
displayName="reactionForTranslation™/>
{value xsi:type="ED">E. i, 1. 2<{/value>
¢l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #3 -—>
<{/observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="EYN">
{code code="37" codeSystem="2. 16. 840. 1, 113883. 3, 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="termHighlightedByReporter™/>
¢value xsi:type="CE” code="E.1i.3.1" codeSystem="2. 16.840. 1. 113883. 3.989.2. 1. 1. 107
codeSystemVersion="1, 0"/>
¢!— E.1i.3.1:Term Highlighted by the Reporter #3 —>
{/observation?
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="34" codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
¢value xsi:type="BL” value="true”/>
¢l-- E.i.3.2a: Results in Death #3 —>
{/observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
<value xsi:type="BL" nullFlavor="NI"/>
¢l— E.i.3.2b: Life Threatening #3 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
<observation classCode="0BS” maodCode="EVN">
{code code="33" codeSystem="2.16. 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization™/>
{value xsi:type="BL" value="true”/>
¢l— E.i.3.2¢c: Caused / Prolonged Hospitalisation #3 —>
{/observation>
* {/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
<code code="35" codeSystem="2. I6. 840. 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”™/>
Cvalue xsi:type="BL” nullFlavor="NI"/>
{!-— E.i.3.2d: Disabling / Incapacitating #3 —>
{/observation>



</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0B5" moodCade="EVN">
{cade code="12" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2, 1. 1. 19” codeSystemVersion="1.1"
displayName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL” nullFlavor="NI"/>
¢!-- E.i.3.2¢: Congenital Anomaly / Birth Defect #3 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT>
{observation classCode="0BS" moodCode="EVN™>
{code code="25" codeSystem="2. 16, 840. 1. 113
displayName="otherMedicallyInportantCondition”/>
<value xsi:type="BL" value="true”/>
¢|— E.i.3.2f: Other Medically Important Condition #3 —>
{/cbservation>
{/outboundRelationship2>

-

8B83.3.989.2. 1. 1, 19”7 codeSystemVersion="1,1"

-

<outhoundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EYN™>
{code code="27" codeSystem="2. 16. 540. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="outcome” />
{value xsi:type="CE" code="E.i.7" codeSystem="2.16.840.1.113883.3.989.2.1.1.117
codeSystemVersion="1. 0"/>
<!— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —>
/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<vbservation classCode="0BS” moodCode="EVN">
{code code="24" codeSystem="2, 16, 840, 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/y
<value xsi:type="BL" value="true”/>
¢l-- E.1.8: Medical Confirmation by Healthcare Professional #3 —>
{/chservation>
{/outboundRelationship2> ]
{outboundRelationship2 typeCode="PERT*>
<observation classCode="0BS" moodCode="EVN™>
Ccode code="11" codeSystem="2. 16. 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="#z40 « BE£01"/>
{value xsi:type="CE" code="J2.14.i" codeSysterm="2. 15.840. 1. 113883.3.989.5.1.3.2. 1. 8"
codeSystemVersion="1.0"/>
<l-- @@8J2. 14. 1 5 - FE& #3 —>
{/ohservation>
{/outboundRelationship2>
{/observation>
</subject0f2>
{subject0f2 typeCode="SB]">
<observation classCode="0BS" moodCode="EVN">
<id root="2¢99840f-08b4-499c-B0ff-dd8415F4f3a5"/>
{code code="28" codeSysten="2. 16. 840. 1. 113883, 3.989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="IVL_TS™>
{low value="20090101"/>
¢!== E.i.4: Date of Start of Reaction / Bvent #4 —>
<high value="201012017/>
¢!-- E.i.5: Date of End of Reaction / Event #4 —
</comp>
{comp xsi:type="IVL_TS” operator="A">
{width value="24" unit="E.i.6b"/>
¢l=~ E.i.6a: Duration of Reaction / Event (number) #4 —>
¢!-- E.i.6b: Duration of Reaction / Event (unit) #4 —>
{/comp> :
{/effectiveTime>
{value xsi:type="CE" code="E.i.2.1b" codeSystem="2, 16. 840, 1. 113883. 6. 163"
codeSystemVersion="E. i.2.1a">
<|-- E.i.2.1a: MedDRA Version for Reaction / Event #4 —>
<!— E.i.2.1b: Reaction / Event (MedDRA code} #4 —>
<originalText language="E.1i.1.1b"™>E.i. 1. 1a{/originalText>
<|— E.i.l. la’ Reaction / Event as Reported by the Primary Source in Native Language #4 —=>



¢!— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language f#4 -->
{/value>
{location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY" determinerCode="INSTANCE">
{code code="E.i.9” codeSystem="1.0.3166.1.2.2"/>

¢l-= E,i.9: Identification of the Country Where the Reaction / Event Occurred 4 —>

{/lecatedPlace>
{/locatedEntity>
</location>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">

<code code="30" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 197 codeSystemVersion="1, 1"

displayName="reactionForTranslation”/>
{value xsi:type="ED"DE.i. 1. 2<{/value>

{l-— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #4 —>

{/observation>
{/outboundRelationship2>
¢outboundRelationship2 typeCode="PERT">
{observation classCode="0BS~ moodCode="EVYN">

¢code code="37" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="termHighlightedByReporter”/>
<value xsi:type="CE" code="E.1i.3.1" codeSystem="2.16.840. 1. 113883.3.989.2.1. 1. 1¢"

codeSystemVersion="1. 07 /> ‘
¢!— E.i.3.1:Term Highlighted by the Reporter #4 —>
</observation>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="PERT*>
{cbservation classCode="08S" moodCode="EVN™>

{code code="34" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemYersion="1.1"

displayName="resultsInDeath”/>
¢value xsi:type="BL" value="true”/>
¢l— E.i.3.2a: Results in Death #4 —>
{/observation>
{/outhboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
<code code="21" codeSystem="2.16.840.1.113883.3,.989.2.1.1.19
displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
¢I— E.i.3.2b: Life Threatening {4 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">

»

{code code="33" codeSystem="2. 16,840, 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1. 1

displayName="requiresInpatientHospitalization®/>
¢value xsi:type="BL" value="true”/>
<|— E.i.3.2¢: Caused / Prolonged Hospitalisation #4 —>
¢/observation?
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">

codeSystemVersion="1. 1

-

-

{code code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1.1"

displayName="resultsInPersistentOrSignificantDisability™/>
{value xsi:type="BL” nullFlavor="NI"/>
¢!— E.i.3.2d: Disabling / Incapacitating #4 ——>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN™>

{code code="12" codeSystem="2. 16. 840, 1, 113883. 3. 989.2. 1. 1. 19" codeSystemVersion="1.1"7

displayName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL" nullFlavor="NI"/>
¢l—- E.i.3.2e: Congenital Anomaly / Birth Defect #4 —>
</observation> .
{/outboundRelationship2>
{outboundRelationship2 typeCede="PERT">
{observation classCode="0BS”~ moodCode="EVN™>



{code code="26" codeSystem="2. 16. 840, 1, 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyImportantCandition™/>
{value xsi'type="BL" value="true”/>
<I— E.i.3.2f: Other Medically Important Condition #4 —>
{/cbservation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT"™>
{observation classCode="0BS” moodCode="EVN">
{code code="27" codeSystem="2, 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="outcome”/>
{value xsi:type="CE" code="E.i.7” codeSystem="2. 16.840, 1. 113883.3.989.2.1. 1. 11"
codeBSystenYersion="1. 3/
<1~ E.1i.7: Outcome of Reaction / Event at the Time of Last Observation #4 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2? typeCode="PERT">
<observation classCode="0BS" moodCode="EYN">

{code code="24" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true"/>
<!— E.i.8: Medical Confirmation by Healthcare Professional #4 —)
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
{code cade="11" codeSysten="2. 16. 840. 1. 113883, 3,989, 5. 1. 3. 2. 1. 10" codeSystenVersion="1, ¢
displayName="3%40 - BE50°/>
<value xsi:type="CE” code="J2. 14.i" codeSystem="2, 16.840. 1. 113883.3.989,.5.1,3.2. 1. 8"
codeSystemVersion="1. 0"/>
<l-- @eeJ2. 14.1 A0« Boan #4 —>
{/observation?
</outboundRelationship2>
{/observation>
{/subject0f2>
{subjectOf2 typeCode="SBJ">
{ocbservation classCode="0BS" moodCode="EVN™>
<id root="1071064c-cf10-4a3b-83c1-34f9ddbTeabd” />
<code code="29" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction”/> ' ’
<effectiveTime xsi:type="IVL_TS">
<low value="20090101"/>
<l— E.i.4: Pate of Start of Reaction / Event #5 —>
{/effectiveTime>
<value xsi:type="CE” code="E.1i.2. 1b" codeSystem="2. 18, 840. 1. 113883. 6. 163~
codeSystemVersion="E, i. 2, 1a™>
<{!-- E.i.2.1a: MedDRA Version for Reaction / Event #5 —->
¢!~ E.i.2.1b: Reaction / Event (MedDRA code) #5 —>
<originalText language="E.i.l.1b">E.{i. . la¢/originalText>
¢!— E.i.1 la: Reaction / Event as Reported by the Primary Source in Native Language #5 —
<} E.i.1. 1b: Reaction / Event as Reported by the Primary Source Language #5 —>
</value?
{location typeCode="LOC™>
<locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E.1i,9" codeSystem="1.0, 3166.1.2.2"/>
{!-— E.i.9: Identification of the Country Where the Reaction / Event Occurred #5 -->
{/locatedPlace>
<{/locatedEntity>
{/location>
{outboundRelationship2 typeCode="PERT™>
{ocbservation classCode="0B5" moodCode="EVN">
{code code="30" codeSystem="2. 16, 840, 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
<value xsiitype="ED™>E. i.1.2¢/valued
<{!— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation 45 ~->
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">



¢code code="37" codeSysten="2. 16, 840. 1. 113883, 3, 988. 2. 1. 1, 19" codeSystemYersion="1.

displayName="termHighlightedByReporter”/>
<value xsi:type="CE” code="E.1i.3. 1" codeSystem="2. 16.840. 1. 113883. 3.982. 2.1, 1. 107
codeSystemYersion="1.07/>
{1== E.i.3.1:Term Highlighted by the Reporter #5 —>
</observation® ‘
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="34" codeSystem="2. 16. 840, 1, 113883, 3.989.2.1. 1. 19
displayName="resultsInDeath™/>
<value xsi:type="BL" value="true*/>
¢]-- E.i.3.2a: Results in Death #5 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="085" moodCede="EVN">
{code code="21" codeSysten="2. 16.840.1.113883.3.989.2.1,1.19
displayName="isLifeThreatening”/>
<value xsi:type="BL™ nullFlavor="NI"/>
¢1— E.i.3.2b: Life Threatening 5 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT">
<observation classCode="0BS”™ moodCode="EVN">

»

-

<code code="33" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19”7 codeSystemVersion="1.

displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" value="true"/>
¢!— E.i.3.2¢c: Caused / Prolonged Hospitalisation #5 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>

{code code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.

displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI"/>
¢l-— E.i.3.2d: Disabling / Incapacitating #6 —>
{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EYN">

<code code="12" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19”7 codeSystemVersion="1

displayName="congenitalAnomalyBirthDefect”™/>
{value xsi:type="BL" nullFlavor="NI"/>
¢l-— E.i.3.2e: Congenital Anomaly / Birth Defect #5 —>
</observation> .
</outhoundRelationship2>
CoutboundRelationship? typeCode="PERT™>
{observation classCode="0BS™ moodCode="EVN">

{code code="26" codeSystem="2. 16. 840. 1, 113883, 3. 989. 2. 1. 1. 19”7 codeSystemVersion="1.

displayName="otherMedicallyImportantCondition™/>
{value xsi:type="BL" value="true”/>
¢l— E.i.3.2f: Other Medically Important Condition #5 —>
</observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<chservation classCode="0BS" moodCode="EVN™>

<code code="27" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.

displayName="outcome”/>
<value xsi:type="CE" code="E.i.7" codeSystem="2. 16.840.1.113883.3.989.2.1. 1. 117
codeSystemVersion="1. 0% />
¢!— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #5 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">

<code code="24" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.

displayName="medicalConfirmationByHealthFrofessional™/>
<value xsi:type="BL" value="true”/>

codeSystemVersion="1.

codeSystemVersion="1.

—
L]



¢l-- E.1i.8: Medical Confirmation by Healthcare Professional #5 —»
{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">

{code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"

displayName="3k%1 « [L50"/>

{value xsi:type="CE” code="]J2. 14, i" codeSystem="2. 16, 840.1,113883,3.989.5.1.3.2.1.8"

codeSystemVersion="1. 0"/
<l— 88072.14.1 F& - B0 845 —>
{/observation>
<{/outboundielaiionshipZ>
{/observation>
¢/subject0f2>
<subject0f2 typeCode="SB]™>
{observation classCode="0BS" moodCode="EVN">
{id root="1f927283-10b6-4334-9d43-e9256405h18L" />

{code code="28" codeSystem="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS™>
<high value="20090101"/>
¢I— E.i.4: Date of Start of Reaction / Event #6 —>
{feffectiveTime}
<value xsi:type="CE" code="E.i.Z2. 1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="E. i, 2, 1a">
¢!-— E.i.2. la: MedDRA Version for Reaction / Event #6 —>
¢l== E.i.2.1b: Reaction / Event (MedDRA code) #6 ——
<originalText language="E.i.1.1b">E.i. 1. 1a¢/originalText>

¢!— E.i. 1. 1a: Reaction / Event as Reported by the Primary Source in Native Language #6 ——>

<l=~ E.i.1 1b: Reaction / Event as Reported by the Primary Source Language #6 —>
</value>
{location typeCode="LOC™>
{locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E.i.9" codeSystem="1.0.3166.1. 2. 2"/>

¢I— E.i.9: Identification of the Country Where the Reaction / Event Occurred #6 —->

</locatedPlace>
</locatedEntity>
</location>
{cutboundRelationship? typeCode="PBRT™>
{observation classCode="0BS" moodCode="EWN">

{code code="30" codeSystem="2.16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="reactionForTranslation”/>
<value xsi:type="ED")E.i.1.2¢/value>

{!-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation H6 —)

¢/observation’ .
«&/outboundRelationship2>
<outboundRelationship? typeCode="PERT">

{cbservation classCode="0BS” moodCode="EVN">

{code code="37" codeSystem="2. 16.840. 1. 113883. 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="termHighlightedByReporter”/>
{value xsiitype="CE” code="E.i,3.1" codeSystem="2. 16. 840, 1. 113883.3.989.2. 1. 1. 10"
codeSystemVersion="1.0"/>
¢{!-— E.i.3.1:Term Highlighted by the Reporter #6 —>
{/ocbservation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0B5" meodCode="EVN™>

{code code="34" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="resultsInDeath”/>
<value xsi:type="BL" value="irue"/>
¢l—— E.i.3.2a: Results in Death #6 -=>
</observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">

<code code="21" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"

displayName="isLifeThreatening™/>
{value xsi:type="BL" nullFlavor="NI"/>



¢|=—— E i.3.2b: Life Threatening #6 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
{code code="33" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1
displayName="requiresInpatientHospitalization”/>
{value xsi:type="BL" value="true”/>
{1=-- E.i.3.2¢c: Caused / Prolenged Hospitalisation #6 —>
{/observation>
{/outboundRelationship2> -
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
{code code="35" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1
displayName="resultsInPersistentOrSignificantDisability”/>
¢value xsi:type="BL" nullFlavor="NI"/>
¢l—— E.i.3.2d: Disabling / Incapacitating #6 -=>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code cade="12" codeSystem="2. 16. 840, 1. 113883, 3.980.2.1.1. 19
displayName="congenitalAnomalyBirthDefect”/>
<value xsi:type="BL” nullFlavor="NI1"/>
{!-- E.i.3.2e: Congenital Anomaly / Birth Defect #6 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
{code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1
displayName="otherMedicallyImportantCondition™/>
{value xsi:type="BL" valus="true”/>
¢|-- E.i.3.2f: Other Medically Important Condition #6 —>
{/observationd
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="27" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1, 1. 19" codeSystemVersion="1.1"

-

”

» ”

codeSystemVersion="1.1

displayName="outcome™/>
¢value xsi:type="CE" code="E. 1.7 codeSystem="2. 16. 840. 1. 113883.3.989.2.1. 1.11"
codeSystenVersion="1.0"/>
{}— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #6 —>
{/observationd ’
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™
{code code="24" codeSystem="2. 16. 840, 1. 113883. 3.988. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL” value="true”/>
{l-- E. i.8: Medical Confirmation by Healthcare Professional #6 —->
</observation> .
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
Cobservation c¢lassCode="0BS” moodCode="EVN*>
<code code="11" codeSystem="2. 16. 840. 1. 113883. 3. 089, 5. 1.3. 2. 1. 10" codeSystem¥ersion="1.0"
displayName="3<#0 - BExn"/>
<value xsi:type="CE”~ code="J2.14.1i" codeSystem="2. 16.840. 1. 113883. 3. 989.5.1.3. 2. 1. 87
codeSystenVersion="1, 0"/>
l-- @@aJ2. 14. i FFn - BERn 6 —>
{/observation>
{/outboundRelationship2>
{/observatian>
{/subject0f2>
{subjectOf2 typeCode="SBI">
<observation classCode="0BS" moodCede="EVN">
<id root="e0342960-38be—423f-b6bb-celdbc279dBe” />
{code code="23" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 18" codeSystenVersion="1.1"
displayName="reaction”/>
(effectiveTime xsi:types"IVL_TS™>



¢width value="24" unit="L.1i.6b"/>
{!~— E.i.Ba: Duration of Reaction / Event {number) #7 —>
¢!—— E.i.6b: Duration of Reaction / Event {unit) #7 —>
{/effectiveTime>
{value xsi:type="CE" code="E.i.2.1b" codeSystem="2. 16. 840, 1. 1138B3. 6. 163"
codeSystemVersion="E. i. 2. 1a™>
{l— E.i.2.1a: MedDRA Version for Reaction / Event #7 —>
<!~ E.i.2 1b: Reaction / Event (MedDRA code) #7 ——>
{originalText language="E. i. 1. 1b"JE.i.I. la{/originalText>
<i-- E.i.1.1a! Reaction / Event as Reported by the Primary Source in Native Language #7 —>
¢l== E,i.1.1b: Reaction / Event as Reported by the Primary Source Language #7 —>
Fvaluey
<locaticn typeCode="LOC™>
{locatedEntity classCode="LOCE">
<locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E. i.%" codeSystem="1.0.3166, 1.2.2"/>

~¢1— E.i.9: Identification of the Country Where the Reaction / Event Qécurred HT —->
{/locatedPlace> .
{/locatedEntity>
</location>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="30" codeSystem="2. 16, B40. 1. 113883, 3. 989. 2. 1. 1, 19" codeSystemVersion="1.1"
displayName="reactionForTranslation”/>
{value xsi:type="ED™E.i. 1. 2¢{/value>
"¢l— E.i.1.2: Reaction / Bvent as Reported by the Primary Source for Translation #7 --»
{/observation>
{/outboundRelatiocnship2>
{outboundRelationshipZ typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="37" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="teraHighlightedByReporter”/>
{value xsi:type="CE” code="E.i,3.1" codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1.1. 10"
codeSystemVersion="1. 0"/>
{l— E.i.3.1:Term Highlighted by the Reporter #7 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™>
{code code="34" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/>
<{value xsiitype="BL" value="true”/>
{I— E.i.3.2a: Results in Death #7 —>
</observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN">
{code code="21" codeSystem="2. 16.840. 1. 113883. 3, 989, 2. 1, 1. 19" codeSystemVersion="1. 1"
displayName="isLifeThreatening™/>
{value xsi:type="BL" nullFlavor="NI"/>
<!-- E.1.3.2b: Life Threatening #7 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN")>
{code code="33" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 19" ‘codeSystemVersion="1.1"
displayName="requiresInpatientHospitalization”/>
<value xsi:type="BL" value="true"/>
{l== E.i.3.2c: Caused / Prolonged Hospitalisation #7 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation c¢lassCode="0BS” moodCode="EVN">
{code code="35" codeSystem="2. 16. 840. 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInPersistentOrSignificantDisability”/> .
<value xsi:type="BL" nullFlaver="NI"/>
¢!-—- E.i.3.2d: Disabling / Incapacitating #7 —>
<{/observation>
{/outboundRelationship2>



<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="12" codeSystem="2.16. 840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1
displayName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL” nullFlavor="NI"/>
<}-— E.i.3.2e: Congenital Anomaly / Birth Defect #7 —=>
</observation}
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN"> ‘ .
{code code="26" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1,1"
displayName="atherMedicallyImportantCondition”/>
<value xsi:type="BL" value="true”/>
¢l== E.i.3.2f: Other Medically Important Condition #7 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT*>
{observation classCode="0BS" moodCode="EVN™>
{code code="27" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

L3

displayName="outcome”/>
{value xsi:type="CE™ code="E.i.7" codeSystem="2, 16,840, 1, 113883.3.989.2.1.1. 117
codeSystemVersion="1.0"/> .
¢{!— E.i.7: OQutcome of Reaction / Event at the Time of Last Observation #7 -->
{/observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
<code code="24" codeSystem="2. 16. 840. I. 113883, 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
{value xsi:type="BL" value="true"/> '
¢l=- E.i.8: Medical Confirmation by Healthcare Professicnal #7 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS™ moodCode="EVN™>
{code code="11" codeSysten="2. 16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="340 - BE&1"/> .
<value xsi:type="CE” code="J2.14.i" codeSystem="2. 16.840.1, 113883.3.989.5.1.3.2.1.8"
codeSystemVersion="1.0"/>
i-- @28)2. 14.i k40 - PR §7
{/observationd
{/outboundRelationship2>
{/observation>
{/subject0f2>
<subject0f2 typeCode="SBJ">
<observation classCode="0BS" moodCode="EVN™>
<id root="albbe092-8070~426d-af(4-6863263443e07/>
<code code="29" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="reaction™/> .
CeffectiveTime xsi:type="SXPR_TS">
<comp xsi:type="IVL_TS™>
{low value="20090101"/>
¢!-— E.i,4: DPate of Start of Reaction / Event #8 —>
{width value="24" unit="E.1i.6b"/>
{!— E.i.6a: Duration of Reaction / Event (number) H8 -->
¢!— E.i.6b: Duration of Reaction / Event (unit) #8 —>
{/comp>
Scomp xsi:type="IVL_TS” operator="A">
<high value="20101201"/>
<}— E.i.5: Date of End of Reaction / Event #8 —>
</comp>
{feffectiveTime>
{value xsi:type="CE" code="E, i.2.1b" codeSystem="2. 16.840, 1. 113883, 6, 163"
codeSystemVersion="E. i. 2.1a™>
¢f-- E.i.2.1a: MedDRA Version for Reaction / Event H8 —>
¢l== E.i.2.1b: Reaction / Event (MedDRA code) #8 -—>
<originalText language="E.i.1.1b">E. 1. 1.1a{/originalText>
¢l-=- E.i. 1. la: Reaction / Event as Reported by the Primary Source in Native Language #8 —>
¢{l-— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #8 ~->



{/value>
{location typeCode="LOC™>
{locatedEntity classCode="LOCE">
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE™>
{code code="E.1.9" codeSysten="1,0.3166.1.2.2"/>
<l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #8 —>
{/locatedPlace>
{/locatedEntity>
</location>
<outboundRelationship? typeCode="PERT">
{observation ¢lassCode="0BS" moodCode="EVN"> -
{code code="30" codeSystem="%. i6, 840, L. 103853, 3. 989, Z. i. L. 19" codeSystemVersion="1.1"

displayName="reactionForTranslation”™/>

<value xsi:type="ED"E.i. 1. 2</value>
<l-- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #8 -
{/observation>
{/outboundRelationship2>

{outhoundRelationship2 typeCode="PERT*> _
{observation classCode="0BS" moodCode="EVN™>
<code code="37" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="termHighlightedByReporter”/>

¢value xsi:type="CE” code="E.1i.3.1" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.10"

codeSystemVersion="1, 0"/

{l-- E.i.3.1:Term Highlighted by the Reporter #8 -->
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="34" queSystem='2.16.840.1.113883.3.989.2.1.1.19' codeSystemVersion="1.17

displayName="resultsInDeath”/>

<value xsi:type="BL” value="true”/>
¢l— E.i.3.%a: Results in Death 8 —>
{/observation> '
{/outboundRelationship2>
<outboundRelationship? typeCode="PERT™>
<obsexvation classCode="0BS" moodCode="EVN">
{code code="21" codeSystem="2. 16, 840, 1. 113883.3. 989. 2, 1. 1. 19" codeSystemVersion="1.1"

displayName="isLifeThreatening”/>

{value xsi:type="BL" nullFlaver="NI"/>
¢{!— E.i.3.2b: Life Threatening #8 —>
{/observation>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
<code code="33" codeSystem="2, 16, 840, 1, 113883, 3, 989, 2, 1. 1. 19”7 codeSystemVersion="1.1"

displayName="requiresInpatientHospitalization”/>

{value xsi:type="BL" value="true”/> .
{t— E.1i.3.2c: Caused / Prolonged Hospitalisation #8 —>
{/observation?
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
¢code code="35" codeSystem="2.16. B40. 1. 113883. 3. 989. 2. 1. 1. 13" codeSystemVersion="1.1"

displayName="resultsInPersistentOrSignificantDisability”/>

<value xsi:type="BL" nullFlavor="NI"/>
¢!-— E.i.3.2d: Disabling / Incapacitating #8 —>
{fobservation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
<code code="12" codeSystemS”Z.16.840.1.113883.3.9?9.2.1.1.19” codeSystenVersion="1. 1"

displayName='congenit@lAnomalvBirthDefect'/>

<value xsi:type="BL" nullFlavor="NI"/>
¢I=-- E.i.3.2e: Congenital Anomaly / Birth Defect #8 —>
{/observation>
</autboundRelationship2>
<outhoundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="26" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"



displayName="otherMedicallyImpertantCondition”/>
<value xsi:type="BL" value="true”/>
<!— E.i.3.2f: Other Medically Important Condition #8 ~>
</observation>
</outhoundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0B3" moodCode="EVN™>
<code code="27" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.17
displayName="otttcome” />
¢value xsi:type="CE" code="E.1.7" codeSystem="2. 16, 840, 1, 113883. 3. 989.2. 1. L. 11"
codeSystemVersion="1,0"/>
<l— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #8 —>
{/observation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="24" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. L. 1. 19" codeSystemVersion="1.1"
displayName="medicalConfirmationByHealthProfessional”/>
<value xsi:type="BL" value="true”/>
¢!1—— E.i.8: Medical Confirmation by Healthcare Professional #8 —>
{/observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
{code code="11" codeSystem="2. 16. 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="7%0 - BE407/>
{value xsi'type="CE" code="J2.14.1i" codeSystem="2. 16.840.1.113883.3.989.5.1.3.2. 1. 8"
codeSystemVersion="1, 0"/ ’
<l— eeajz. 14.1 R0 - BEA #8 —>
</observation>
</outhoundRelationship2>
{/observation>
{/subjectOf2>
{subject0f2 typeCode="SBJ™>
{organizer classCode="CATEGORY" moodCode="EVN™>
{code code="3" codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1, 1. 207 codeSystemVersion="1.0"
displayName="testsAndProceduresRelevantToThelnvestigation”/>
{component typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
{code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemVersion="F.r. 2. 2a">
¢l=- F.r.2.2a: MedDRA Version for Test Name #1 —>
{|— F.r.2.2b: Test Name (MedDRA code) #1 —>
{originalText>F. r. 2. 1{/originalText>
¢l== F.r.2.1: Test Name {free text) #1 —>
{/code>
{effectiveTime value="20090101"/>
{l-- F.xr.1: Test Date #1 -=>
<value xsi:type="IVL_PQ™>
{center value="10" unit="mg/d1"/>
¢}— F.r.3.2: Test Result (value / qualifier) #1 -
¢{l— F.r.3.3: Test Result {unit) #1 —>
</value>
{interpretationCode code="F.r. 3.1 codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 12"
codeSystemYersion="1.07/>
{I— F.r.3.1: Test Result (code) #1 —>
{referenceRange typeCode="REFY">
<observationRange classCode="0BS” moodCode="EVN. CRT">
{value xsi:type="PQ” value="40" unit="mg/dl"/>
{!— F.r.4: Normal Low Value #1 —>
{interpretationCode code="L" codeSystem="2, 16.840. 1. 113883. 5.83"/>
¢/observationRange>
{/referenceRange>
<referenceRange typeCode="REFV*>
{observationRange classCode="0BS” moodCode="EVN.CRT">
{value xsi:type="PQ" value="110" unit="mg/dl"/>
¢l— F.r.5: Normal High Value #1-~>
{interpretationCode code="H" codeSystem="2, 16. 840. 1. 113883. 5. 83" />
{/observationRange>
{/referenceRange>



<outboundRelationship2 typeCode="PERT">
<ohservation classCode="0B5" moodCode="EVN™>
{code code="10" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="comment”/>
{value xsi:type="ED">F.r.6</value>
{!~— F.r.6: Comments (free text} #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR™> ~
<observation classCode="0BS” maodCode="EVN">
{cade code="25" codeSystem="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="moreInformationAvailable”/>
{value xsi!type="BL" value="true”/>
<|—F.r.7: More Information Available #1 —>
{/observation>
{/outboundRelationship2>
{/observation>

{/component>
{component typeCode="COMP">
<observation classCode="0BS" moodCode="EVN™>
{code code="F.r, 2.2b" codeSystem="2. 16, 840, 1. 113883, 6. 163" codeSystemVersion="F. r, 2. 2a">
¢l-- F.r.2.2a: MedDRA Version for Test Name H2 —> .
{|=— F.r.2.2b: Test Name (MedDRA code) #2 —>
{originalText>F.r. 2. 1{/originalText>
{l—— F.r.2.1: Test Name (free text) #2 —>
{/code>
{effectiveTime value="200901017/>
¢l=~ F.r.1! Test Date #2 —>
<value xsi:type="IVL_PQ™>
<low nullFlaver="NINF"/>
<high value="10" unit="mg/d1" inclusive="false"/>
{/value>
¢|— F.r.3.2: Test Result (value / qualifier) #2 —>
¢l--— F.r.3.3: Test Result (unit) #2 —>
{l== LT 10 mg/dl #2 —>
{/observation>
{/compohent>
<component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN™>
{code code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystemYersion="F.r.2.2a">
{l== F.r.2 2a: MedDRA Version for Test Name #3 —> :
¢|-— F.r.2.2b: Test Nawe (MedDRA code) #3 —>
{originalText>F. r. 2. 1¢{/original Text>
{1== F.r.2.1: Test Name {free text) #3 —>
</code>
{effectiveTime value="200901017/>
{l-= F.r.1: Test Date #3 -=>
{value xsi:type="IVL_PQ™>
Clow nullFlavor="NINF"/>
<high value="10" unit="mg/d1" inclusive="true"/>
<{/value>
{l-— F.r.3.2: Test Result {value / qualifier) #3 ——>
{l== F, 1, 33: Test Result {unit) #3 —>
¢!— LE 10 mg/dl #3—>
{/observation>
{/component>
{component typeCode="COMP™>
{cbservation classCode="0BS" moodCode="EVN">
{code code="F.r.2.2b" codeSystem="2, 16, 840. 1. 113883, 6. 163" codeSystemVersion="F.r.2.2a"™>
{l—= F.r.2.2a: MedDRA Version for Test Name #4 —>
{l== F.r.2.2b: Test Name {MedDRA code) #4 —>
<originalText>F. 1. 2. 1{/original Text>
¢}—— F.r.2.1: Test Name (free text) #4 ~->
{/code>
<effectiveTime value="20090101"/>
{l-- F.r.1: Test Date #4 ~>
{value xsi:type="IVL_PQ™>
<low wvalue="10" unit="mg/dl” inclusive="false”/>
<high nullFlavor="PINF"/>



{/value>
¢l— F.r.3.2: Test Result (value / qualifier) #4 ——>
1= F.r.3.3: Test Result (unit) #4 —>
le= GT 10 mg/d]l #4 -=>
{/observation>
{/component?
{component typeCode="COMP">
{observation classCode="0BS” moodCode="EYN">
{code code="F.r.2.2b" codeSystem="2. 16, 840. 1. 113883. 6. 163" codeSystemVersion="F.r.2, 2a">
¢{1-= F.r.2.2a: MedDRA Version for Test Name #§ —>
<l-- F.r.2.2h: Test Neme (MedDRA code) #5 —>
{originalText>F. r. 2. 1{/originalText>
{!l-- F.r.2.1: Test Name (free text) #5 —>
{/eoded
<effectiveTime value="20090101"/>
¢!— F.r.1: Test Date #5 —>
<value xsi:type="IVL_PQ">
{low value="10" unit="mg/d1l” inclusive="true”/>
<high nullFlavor="PINF"/>
<{fvalue>
¢l== F.r.3.2: Test Result (value / qualifier) #5 =->
<l— F.r.3.3: Test Result (unit) #5 —>
<l— GE 10 mg/dl #5 —>
</observation>
{/component>
{component typeCode="COMP™>
Cobservation classCode="0BS” moodCode="EVN">
{code code="F,r, 2,2b" codeSystem="2. 16, 840, 1. 113883. 6. 163" codeSystemVersion="F.r. 2.2a™>
¢l-- F.r. 2. 2a: MedDRA Version for Test Name 6 ——>
¢l=- F.1.2.2b: Test Name {MedDRA code) #6 —>
<originalText>F. r. 2. 1{/original Text>
¢!— F.r.2.1: Test Name (free text) #6 —->
</code>
{effectiveTime value="20090101"/>
¢l— F.r.1: Test Date #6 —>
{value xsi:type="ED">F.r.3.4¢/value}
¢l-= F.r.3.4: Result Unstructured Data (free text) #6 —>
</observation> .
{/component>
<{/organizer>
{/subject0f2>
¢subject0f2 typeCode="SB]™>
{organizer classCode="CATEGORY™ moodCode="EVN™>
{code code="4" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 20" codeSystemVersion="1, 0
displayName="drugInformation”/>
¢{!— G.k Drug(s) Information (repeat as necessary) #l -->
<component typeCode="COMP™>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
<id root="3c91b4d5-g039"4a7a-9c30-6767lbOef9e4'/>
{consumable typeCode="CSH™>
{instance0fKind classCode="INST">
{kindOfProduct classCode="MMAT" determinerCode="KIND™>
{code code="G.k.2.1.1b" codeSystem="TBD-MPID" codeSystemVYersion="G.k.2.1.1a"/>
¢le= G. k. 2.1.1a: MPID Version Date / Number #1 —>
<l-— G.k. 2. 1. 1b: Medicinal Product Identifier (MPID) #1 —>
<name>G. k. 2. 2{/name>
<!— G.k. 2.2: Medicinal Product Name as Reported by the Primary Source #1 —>
<asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SBJ">
<approval classCode="CNTRCT” moodCode="EVN™>
<id extension="G.k, 3.1" root="2, 16.840, 1, 113883, 3.985.2.1.3.4"/>
<l— G.k.3.1: Authorisation / Application Number #1 -=>
<helder typeCode="HLD">
<role classCode="HLD">
<playingOrganization classCode="ORG" determinerCode="INSTANCE">
<name>G. k. 3. 3¢/name>
¢!—- G.%.3.3: Name of Holder / Applicant #1 —=>.
{/playingOrganization>
{/role>



{/holder>
<attthor typeCode="AUT™>
{territorialAuthority classCode="TERR">
{territory classCode="NAT™ determinerCode="INSTANCE™>
{code code="G.k. 3.2" codeSystem="1.0.3166.1.2.2"/>
¢l== G.k.3.2: Country of Authorisation / Application #1 —>
{/territory?
¢/territorialAuthority>
{/author>
{pertinentInformation typeCode="PERT™>
<policy classCode="POLICY" moodCode="EVN™>
{code code="]JZ. 5. k" codeSystem="Z. i6. 840, I. 113583, 3,989, 5.1. 3. 2. 1. 47
codeSystemVersion="1,0"/>
—eegJ2. 5.k —RRPAERERSOY RA/ESNE §1 —>
{/policy>
{/pertinentInformation>
{/approval)

{/subject0f>
{subjectOf typeCode="SB}">
{characteristic classCode="0BS" moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3.989.5.1.3.2. 1. 10"
codeSystemVersion="1. 07 displayName="HEEDEDORRES"/>
<value xsi:type="CE" code="JZ2.4.k” codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2. 1. 3"
codeSystemVersion="1.0"/> .
- 889)2. 4. k: FEESRSORRESS #1 —>
{/characteristic>
{/subject0f>
{/asManufacturedProduct>
<asSpecializedKind classCode="GEN">
<generalizeddaterialKind classCode="MAT" determinerCode="KIND">
<{code>
{originalText>J2, 12</originalText>
— 8eJ2. 12: BRESES —
</code>
<{/generalizedMaterialKind>
{/asSpecializedKind>
<ingredient classCode="ACTI">
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
¢l G.k.2.3.xr.3a: Strength (number) £1-1 —>

¢i=- G.k. 2. 3.1.3b: Strength (unit) #1-1 —>
<denominator value="17/>
<{/quantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND"™>
{code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”
codeSystemVersion="6. k. 2. 3. r. 2a"/>
| <!— G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number §1-1
—>
{l== 6.k.2.3.r.2b: Substance / Specified Substance TermID #i-i1 —>
{name>G, k. 2. 3. r. 1{/nane>
¢<l— G.k.2.3.r.1: Substance / Specified Substance Name #1-1 —>
{/ingredientSubstance»
{/ingredient>
{ingredient classCode="ACTI™>
<{guantity>
<numerator value="10" unit="G.k. 2.3.r. 3b"/>
{!-~ G.k.2.3.1. 3a: Strength (number) #1-2 —>
<l— G.k.2.3.7.3b: Strength (unit} #1-2 —>
{denominator value="1"/>
{/quantity>
{ingredientSubstunce classCode="MMAT" determinerCode="KIND">
{code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”
codeSystemVersion="G. k. 2. 3. r. 2a"/>
{l— G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number H1-2

-2
¢l— G.k.2.3.r.2b: Substance / Specified Substance TermID #1-2 -
<name>G. k. 2. 3. r. I<{/name>
{l=— G.k 2.3.r.1: Substance / Specified Substance Name #1-2 —>
{/ingredientSubstance>



<¢/ingredient>
¢/kind0fProduct>
{subjectOf typeCode="SBJ">
{productEvent classCode="ACT" mondCode="EVN">
<code code="1" codeSystem="2. 16. B40. 1. 113883. 3. 989. 2. 1. 1. 18" codeSystemVersion="1.0"
displayName="retailSupply”™/>
. <performer typeCode="PRF">
CassignedEntity classCode="ASSIGNED">
{representedOrganization classCode="ORG" determinerCode="INSTANCE™>
{addr>
{country>G. k. 2. 4</country>
¢}— 6. k. 2.4: Identification of the Country Where the Drug Was Obtained #1 —>
{/addr>
{/representedOrganization>
{/assignedEntity>
{/performer>
{/productEvent>
{/sub jectOf>
{subject0f typeCode="SBJ">
{abservationEvent classCode="0BS" moodCode="EVN™>
{code code="2" codeSystem="2.16.840. 1. 113883, 3.98¢9,5. 1.3.2, 1. 10"
codeSystemVersion="1, 07 displayName="—RAEREROAFEN "/,
Cvalue xsiitype="CE" code="J2.6.%" codeSystem="2. 16.840. 1. 113883, 3.989.5.1.3.2. 1.5
codeSystemVersion="1.07/>
<l-— @eaj2.6.k: —BAEXRROAFEE B
{/observationEvent>
{/subject0f>
¢/instanceOfKind>
{/consumable>
{outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢{l-- G.k. 9.1.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #1 —>
¢l-- G.%. 9.1, 3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Brug #1, Resction #1 —>
<actReference classCode="0BS" moodCode="EVN">
¢id roeot="154eb889-958b—45f2-a02f-42d4d654657F" />
</actReferenced
¢/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
¢!— 6.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #1, Reaction #1 —>
¢l== G.k.9.i.3 2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
{unit) Drug #1, Reaction #1 —>
- {actReference classCode="0BS" moodCode="EVN™>
<id root="154eb889-958b~45f2-a02f~42d4d6f4657F" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS">
{pausefuantity value="10" unit="G. k.9.1.3. 1b"/>
{!— G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #2 -->
¢I-—~ G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #2 ——>
{actReference classCode="0BS" moodCode="EVN">
<id root="2bhaa28d6-c9e8-4e6c-93e0-5b860b314220" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
{l-— G.%.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #2 -~>
¢l— 6.k.9.1.3.2b: Tine Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #2 —>
{actReference classCade="0BS" moodCode="EVN">
{id root="2baa28d6-c9e8~defc-93e9-5b860b3142207/>
{/actReference>
</outboundRelationshipl>



<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
¢l-- G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #3 -=>
¢|— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #3 —>
{actReference classCode="0BS" moodCode="EVN">
{id root="3a8626ch-9f1b—-4ea8-8a0f-e0ff34430adf”/>
{/actReference’
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
¢~ G.k.9.i.3.2a! Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #3 — ' .
{l— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #3 —>
{actReference classCode="0BS" moodCode="EWN">

{id root="3a8626cb—9f1b—dea8-8a0f~e0ff34430adf” />
{/actReference>
{/outboundRelationshipl>
CoutboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
<l— G.k.9.1.3. 1a! Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #4 —>
{!-- G.k.9.1. 3. 1b! Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #4 —>
CactReference classCode="0BS" moodCode="EVN">
<id root="2¢99840{-08b4~49%c-80ff-dd8415f4f8a5" />
{/actReference>
</outhoundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" wnit="G. k. 9.1.3.2b"/>

€l== 6.%.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #4 —>
¢l G.%.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit} Drug #1, Reaction #4 —>
<actReference classCode="0BS" moodCode="EVN">
<id root="2e99840f~08b4-499c=80ff-ddB415f4f8a5" />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
{pausefuantity value="10" unit="G.k 5.i.3.1b"/>
<!— G6.k.9.1,3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number} Drug #1, Reaction #5 —>
¢l== G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #1, Reaction #5 —>
{actReference classCede="0BS” moodCode="EVN">
{id root="1071064c-cf10-4a3b-83c1~34f9ddb7eabd” />
{/actReference>
</outboundRelationshipl>
CoutboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G. k. 9.4.3.2b"/>
¢1— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #5 ~->
<!— G.k.9.1.3.2b: Time Interval between Last Dase of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #3 —>
{actReference classCode="0BS" moodCode="EVN">
{id root="1071064c~cf10-4a3b-83c1-34f9ddb7eabd" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k 9.1, 3.1b"/>
{l-- 6.k.9.1i.3.1a! Time Interval between Beginning of Brug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #6 —>
¢l-= 6.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #6 —>
<actReference classCode="0BS" moodCode="EVN">
<id root="1f927283~10b5~4334-9d43-e925640fb18f" />
{/actReference



{/outhoundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
¢l-—— 6.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #6 —>
¢l 6.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #6 —>
{actReference classCode="0BS" moodCode="EVN™>
<id root="1f927283-10b6-4334-9d43-e925640fb185" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢{l— G.k.9.i.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #I, Reaction #7 --> )
¢l— G.k.9.1,3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #7 ——>
{actReference classCode="0B5" moodCode="EVN™>
{id root="e0342969-38be-423f-b6bb-celdbc279dBe”/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pausefQuantity value="10" unit="G.k.9.1i.3.2b"/>
¢l— G.k.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #7 —>
{l=- G, k.9.1i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #1, Reaction #7 —>
{actReference classCode="0B5" moodCode="EVN">
<id root="e0342969-38be—423f~b6bb—cel4bc279d8e"/>
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™> .
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢{I-- G.k.9.i.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #8 -=>
¢I— G.k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #3 —>
<actReference classCode="0B3" moodCode="EYN™>
<id root="al5be092-8070-426d-af04-6863263443e0" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™> .
{pauseQuantity value="10" urit="G.k.9.i.3.2b"/>

¢l— 6.k 9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #8 —>
¢l== 6. k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event

(unit) Drug #1, Reaction #8 —>
<actReference classCode="0BS" moodCode="EVN™>
<id root="al5be082-8070-426d-af04-6863263443e0" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS” moodCode="EVN">
{code code="6" codeSystem="2, 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="blinded”/>
Cvalue xsi:type="BL" value="true”/>
{d— G.k.2.5: Investigational Product Blinded #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢!—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-1 -=>
{substanceAdministration classCode="SBADM" moodCode="EVN™>
{text>G, k. 4, r. B{/text>
¢l— G.k.4.r.8: Dosage Text #1-1 —>
CeffectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™>
{period value="10" unit="G. k.4.r.37/>
¢I— G.k.4.1.2: Number of Units in the Interval #1-1 -
{I— G.k 4. 1. 3: Definition of the Time Interval Unit #1-1 —>



{/comp>
{camp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
<!— G.k.4.r.4: Date and Time of Start of Drug #1-1 -->
<high value="200901017/>
<}— G.k.4.1.5: Date and Time of Last Administration #1-1 —>
</comp)
<comp xsi:type="IVL_TS" operator="A">
<width value="4" unit="G.k.4.r.6b"/>
¢l— G.k.4.r.6a: Duration of Drug Administration (number) #1-1 —->
<{!— G.k.4.r.6b: Duration of Drug Administration (unit) #1-1 —>
<Feompy
{feffectiveTime>
{rauteCode code="G. k. 4.r. 10.2b" codeSystem="2, 16,840, 1. 113883, 3.989.2. 1.1, 14"
codeSystemVersion="G.k, 4.r. 10, 2a">
{!== G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #i-1 ——>
<l— G.k. 4.1, 10, 2b: Route of Administration TermID #1-1 —>

{originalText>G. k. 4. r. 10. 1¢/originalText>
{}== 6.k.4.1.10. 1: Route of Administration (free text) Hi-1 —>
</routeCode>
{doseQuantity value="10" unit="G.k. 4.r.16"/>
{!— G.k.4.r. 1a Dose (number) f#1~1 -->
¢{!— G.k. 4.7, 1b: Dose (unit} #1-1 —>
{consumable typeCode="CSM™>
{instanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
ClotNumberText>G. k. 4. r. 7{/1otNumberText>
¢{l— G.k.4.r.7: Batch / Lot Number #1-1 —=>
¢/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm™
codeSystenVersion="G. k. 4.r. 9. 2a™>
{l~= G.k.4.r.9.2a: Pharmaceutical Dose Form TermiD Version Date / Number #1-1 —>
{I=- G.k.4.r.9 2b: Pharmaceutical Dose Form TermID #1-1 —>
{originalText>G. k. 4. r. 9. 1{/originalText>
¢l— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-1 —>
</formCode>
{/kind0fProduct>
</instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoutedfAdministration”™/>
<value xsi:type="CE" code="G.k.4.1.11.2b" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2.1, 1, 14"
codeSystemVersion="G. k. 4.1. 11. 2a™>
{l— G.k.4.r. 11. 2a: Parent Route of Administration TermID Version Date / Number #1~1
-
<l— 6.k 4.r. 11.2b: Parent Route of Administration TermID #1-1 —>
<originalText>G. k. 4. r. 11, 1</originalText>
¢]-—— G.k.4.1.11. 1! Parent Route of Administration (free text} ¥1-1 ——>
<{/value> -
</observation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
<I— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-2 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
<text?G. k. 4. 1. 8</text>
{I— G.k.4.1.8: Dosage Text #1-2 —
<effectiveTime xsi:type="SXPR_T5">
<comp xsi:type="PIVL_TS">
{period value="10" unit="G.k.4.r.3"/>
{l== 6. k. 4.r.2: Number of Units in the Interval #1-2 —>
<]— G .k 4.r. 3: Definition of the Time Interval Unit #1-2 —>
{/comp>
{comp xsi:type="IVL_TS" operator="A">
<{low value="20090101"/>



¢!— G.k.4.1.4: Date and Time of Start of Drug #1-2 -—>
<high value="20090101"/>
<|— 6. k.4.r.5: Date and Time of Last Administration #1-~2 -=>
{/comp>
{/effectiveTime>
<routeCode code="G.k.4.r. 10, 2b” codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 10. 2a">
¢l-— G.k.4.r.10. 2a: Route of Administration TermID Version Date / Number #1-2 —>
<I-= G.k 4.1.10.2b: Route of Administration TermID #1-2 —>
originalText>G. k. 4. r, 10. 1{/originalText>
¢{l— G.k 4.1.10.1: Route of Administration (free text) #1-2 —>
{/routeCode>
{doseQuantity value="10" unit="C.k. 4.r.1b"/>
<l— G.k.4.r.1a Dose {number) #1-2 —=>
¢~ G.k.4.r.1b: Dose (unit) #1-2 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST">
<productInstanceInstance classCode="MMAT" determinerCode="TNSTANCE™>
{lotNumberText>G. k. 4. r. 7{/lotNumberText>
<|— G.k.4.r.7: Batch / Lot Number #1-2 —>
</productinstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G. k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.r. 9. 2a">
¢{]— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2 —>
{I—- G.k.4.r.9.2b: Pharmaceutical Dose Form TermiD #1-2 —>
{originalText>G. k. 4. r. 9. 1<{/originalText>
¢l— G.l.4.1.9.1: Pharmaceutical Dose Form (free text) #1-2 —>
</TormCode>
</kind0fProduct>
</instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN")>
{code code="28" codeSystem="2.16.840. 1. 113883, 3, 98%. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
Cvalue xsi:type="CE" code="G.k. 4.r.11. 2b” codeSystem="2. 16. 840. 1. 113883, 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. }1. 2a™>
. «l-- G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1-2
-
¢l== G.k.4.1.1L 2b: Parent Route of Administration TermID #1-2 —>
CoriginalText>G. k. 4. r. 11. 1{/originalText>
¢}~ G.k.4.r. 11. 1: Parent Route of Administration (free text) B1-2 —=>
</value>
</cbservation>
{/inboundRelationship>
{/substanceAdministration>
{/vutboundRelationship2>
{outboundRelationship? typeCode="COMP">
<]—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-3 —>
{substanceAdministration classCode="SBADM” moodCode="EVN™>
Ctext>G. k. 4. r. B{/text>
{!— G.k.4.7.8: Dosage Text #1-3 —>
deffectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS™>
<period value="10" unit="G.k.4.1r.3"/>

<1— G.k. 4.1.2: Number of Units in the Interval #1-3 —>
¢{l— G.k. 4.1.3: Definition of the Time Interval Unit #1-3 —>
<fcomp>

<comp xsi:type="IVL_TS" operator="a">
<low value="20030101"/>
<1— G.%k 4.1.4: Date and Time of Start of Drug #1-3 -->
{width value="4" unit="G. k.4.r.6b"/>
<!— G.k. 4.r.6a: Duration of Drug Administration (number) #1-3 —>
{!-- G.k.4.r.6b: Duration of Drug Administration (unit) #1-3 —>
{/comp>
{/effectiveTime>
<routeCade code="G. k. 4.r. 10, 2b" codeSystem="2. 16.840. 1. 113883.3.989.2.1. 1, 14"
codeSystemVersion="G. k. 4. r. 10. 2a">



¢l=- G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-3 —>
<l— G. k. 4.1, 10.2b: Route of Administration TermID #1-3 —>
CoriginalText>G. k. 4. r. 10. 1{/original Text>
<!-- G.k. 4.1r.10. 1: Route of Administration (free text) #1-3 —>
</routeCode>
(doseQuantity value="10" unit="G.k.4.r. 1b"/>
(! G. k. 4. 1. 1a Dose (number) $1-3 —>
{I— Gk 4.1 1b: Dose (unit) $1-3 —>
{consumable typeCode="CSM">
{instance0fKind classCode="INST">
<productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7{/lotNumberText?
{l— G.k.4.1.7: Batch / Lot Number #1-3 —>
<{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k.4.1.9.2b" codeSystew="TBD-DoseForm”
codeSystemVersion="C, k.4,1.9, 2a™>

{—— G.k4.r.9 2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3 —>
¢i— G.k 4,79, 2h: Pharmaceutical Dose Form TermID #1-3 —>
{originalText>G. k. 4. r. 9. 1{/originalText>
¢}— G.k.4.r.9.1: Pharmaceutical Dose Form (free text} #1-3 —>
{/formCode>
¢/kind0fProduct>
</instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
{value xsi:type="CE” code="G.k.4.r. 11, 2b" codeSystem="2. 16.840. 1. 113883, 3.989. 2.1, 1. 14"
codeSystemVersion="G. k. 4.r. 11. 2a">
{l— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number #1-3
—
<l— G.k 4.r.11.2b: Parent Route of Administration TermID #1-3 —>
{originalText>G. k. 4. r. 11. 1{/original Text>
I G.k. 4. 7. 11. 1! Parent Route of Administration (free text) #1-3 —>
/value>
{/observaticn?
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
{l—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #l-4 --=>
{substanceAdministration classCode="$BADM" moodCode="EVN">
{text>G. k. 4. 1. 8</text>
<!— G.k 4.1.8: Dosage Text #1-4 —>
<effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="PIVL_18">
{period value="10" unit="G. k. 4.1.3"/>
¢l—— G. k. 4.1.2: Number of Units in the Interval #1-4 —> -
<l-- 6. k.4.7.3: Definition of the Time Interval Unit #1-4 —>
{Seomp?
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k. 4.r.6b"/>
¢<!— G.k.4.r.6a: Duration of Drug Administration (number) #I-4 -->
{!=- G.k.4.r.6b: Duration of Drug Administration {unit) #1-4 —>
<high value="20090101"/>
{!— G.k.4.r.5: Date and Time of Last Administration #1-4 =-->
</comp>
{feffectiveTine>
{routeCode code="G.k.4.r.10.2b" codeSystem="2. 16.840C. 1. 113883.3.989, 2. 1. 1, 147
codeSystemVersion="G. k. 4. 1. 10. 2a">
' {t— G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number H1-4 -->
<!~ G.k.4.1.10. 2b: Route of Administration TermID #1-4 -->
<originalText>G. k. 4. r. 10. I{/originalText>
{I— G.k.4.1.10. 1: Route of Administration (free text) #l-4 -->
{/routelode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<{l— G.k.4.r.1a Dose {number) #1-4 -->



¢{I— G.k.4.r.1b: Dose {unit) #i-4 —>
{consumable typeCode="CSH">
<instance0fKind classCode="INST">
<{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7{/1otNumberText>
€¢l— G.k.4.1.7: Batch / Lot Number #1-4 -->
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
(formCode code="G.k. 4.r.9.2b" codeSystem="TBD-DoseForm”

codeSystemVersion="G. k. 4.1.9. 2a">

¢l== G.k.4.7. 9. 2a: Pharmaceutical Dose Form TermIP Yersion Date / Number #1-4 —>
¢1— 6.k, 4.7.9, 2b: Pharmaceutical Dose Form TermID #1-4 -->
{originalText>G. k. 4. r. 9. I<{/original Text>
¢l=- G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-4 —>
<{/TornCode>
</kindOfProduct>
{/instanceOfKind>
{/consumable>
{inboundRelationship typeCode="REFR™>
<observation c¢lassCode="0BS” moodCode="EVN">
<eode code="2B" codeSystem="2.16. 840, 1. 113883, 3. 988, 2. 1. 1. 19" codeSystemYersion="1. 1"

displayName="parentRouteOfAdministration”/>

{value xsiztype="CE™ code="G.k.4.r.11.2b" codeSystem="2.16.840. 1. 1135883.3,989,2. 1. 1. 14"

codeSystenVersion="G. k. 4.r. 11. 2a™>

—>

¢l— G.k. 4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #1-4

¢l— 6.k 4.r.11.2b: Parent Route of Administration TermID H1-4 —>
CoriginalText>G. k. 4. r. 11. 1<{/originalText>
<}— 6.k 4.r.11.1: Parent Route of Administration (free text) #1-4 ——>
{/value>
{/observation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outhoundRelationship? typeCode="COMP™>
{!-— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-5 —>
¢substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. r. 8</text>
¢}== G.k.4.1.8: Dosage Text #1-5 —>
CeffectiveTime xsi:type="SXPR_TS™>
Ccomp xzsi:type="IVL_TS™>
<low value="20090101%/>
<]=— G.k.4.1.4: Date and Time of Start of Drug #1-5 —>
<high value="20090101"/>
¢1— G.k.4.r.5: Date and Time of Last Administration #1-5 —>
<{/comp>
<comp xsi:type="IVL_TS” operator="A">
<width value="4" upit="G.k.4.r. 6b"/>
¢{!— G.k.4.r.6a: Duration of Drug Administration (number) #1-5 —
¢!l— G.k 4.r.6b: Duration of Drug Administration (unit) #1-§ —>
$/comp>
{/effectiveTime>
{routeCode code="G. k. 4.r. 10, 2b” codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 14"

codeSystemVersion="G. k. 4.r. 10, 2a™>

<!— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #i1-5 —>
{!— G.k.4.1.10.2b: Route of Administration TermID #1-5 —>
<CoriginalText>G. k. 4. r. 10. 1{/originalText>
{1~ G.k 4.1.10.1: Route of Administration (free text) #1-5 —>
{/routeCode>
<doseQuantity value="10" uwnit="G.k. 4.7.1b7/>
{l== G.k.4.1.1a Dose (number) #1-5 -->
I~ G.k.4.r.1b: Dose (unit) #1-5 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT™ determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7<{/lotNumberText>
{l=- G.k.4.r.7: Batch / Lot Number §1-5 —>
{/productInstancelnstance>
¢kindOfProduct classCode="MMAT" determinerCode="KIND">



{formCode code="G.k.4.r.9,2b" codeSystem="TBD-DoseForm”

codeSystemYersion="G. k. 4.1. 9. 2a™>
{l— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-5 —>
{!— G.k.4.7.9.2b: Pharmaceutical Dose Form TermID #1-5 —>
{originalText>G. k. 4. r. 9. 1{/originalText>
¢l== G.k.4.r.9.1: Pharmaceutical Dose Form {free text) #1-5 —>
{/foruCode>
</kind0fProduct>
{/instance(fKind>
{/consumable>

<inboundRelationship typeCode="REFR™>
<observation classCode="U85" moodCode="EVN">
<code code="28" codeSysten="2. 16, 840. 1, 113883, 3.989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”/>
<value xsi:type="CE” code="G.k.4.r.1l1.2b" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 11. 2a"™> - ‘
¢!== G. k. 4.1.11. 2a: Parent Route of Administration TermiD Version Date / Number #1-5

-
<l— G.k.4.1.11. 2b: Parent Route of Administration TermID #1-5 —>
CoriginalText>G. k. 4. r. 11. 1</original Text>
¢!—— 6.k 4.r.11, 1: Parent Route of Administration (free text) #1-5 -=>
¢/value?
{/observation>
{/inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP">
{1~ G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-6 —>
<substanceAdministration classCode="SBADM"- moodCode="EVN">
{text>G. k. 4. r. B/ text>
<{!— G.k 4.r.8: Dosage Text #l-6 —>
SeffectiveTime xsi:type="SXPR_TS">
{comp xsi:type="PIVL_TS™>
<period value="10" unit="G.k. 4.1.3"/>

<I— G.k.4.r 2: Number of Units in the Interval #1-6 —>
{I— G.k.4.r.3: Definition of the Time Interval Unit #1-6 —>
{/comp>

{comp xsi:type="IVL_TS” operator="A">
<low value="20090101"/>
{!— 6.k.4.1.4: Date and Time of Start of Drug #1-6 —>
{width value="4" unit="G.k.4.1.65"/>
¢l-—— G.k.4.r.6a: Duration of Drug Administration (number) #1-6 —>
¢l== .k 4. 1.6b: Buration of Drug Administration (unit} #1-6 —>
{/comp> :
{comp xsi:type="IVL_TS" operator="A">
<high value="20090101"/>
{l— G.%. 4.r.5: Date and Time of Last Administration #1-6 -=>
{/conp?
{/effectiveTime>
<routeCade ¢ode="G.k.4.r.10.2b" codeSystem="2. 16.840.1.113883.3.989.2.1.1. 14"
codeSystemVersion="G. k. 4.r. 10.2a">
¢!== G.k 4.1.10. 22 Route of Administration TermID Version Date / Number #1-6 -->
<1— G, k. 4, r.10.2b: Route of Administration TermID #1-6 ——>
<originalText>G. k. 4. r. 10. 1<¢/originalText>
== G.k. 4.r.10. 1: Route of Administration (free text} #1-§ ~>
</routeCode>
{doseQuantity value="10" unit="G.k 4.r.1b"/>
== G. k. 4.r.1a Dose (number) #1-1 -->
{l— G.k.4.r. 1b: Dose (unit) #1-1 —>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<d— G k. 4.r.7: Batch / Lot Number #1-1 —>
{/preductInstanceInstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
{formCode code="G.k.4.r.9. 2b" codeSysten="TBD-DoseForm”
codeSystemVersion="G, k. 4.r.9, 2a">
¢!—— G.k. 4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-6 —>



¢le= G, k. 4.1.9.2b: Pharmaceutical Dose Form TermlD H#1-6 -->
<originalText>G. k. 4.1. 9. 1</originalText>
¢t— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-6 —>
{/formCode>
</kind0fProduct>
</instance0fKind>
{/consumable>
¢inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16, 840, 1, 113883, 3, 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfadministration”/>
¢value xsi:type="CE” code="G.k.4.r.1l.2b" codeSystem="2.16.840. 1. 113883, 3.989. 2. 1. 1. 147
codeSystenVersion="G, k. 4. r. 11. 2a">
¢<!— G.k 4.1, 11 2a: Parent Route of Administration TermID Version Date / Number #1-6
-_
¢!— G.k.4.r. 11 2b: Parent Route of Administration TermnID #1-6 —->
<originalText>G. k. 4. r, 11, 1{/originalText>
¢l== G.k.4.r.11. 1! Parent Route of Administration (free text) #1-6 —>
{/value>
</observation?
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢!-— G.k.4.r: Dosage and Relevant Information (repeat as necessary} #1-7 —>
{substanceAdministration ¢lassCode="SBADM" moodCode="EVN">
<{text>G. k. 4. r. 8{/text>
{I— G.k.4.r.8: Dosage Text #1-7 —>
{effectiveTime xsi:type="SXPR_TS™>
<comp xsi:type="IVL_IS">
Clow value="20090101"/>
¢{I— G.k.4.r.4: Date and Time of Start of Drug #1-7 —>
<width value="4" unit="G.k.4.r.6b"/> ‘
¢|— G.k.4.r.6a: Duration of Drug Administration (number) #1-7 —>
¢!— G.k.4.r.6b: Duration of Drug Administration (unit} ¥1-7 —
{/comp>
<comp xsi!type="IVL_TS" operator="A")
<high value="200901017/>
¢l— G.k.4.1.5: Date and Time of Last Administration #1-7 —>
{/comp>
{/effectiveTimed
{routeCode code="G.k.4.r.10.2b" codeSystem="2. 16. 840, 1. 113883, 3.989. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10, 2a™>
¢!-~ G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-7 —>
<!-— G.k. 4.1, 10. 2b: Route of Administration TermID #1-7 —=>
{originalText>G. k. 4. r. 10, 1</originalText>
<!— G.k. 4.1.10.1: Route of Administration {free text) #I-7 —>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4.r. 1b"/>
¢{!— G.k.4.r.1a Dose (number) $1-7 =-=>
{l-~ G.k.4.r. 1b: Dose {unit} #1-7 —>
<consumable typeCode="CSM">
<instanceOfKind classCode="INST™>
<productInstanceInstance classCode="MMAT" determinerCode="INSTANCE">
{lotNumberText>G. k. 4. 1. 7¢/lotNumberText>
(= G.k.4.r.7: Batch / Lot Number #i-7 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
¢formCode code="G.k.4.r.9. 2b" codeSystem="TBD-DoseForm”™
codeSystenVersion="G. k. 4.r. 9. 2a™>
¢<!— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-7 —>
: {!— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-7 -—>
{originalText>G. k. 4. r. 9. 1<{/original Text>
¢!— G.k.4.1.9. 1: Pharmaceutical Dose Form (free text) #1-7 —>
</formCode> '
</kind0fPreduct>
</instanceOfKind>
</consumable>
{inboundRelationship typeCode="REFR">



{observation classCode="0BS" moodCode="EVN">
{code code="28" codeSystem="2. 16. 840 1. 113883.3.988. 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
{value xsi:type="CE” code="G.k.4.r. 1L 2b" codeSystem="2.16.840. 1. 113883.3.989.2.1. 1. 147
codeSystenVersion="G. k. 4.r. 11, 2a">
<I—— G.k.4.r.11. 2a: Parent Route of Administration TermID Versien Date / Number #1-7
-
<!— G.k.4.1.11. 2b: Parent Route of Administration TermID #1-7 —»
{originalText>G. k. 4. r. 11. 1<{/original Text>
{l-= G.k.4.1.11.1: Parent Route of Administration (free text) #1-7 —>
{/value>
{/ebservation>
{/inboundRelationship>
{/substanceAdministration
</outboundRelationship2>
CoutboundRelationship2 typeCode="SIMM">
{observation eclassCode="0BS" moodCode="EVN">

{code code="14" codeSystem="2. 16. 840, 1, 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="cunulativeDoseToReaction”/>
{value xs5i’type="PQ" value="10" unit="G.k. 5b"/>
<l— G.k.5a: Cumulative Dose to First Reaction (number) #1 —>
<1~ G.k.5b: Cumulative Dose to First Reaction (unit) #1 --»
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation elassCode="0BS" moodCode="EVN">
{code code="16" codeSystem="2.16. 840. 1. 113883. 2.589. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="gestationPeried”/>
Cvalue xsi:type="PQ" value="10" unit="G.k. 6b"/>
<|— G.k.Ga: Gestation Period at Time of Exposure (number) #1 —>
{l— G.k.6b: Gestation Period at Time of Exposure (unit) #1 —> -
</observation>
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
{code code="31" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="recurrance0fReaction”/>
<value xsi:type="CE" code="G.k.9.i.4" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 116"
codeSystenVersion="1, 0"/>
<!— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1 Reaction #1 —>
<outboundRelationshipl typeCode="REFR™>
<actReference classCode="0BS" moodCode="EVN">
{id root="154eb889-958b-45f2~al2f-42d4d6F465TF" />
{/actReference?
{/outboundRelationshipl>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
{code code="31" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="recurrance(fReaction”/>
{value xsi:type="CE” code="G.k.9.1i.4" codeSystem="2, 16, 840. 1. 113883. 3.989.2. 1. 1. 16"
codeSystemVersion="1: 0" />
¢!~ G.k.9.1i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction #2 —>
<outboundRelationshipl typeCode="REFR™>
{actReference classCode="0BS" mocdCode="EVN™>
<id root="2baa28d6-c9e8-defic—93e9-5b860b314220" />
{/actReference>
{/outboundRelationshipl>
{/abservation>
</outboundRelationship2>
{outboundRelationship2 typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
{code code="9" codeSystem="2, 16, 840. 1, 113883. 3. 989, 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
{value xsi‘type="CE” code="G.k.10.r" codeSystem="2, 16.840. 1. 113883.3.989.2.1.1. 17"
codeSystemVersion="1.0"/> '
<!= G.k. 10.r: Additional Information on Drug (coded) (repeat as necessary) #1-1 —>
{/obhservation>



</outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN">
<code code="D" codeSystem="2. 16. 840, 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
) Cvalue xsi:type="CE” code="G.k.10.1r" codeSystem="2. 16.840.1.113883.3.989.2.1.1, 177
codeSystemYersion="1.0"/>
¢!=- G.k 10.r: Additional Information on Drug (coded) (repeat as necessary) H1-2 -=>
{/observation>
</outboundRelationship2>
¢outboundRelationship? typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="additionalInformation”/>
<value xsi:type="ST™>G. k. 11</value>
{I-~ G.k.11: Additional Information on Drug {free text) #i —>’
{/observation>
{/outboundRelationship2>
{inboundRelationship typeCode="RSON">
<observation classCode="0BS" moodCode="EVN">
<code code="19" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemYersion="1.1"
displayName="indication”/>
<value xsi:type="CE" code="G.k.7.r.2b" codeSystew="2. 16.840. 1. 113883. 6. 163"
codeSystemVersion="G. k. 7. r. 2a”>
¢{l== G. k. 7.1. 2a: MedDRA Version for Indication #1-1 —>
<J— G.k 7.r.2b: Indication (MedDRA code) #1-1 —>
{originalText>G. k. 7. r. 1</originalText>
{!—= G. k. 7.r.1: Indication as Reported by the Primary Source #1-1 —>
{/value>
{performer typeCode="PRF™>
<assignedEntity classCode="ASSIGNED™>
{code code="3" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 21" codeSystemVersion="1, 0"
displayName="sourceReporter” /> .
¢/assignedEntity>
{/performer>
{/observation>
¢/inboundRelationship>
{inboundRelationship typeCode="RSON">
{observation c¢lassCode="0B5" moodCode="EVN™>
{code code="19" codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"7
displayName="indication”/>
{value xsi:type="CE" code="G.k. 7.r. 2b" codeSystem="2, 16, 840. 1. 113883. 6. 163"
codeSystemVersion="G. k. 7. 1. 2a">
¢l—— G.k.7.7.2a: MedDRA Version for Indication #1-2 -->
¢l=~ G. k. 7.1.2b: Indication (MedDRA code) #1-2 —>
<originalText>G. k. 7. r. 1{/originalText>
<l— G.k. 7.r.1: Indication as Reported by the Primary Source §1-2 -->
{/value>
{performer typeCode="PRF™>
<assignedEntity classCode="ASSIGNED">
<code code="3" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="sourceReporter”/>
¢/assignedEntity>
{/perforner>
{/observation>
{/inboundRelationship’>
{inboundRelationship typeCode="CAUS">
<act classCode="ACT” moodCode="EVN">
{code code="G.k. 8" codeSystem="2. 16. 840. 1. 113883, 3.989.2. 1. 1. 15" codeSystemVersion="1.0"/>
¢l=~ G.k.8: Action(s) Taken with Drug #1 —>
{/act>
{/inboundRelationship>
¢/substanceAdministration?
{/component>
¢!=— G.k Drug(s) Information (repeat as necessary) #2 -->
{component typeCode="COMP™>
¢substanceAdministration classCode="SBADM" moodCode="EVN™>
¢id root="68d6f5ce—3b3b~45c7-92dd~6906730¢c3a9" />
{consumable typeCode="CSH™>



{instanceOfKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<code code="G.k.2.1.2b" codeSystem="TBD-PhPID” codeSystemVersion="G.k. 2.1.2a"/>
<!~ G.k.2.1,2a: PhPID Version Date / Number #2 —>
<l-- 6.k 2.1.2b: Pharmaceutical Product Identifier (PhPID} #2 —>
<name>G. k. 2. 2{/name>
¢{!— G.k. 2.2: Medicinal Product Name as Reported by the Primary Source #2 ——>
<asManufacturedProduct classCode="MANU">
{subject0f typeCode="SB]">
{approval classCode="CNTRCT™ moodCode="EVN™>
<id extension="G.%.3.1" root="2.16. 840, 1. 113883. 3.989. 2. 1. 3. 4”/)
= G.k.3.1: Authorisation / Applicaiion Number #Z —>
<holder typeCode="HLD™>
<role classCode="HLD">
{playingOrganization classCode="0RG" determinerCode="INSTANCE™>
<{name>G. k. 3. 3<{/name>
¢l— 6.k 3.3: Name of Holder / Applicant #2 ==>

</playingOrganization>
{/role>
</holder>
<author typeCede="AUT™>
{territorialAuthority classCode="TERR">
{territory classCode="NAT" determinerCode="INSTANCE">
{code code="G.k.3.2" codeSystem="1.0.3166.1.2.27/>
<}— G.k.3,2: Country of Authorisation / Application #2 —>
{/territory>
{/territorialAuthority>
{/author>
{pertinentInformation typeCode="PERT">
{policy classCode="POLICY" moodCode="E¥N"> .
{code code=")2.5. k" codeSystem="2. 16.840. 1, 113883.3,989.5.1.3.2. 1. 47
codeSystemVersion="1.0"/>
<I— 888]2.5.k: —RAEEKFOVRIERF #2 —
{/policy>
</pertinentInformation>
</approval>
{/subject0f>
{subjectOf typeCode="SB]™> :
{characteristic classCode="0B5" moodCode="EVN">
<code code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.107
codeSystemVersmn— 1.0" displayNeme="#EFEHZDRAES"/>
<value xsi:type="CE” code="J2.4.k” codeSystem="2, 16. 840. 1. 113883,3,989,5.1,3.2. 1.3"
codeSystemVersion="1. 0"/>
<l 888]2.4.k: FEESZORMES #2 —
{/characteristic>
<{/subject0f>
</asManufacturedProduct>
<ingredient classCode="ACTI™>
{quantity>
{numerator value="10" unit="G.k.2.3.r.3b"/>
¢l=~ G6.k.2,3.xr.3a: Strength (number) #2-1 —>
<l— G.k.2.3.r. 3b: Strength (unit) #2-1 -=>
{denominator value="1"/>
{/quantity>
<ingredientSubstance classCode="MMAT" determinerCode="KIND">
{code code="G.k.2.3.r.2b" codeSystem="TBD-Substance”
codeSystemVersion="G. k. 2. 3.r. 2a"/>
<l— G.k.2.3.1. 2a: Substance / Specified Substance TermID Version Date / Number #2-1
—_—>
<l=— G.%.2.3.r.2b Substance / Specified Substance TermIP #2~1 ~—>
{name>G. k. 2. 3. v. 1{/name>
<!— G.k.2.3.r. 1: Substance / Specified Substance Name #2-1 —>
{/ingredientSubstance>
{/ingredient>
<{ingredient classCode="ACTI™>
<{quantity>
{numerator value=" 10 unit="G. k. 2.3.r. 3b"/>
{le- G.k.2.3.1.3a: Strength (number) #2-2 —>
&l 6.k 2.3.r.3b: Strength (unit) #2-2 —>



{denominator value="1"/>

<fquantity>
{ingredientSubstance classCode="MMAT" determinerCode="KIND")>
{code code="G.k.2. 3.r.2b" codeSystem="TBD-Substance”
codeSystenVersion="G. k. 2.3.r. 2a"/>
¢!— G.k.2.3.r.2a° Substance / Specified Substance TermID Version Date/Number #2-2 —
>
<!— 6.k.2,3.1.2b Substance / Specified Substance TermID #2-2 —>
<name>G. k. 2, 3. . 1</name>
¢l== G.k.2.3. 1. 1: Substance / Specified Substance Name #2-2 —->
</ingredientSubstance>
</ingredient>
{/kind0fProduct>

{subjectOf typeCode="SB]™>
<{productBvent classCode="ACT" moodCode="EVN™>
. {code code="1" codeSystem="2. 16. 840, 1. 113883, 3. 989, 2. L. 1. 18" codeSystemVersion="1. 0"
displayName="retailSupply”/>
{performer typeCode="FRF">
<assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="CRG" determinerCode="INSTANCE™>
<addr> ' .
{countryG. k. 2. 4{/country>
{l— G.k.2.4: Identification of the Country Where the Drug Was Obtained #2 —>
{/addr>
{/representedOrganization>
{/assignedEntity>
{/performer>
</productEvent>
{/subjectOf>
{subjectOf typeCode="SB]™> ]
<observationEvent classCode="0BS" moodCode="EVN">

{code code="2" codeSystem="2, 16, 840.1. 113883.3.989.5.1.3.2, 1. 107
codeSystemVersion="1. 0" displayName="—RtFERHOAFER" />
<value xsiitype="CE" code="]2.6.k" codeSysten="2. 16.840. 1. 113883. 3.989.5.1.3.2.1.57

codeSystemYersion="1, 0" />
¢|— 88872.6.k: —XAEEMHOAFEE #2 —
{/ohservationEvent>
</sub jectOf>
{/instance0fKind>
</consumable>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.%k.9.1.3.1b"/>
(- G.k.9.1. 3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #i—>
¢l— G.%k.9.i.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #1 —>
<actReference classCode="0BS" moodCode="EVN">
{id root="154eb889-958b—45F2-a02f-42d4d6F46571" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
<pauseQuantity value="10" unit="G.k.9.i,3.2b"/>
{l-- 6.k 9.i.3.2a! Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reactien #1 —>
<I-- G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #1 -—>
<actReference classCode="0BS" moodCode="EVN">
{id root="154eb889-958b-45F2-a02f~42d4d6f4657f />
{/actReference>
{/outhoundRelationshipl>
<autboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G. k.9 1i.3.1b7/>
¢l-— G.k.9.i.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #2 —>
¢l=~ G.k.9.1. 3. 1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reaction #2 —>
{actReference classCode="0BS" moodCode="EVN™>
{id root="2baa28d6-cPeb-4ebc—-93e9-5b860L3 142207 />
{/actReference>



</outhoundRelationshipl>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/">
<l-- G.k.9.i.3. 2a: Time Interval between Last Dose of Drug
(number} Drug #2, Reaction #2 —» '
<l=- 6.k.9.i.3,2b: Time Interval between Last Dose of Drug
(unit) Drug #2, Reaction #2 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="2baa28dé—c9e8-4ebc-93e9-5b860b314220" />
{/actReference>
<{/outboundRelationshipl>
{outboundRelationshipl typeCode-"SAS">
{pauseQuantity value="10" unit="G.k 9.i.3.1b"/>
{i—- G.k.9.1.3.1a: Time Interval between Beginning of Drug
Reaction / Event (mumber) Drug #2, Reaction #3 —>
¢!— 6.k 9.1i.3.1b: Time Interval between Beginning of Drug
Reaction / Event {unit) Drug #2, Reaction #3 —>

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of

<actReference classCode="0BS" moodCode="EVN™>
{id root="3a8626cb~9f1b-4ea8-8alf-e0fT34430adf" />
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.k.§.1i.3.2b"/>
{l=- G.k.9.i.3, 2a: Time Interval between Last Dose of Drug
(number) Drug #2, Reaction #3 —>
<1-- G, k.9.i.3. 2b: Tire Interval between Last Dose of Drug
(unit) Drug #2, Reaction #3 —>
{actReference classCode="0BS” moodCode="EVN">
<id root="3a8626cb~9f1b-dea8-8alf-a0ff34430adf"/>
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS">
{patseQuantity value="10" unit="G.k.9.i.3.1b"/>
{l-- G.k.9.i.3.1a: Time Interval between Beginning of Drug
Reaction / Event (number) Drug #2, Reaction #4 —>
{l-- 6.k.9.1.3.1b* Time Interval between Beginning of Drug
Reaction / Event (unit) Drug #2, Reaction #4 —>
<actReference c¢lassCode="0BS" moodCode="EVN">
<id root="2¢99840f~08h4-49%c~80ff~dd8415f4£8a5"/>
</actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G.,k.9.1i.3.2b"/>
<l-- 6.%.9.i.3.2a: Time Interval between Last Dose of Drug
(number) Drug #2, Reaction #4 —)
<I-- 6.k 9.1.3.2b: Time Interval between Last Dose of Drug
(unit) Drug #2, Reaction #4 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-B0ff-dd8415f4£8a5"/>
{/actReference>
</outboundRelationshipl>
CoutboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k 9.1i.3.1b"/>
<l-- G.k.9.1.3. la: Time Interval between Beginning of Drug
Reaction / Event (number) Drug #2, Reaction #5 —>
<I-- G.k.9.i.3.1b: Time Interval between Beginning of Drug
Reaction / Event (unit) Drug #2, Reaction #5 -->
{actReference ¢lassCode="0BS" moodCode="EVN">
{id root="1071064c~cf10-4a3b-83c1-34f2ddbTeabd” />
</actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
<pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<l 6.k 9.i.3.2a: Time Interval between Last Dose of Drug
(number) Drug #2, Reaction #5 — )
<l-- G.k.9.1.3.2b: Time Interval between Last Dose of Drug
{unit) Drug #2, Reaction #5 —>
<actReference classCode="0B5" moodCode="EVN™>
<id root="1071064c-cf10~4a3b-83c1-34f9ddbTeabd” />

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event



{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
¢l-- G.k.9.i. 3. 1a: Time Interval between Beginning of Drug
Reaction / Event (number) Drug #2, Reaction #6 —>
¢l— G.k.9.i.3.1b: Time Interval between Beginning of Drug
Reaction / Event (unit) Drug #2, Reaction #6 —>
{actReference classCode="0BS" moodCode="EVN">
<id root="1f927283-10b6~4334-9d43-e925640fb18£" />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit="G. k.9.1i.3.2b"/>
¢l== 6.k.9.1. 3. 2a: Time Interval between Last Dose of Drug
(number) Drug #2, Reaction #6 —> .
¢l-- ¢, k.9, 1. 3.2b: Time Interval between Last Dose of Drug
Drug #2, Reaction #i6 —>
{actReference classCode="0BS” moodCode="EVN">
¢id root="1f927283-10b6-4334-9d43-e925640fb18F" />
{/actReference>
{/outboundRelationshipl>
CoutboundRelationshipl typeCode="SAS$">
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/>
{!— G.%k.9.i.3. la: Time Interval between Beginning of Drug
Reaction / Event (number) Drug #2, Reaction #7 —>
{!— G.k.2.i.3.1b: Time Interval between Beginning of Drug
Drug #2, Reaction #7 —>
<actReference classCode="0BS" moodCode="EVN™>
id root="e0342969-38be-423f~b6bb-celdbc279d8e” />
{/actReference>
¢/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k 9.i.3.2b"/>
<l-- G.k.9.i.3.2a: Time Interval between Last Dose of Drug
(number) Drug #2, Reaction #7 —>
¢l— 6. k. 9.i.3.2b: Time Interval between Last Dose of Drug
(unit) Drug #2, Reaction #7 —>
<actReference classCode="0BS" moodCode="EVN™>
<id root="e0342969-38be-423f-b6bb-celdbc279d8e” />
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k. 9.i.3.1b"/>
(l— G.k.9.i.3.1a: Time Interval between Beginning of Drug
Reaction / Event {(number) Drug #2, Reaction #8 —>
¢l— G.k.9.1i.3,1b: Time Interval between Beginning of Drug
Reaction / Event {unit) Drug #2, Reaction £8 —>
<actReference classCode="0BS” moodCode="EVN">
<id root="al5he092-8070-426d-af04-6863263443e07/>
{/actReference>
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
(pauseQuantity value="10" unit="G.k.9.i.3.20"/>
¢!—— G.k.9.1.3.2a: Time Interval between Last Dose of Drug
(nuzmber) Drug #2, Reaction #8 —>
¢!— G.k.9.1.3.2b: Time Interval between Last Dose of Drug
{unit) Drug 2, Reaction #8 —>
<actReference ¢lassCode="0B5" moodCode="EVN™>
<id root="albhe092-8070-426d~af04-6863263443e0" />
</actReference>
{/outboundRelationshipl>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
<code code="6" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1.

(unit)

Reaction / Event (unit)

displayName="blinded"/>
<value xsi:type="BL" value="true"/>
{l—- 6.k.2.5: Investigational Product Blinded #2 —>
{/observation>

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

Administration and Start of

Administration and Start of

and Start of Reaction / Event

and Start of Reaction / Event

19" codeSystemVersion="1.1"



</outhoundRelationship2®
<outboundRelaticnship2 typeCode="COMP"> -
<{!-—— G. k. 4.1 : Dosage and Relevant Information (repeat as necessary) #2-1 —>
{substanceAdministration classCode="SBADM” moodCode="EVN™>
{textdG. k. 4. r. 8¢/text>
<I— G.k.4.r.8: Dosage Text #2-1 —>
{effectiveTime xsi:type="IVL_T5">
{low value="20090101"/>
{l— G.k.4.r.4: Date and Time of Start of Drug #2-1 —>
<high value="200901017/>
¢!— G.% 4.r.5: Date and Time of Last Administration #2-1 —>
effectiveTime>
{routeCode code="G.k. 4.r. 10.2b" codeSystem="2. 16.840.1.113883. 3.989. 2. 1. 1. 14"
codeSystenVersion="G. k. 4. r. 10. 2a™>
: <{I—— G.k. 4.1.10. 2a: Route of Administration TermID Version Date / Number £2-1 ——>
<l-= G.k. 4.1. 10. 2b: Route of Administration TermID #2-1 —>
{originalText>G. k. 4. r. 10. 1{/originalText>

<¢l— G.k.4.r.10. 1: Route of Administration (free text) H2-1 —p
{/routeCode>
{doseQuantity value="10" unit="G. k. 4.r. 1b"/>
{1~ G.k.4.r.1a Dose (number) #2-1 -->
¢!~ 6.k.4.r.1b: Dose {unit) #2-1 —>
{consumable typeCode="C5M">
{instance0fKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™
{lotNumberText>G. k. 4. r. 7</1lotNunberText>
¢l-- G.k.4.1.7: Batch / Lot Number #2-1 —>
¢/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseFora”

codeSystemVersion="G. k. 4. r. 9. 2a”>
{l=~ G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-1 —>
<!— 6.k 4.r.9.2b: Pharmaceutical Dose Form TermID #2-1 —>
{originalText>G. k. 4.r. 9. 1{/originalText>
¢!~= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-1 —->
{/formCoded
</kind0fProduct>
</instance0fKind>
{/consumable>

<inboundRelationship typeCode="REFR">
{cbservation classCode="0BS” moodCode="EVN"}>
{code code="28" codeSystem="2. 16. 840. 1. 113983. 3, 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.r, 11,2b" codeSystem="2.16.840. 1. 113883.3.989.2.1.1. 14"
codeSystemVersion="G. k. 4. 1. 11, 2a">
<|l— G.k.4.r.11. 2a: Parent Route of Administration TermIP Version Date / Number #2-1
—_—.
<{!=— G.k. 4.1.11. 2b: Parent Route of Administration TermID #2-1 ~=>
{originalText>G. k. 4. r. 11, 1</originalText> ]
{!— G.k.4.r.11.1: Parent Route of Administration (free text) #2-1 -->
{/value>
{/observation>
</inboundRelationship?
{/substanceAdministration>
{/outbountRelationship2>
{outboundRelationship2 typeCode="COMP™>
<l-~ G.k.4.1: Dosage and Relevant Information (repeat as necessary} §2-2 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. 1. 8¢/text>
<!— G.k 4.r.8: Dosage Text #2-2 —>
CeffectiveTime xsi:type="IVL_TS™>
{low value="20090101"/>
<!— G. k. 4.1.4: Date and Time of Start of Drug #2-2 —>
<width value="4" unit="G.k. 4.r.6b"/>
{l=- G.k.4.r.82: Duration of Drug Administration (number) #2-2 —->
<l—— G.k.4.r.6b: Duration of Drug Administration (unit} #2-2 —>
{/effectiveTime>
CrouteCode code="G.k.4.r.10.2b" codeSystem="2. 16. $40. 1. 113883. 3.989. 2.1. 1. 14"
codeSystemVersion="G. k. 4., 10, 2a”>



{!=— G.k.4.7. 10, 2a: Route of Administration TermID Version Date / Numher #2-2 -—>
<{!— G.k.4.r.10. 2b: Route of Administration TermID #2-2 —>
CoriginalText>G. k. 4. r. 10. 1<{/originalText>
<I— G.k.4.1.10. 1: Route of Administration {free text) #2-2 —>
{/routeCode>
{doseQuantity velue="10" unit="G.k. 4.r.1b"/>
<I— G.k.4.r. la Dose (number) #2-2 —>
{!— G.k.4.r. 1b: Dose {unit) #2-2 —>
{consumable typeCode="CSM™>
<instanceOfKind classCade="INST™>
{productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
{l= G.k.4.x. 7t Batch / Lot Number #2-2 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSysten="TBD-DoseForm™

codeSystenVersion="G. k. 4. r, 9. 2a”>
¢!— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2 -->
¢}— G.k.4.1.9.2b: Pharmaceutical Dose Form TeralD #2-2 ——>
{originalText>G. k. 4.r.9. 1<{/originalText>
{!— G.%.4.r, 9 1: Pharmaceutical Dose Form (free text) #2-2 —>
</formCode>
{/kindOfProduct>
{/instance0fKind>»
</consumable>

{inboundRelationship typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministratien”/>
{value xsi:type="CE” code="G.k.4.r. 11.2b" codeSystem="2. 16.840.1,113883.3,989.2.1.1.14"
codeSystemVersion="G. k. 4.1. 11, 2a™>
¢!— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-2
-2
{!— G.k. 4.r. 11. 2b: Parent Route of Administration TermID #2-2 —>
{originalText>G. k. 4. r. 11. ¥{/originalText>
<|=— G.k.4.r.11,1: Parent Route of Administration {(free text) #2-2 —>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
{/outboundRelationship2>
{outboundRelationship? typeCode="COMP™>
¢!~= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-3 —>
{substanceAdministration classCode="SBADM™ moodCode="EVN™>
{text?G. k. 4. 1. 8¢/text>
<!~ G.k.4.r.8: Dosage Text H2-3 —>
{effectiveTime xsi:type="IVL_TS$">
<width value="4" unit="G. k. 4. r.6b"/>
<I— G.k. 4.1, 6a: Duration of Drug Administration (number) #2-3 —>
¢l—— G6.k. 4. r.6b: Duration of Drug Administration (unit) #2-3 —>
<high value="200901017/>
¢{!— G.k.4.r.5: Date and Time of Last Administration #2-3 —>
{/effectiveTime>
<routeCode code="G.k. 4.r.10.2b" codeSystem="2. 16, 840, 1, 113883, 3,989, 2. 1, 1, 14"
codeSystemVersion="G. k. 4. r. 10. 22™>
<l— G. k. 4.r.10. 2a: Route of Administration TermID Version Date / Number #2-3 -->
¢l— G.k. 4.r.10.2b: Route of Administration TermID #2-3 —>
{originalText>G. k. 4. 1. 10. i{/originalText>
{!— G.k.4.r. 10. 1: Route of Administration (free text} #2-3 —>
{/routeCode>
{doseQuantity value="10" unit="G.k 4.r.1b"/>
<l=- G.k.4.1r.1a Pose {number) #2-3 -->
{1~ G. k. 4.1. 1b: Dose (unit) #2-3 —>
{consumable typeCode="CSM"> . .
<instance0OfKind classCode="INST >
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. T. 7¢/lotNumberText>
¢l— G.k.4.1.7: Batch / Lot Number #2-3 —>
¢/productInstancelnstance>



‘ <kind0fProduct classCode="MMAT" determinerCode="KIND">

{formCode code="G. k. 4.r.9.2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4. 1. 9. 2a">

<]— G.k.4.7.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3 —>
{1— G.k.4.1r.9.2b: Pharmaceutical Dose Form TermID #2-3 —>
<originalText>G. k. 4. r. 9. 1</originalText>
{]1— G.k.4.r.9 1: Pharmaceutical Dose Form (free text) #2-3 —=>

{/formCode>

¢/kind0fProduct>
{/instanceOfKind>
{/consumable>

{inboundRelationship typeCode="REFR™>
<ohservation classCode="0BS™ moodCode="EVN"™>
{code code="28" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1, 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”/>
<value xsi:type="CE” code="G.k.4.x.11.2b" codeSystem="2. 16. 840. 1. 113883.3.980. 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11, 2a™>

¢!— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number #2-3
—>
¢I-- G.k.4.1.11, 2b: Parent Route of Administration TermID #2-3 —>
CoriginalText>G. k. 4. r. 11. 1{/originalText>
¢!I— G.k.4.r.11. 1: Parent Route of Administration (free text) §2-3 -=>
{/value>
</observation>
</inboundRelationship>
{/substanceAdministration®
{/outboundRelationship2>
<outhoundRelationship2 typeCode="COMP™>
¢!~ G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-4 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. 1. 8{/text>
¢l— G.k.4.r.8: Dosage Text H2-4 —>
{effectiveTime Xsi:type="SXPR_TS™>
{comp xsi:types"PIVL_TS™>
{period value="10" unit="G.k.4.r.3"/>

{l— G.k.4.r.2: Number of Units in the Interval #2-4 —>
{l=- G.k.4.1.3: Definition of the Time Interval Unit #2-4 —>
</comp>

{comp xsi:type="IVL_TS" operator="A">
{low value="20000101"/>
<!— G.k.4.1.4: Date and Time of Start of Drug #2-4 —>
{/eomp> )
{/effectiveTime>
(routeCode code="G, k. 4.r, 10.2b" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystemVersion="G.k. 4. r. 10. 2a">
{d— G.k 4.1.10. 2a: Route of Administration TermID Version Date / Numbor #2~4 —>
<{}— G.k 4.r.10. 2b: Route of Administration TermID #2-4 -—>
<originalText>G. k. 4. r. 10. 1<{/original Text>
(4— G.k.4.r.10.1: Route of Administration (free text} H2-4 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.1.Ib7/>
¢l== G.k.4.r.la Dose (number) H2-4 -=>
{!— G.k.4.r.1b: Dose (unit) #2-4 —>
{consumable typeCode="CSM™>
{instance0fKind classCode="INST">
{productInstanceInstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText>G. k. 4. r. 7¢/lotNumberText>
{le- G. k.4.1.7: Batch / Lot Number #2-4 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCade="KIND">
(formCode code="G.k, 4.r.9, 2b" codeSystem="TBB-DoseForm”
codeSystenVersion="G. k. 4.r. 8. 2a">
{1== G. k.4.1.9. 2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4 —>
<1— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-4 —-->
{originalText>G. k. 4. r. 9. 1</original Text>
{l== 6.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-4 —>
¢/formCode>
</kindOfProduct>
{/instance0fKind>



{/consumable>
<inboundRelationship typeCode="REFR™>
Cobservation classCode="0BS" moodCode="EVN">
<code code="28" codeSystem="2. 16.840. 1. 113883, 3.989. 2.1, 1. 19" codeSystemVersion="1,1"
displayName="parentRouteOfAdministration”/>
Cvalue xsi:type="CE” code="G.k.4.1.11.2b" codeSystem="2. 16, 840. 1, 113883, 3,980.2.1.1. 14"
-codeSystemVersion="G. k. 4. r. 11. 2a™>
<l-- G.k.4.r.11,2a: Parent Route of Administration TermID Version Date / Number #2-4
—>
¢l— G.k.4.r.11.2b: Parent Route of Administration TermlID #2-4 —>
<originalText>G. k. 4. 1. 11. 1¢{/originalText>
¢{l— G, k. 4.r,11,1: Parent Route of Administration {free text) #2-4 —>
{/value>
{/observation?
¢/inboundRelationship>
{/substanceAdministration>
¢/vuthoundRelationship2>
{outboundRelationship? typeCode="COMP™>
¢!-~ G.k.4.r: Dosage and Relevant Information (repeat as necessary} #2-5 —>
<substanceAdministration elassCode="SBADM" moodCode="EVN™>
{text>G. k. 4. r. B{/text>
¢!— G.k.4.r.8: Dosage Text #2-5 —>
{effectiveTime xsi:type="SXPR_T5">
{comp xsi:type="PIVL_TS™
{period value="10" unit="G.k.4.r.3"/>

{1— G.k 4.r.2: Number of Units in the Interval #2-5 —>
I G.k.4.1.3: Definition of the Time Interval Unit #2-5 ——>
</comp>

<conmp xsi:type="IVL_TS™ operator="a">
<high value="200901017/>
{l— G.k.4.1.5: Date and Time of Last Administration #2-5 —>
</comp>
{feffectiveTime>
{routeCode code="G.k. 4. r.10.2b" codeSysten="2. 16, 840. 1. 113883, 3.989. 2. 1. 1. 147
codeSystemVersion="G. k. 4. r. 10. 2a™> :
¢{l=- G.k.4.r.10. 2a: Route of Admwinistration TermiD Version Date / Number H2-5 -->
¢]— G,k.4.r.10. 2b: Route of Administration TermID #2-5 —>
{originalText>G. k. 4. r. 10. 1<{/originalText>
¢l-- G.k.4.r.10. 1: Route of Administration (free text) #2-5 —>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4.1.1b"/>
(!~= G.k.4.r. la Dose (number) #2-5 —>
¢l G.k.4.1. 1b: Pose (unit) H2-5 —>
{consumable typeCode="CSM™>
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
¢|— G.k.4.1.7: Batch / Lot Number #2-5 —>
</productInstanceInstance>
{kindOfProduct classCode="MMAT" determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseForm”™
codeSystemVersion="G. k. 4.r. 9. 2a">

<l— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-5 —
{l=— G.k.4.1.9.2b: Pharmaceutical Dose Form TermlD #2-5 —>
CoriginalText>G. k. 4. r. 9. 1<{/originalText>
<!— G.k.4.r.9.1: Pharmaceutical Dose Forn (free text) #2-5 —>
{/formCode>
{/kind0fProduct>
{/instance0fKind>
{/consumable>

<inboundRelationship typeCode="REFR™>
{observation classCode="0BS” moodCode="EVN">
- Ccode code="28" codeSystem="2. 16. 840, 1, 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”™/>
Cvalue xsiitype="CE" code="G.k.4.r.1l. 2b" codeSystem="2.16.840. 1. 113883, 3.989.2.1. 1. 14"

codeSystemVersion="G. k. 4.r. 11.2a™>

<!~ G.k.4.r.1). 2a: Parent Route of Administration TermID Version Date / Number #2-5
__> N

{l— G.k.4.r.11. 2b: Parent Route of Administration TermlID #2-5 —>



{originalText>G. k. 4. r. 11, 1{/original Text>
<|— G.k.4.r.11.1: Parent Route of Administration (free text) #2-5 —>
{/value>
{/observation®
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outhoundRelationship2 typeCode="COMP*>
{!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-6 —>
{substanceAdministration classCode="SBADM" moodCode="EVN">
C(text>G. k. 4. r. B{/text>
¢l G.k.4.1.8: Dosage Text #2-6 —>
{effectiveTime xsi:type="SXPR_TS™>
{comp xsi:type="PIVL_TS">
<period value="10" unit="G.k.4.1.3"/>
{l— G.k.4.r.2: Number of Units in the Interval #2-6 -->
¢l=- G.k.4.1.3: Definition of the Time Interval Unit #2-6 —>

</comp>
<comp xsi:type="IVL_TS" operator="A">
{width value="4" unit="G.k. 4.r.6b"/>
¢l— G.k.4.r. 6a: Duration of Drug Administration (number) ¥2-6 —>
{l— G.k.4.r.6b: Duration of Drug Administration {unit) #2-§ -->
</comp> '
{/effectiveTime>
{routeCode code="G. k. 4. 1. 10.2b" codeSystem="2. 6. 840. 1. 113883. 3. 989. 2. 1. 1. 14"
codeSystenVersion="G. k. 4.r. 10, 2a™>
<l— G.k 4.r.10. 2a: Route of Administration TermID Version Date / Number #2-6 —
¢<!— G.k.4.r. 10, 2b: Route of Administration TermID #2-6 ——>
<originalText>G. k. 4. r. 10, 1{/originalText>
¢!== G.k. 4.1.10. I* Route of Administration (free text) #2-6 —>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4. r.1b" />
¢!— G.k.4.r. Ia Dose (number) #2-6 -=>
{l— G.k.4.r.1b: Dose {unit) #2-6 —>
<consumable typeCode="CSM™>
{instance0fKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7{/lotNumbexrText>
<{!— G.k. 4.r.7: Batch / Lot Number #2-6 —=>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
{formCode code="G.k.4.r.9, 2b" codeSystem="TBD-DoseForm”™
codeSystemVersion="G. k. 4.r. 9. 2a">
<!— G, k. 4,79, 2a: Pharmaceutical Dose Form TermID Version Pate / Number #2-6 —>
{l~— G.k.4.r.9.2b: Pharmaceutical lose Form TermID #2-6 -->
{originalText>G. k. 4. r. 9. 1{/original Text>
¢<l— G.k.4.r.9,1: Pharmaceutical Dose Form (free text) #2-6 —>
¢/fornCode>
</kind0fProduct>
{/instance0fKind>
{/consumable>
{inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN">
: {code code="28" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="}, 1"
displayName="parentRoute0fAdministration™/>
<value xsiitype="CE” code="G.k.4.r.11.2b" codeSystem="2. 16, 840. 1. 113883.3.989.2. 1. 1. 14"
codeSystenVersion="G. k. 4.r. 11.2a™>
{l== G.k.4.r.11. 2a: Parent Route of Administration’ TermID Version Date / Number #2-6
—_>
¢!-- G.k.4.1.11. 2b: Parent Route of Administration TermID #2-6 —>
<originalText>G. k. 4. r, 11, 1</originalTexi>
¢!— G.k.4.r.1L.1: Parent Route of Administration (free text) #2-6 —»
{/value> ’
</observation>
{/inboundRelationship>
{/substanceAdministration
</outhoundRelationship2>
{outboundRelationship2 typeCode="COMP">
{l== G.k.4.r: Dosage and Relevant Information {repeat as necessary) #2-7 —>



{substanceAdministration classCode="SBADM™ moodCode="EVN™>
{text>G. k. 4. 1. 8¢/text>
{l— 6.k 4.r. 8: Dosage Text #2-7 -
{effectiveTime xsi:type="PIVL_TS™>
<period value="10" unit="G. k. 4.r.3"/>

<!— G.k.4.r.2: Number of Units in the Interval #2-7 —>
¢l G.k.4.r.3: Definition of the Time Interval Unit #2-7 —->
{/effectiveTime>

<routeCode code="G. k. 4.r.10. 26" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 147
codeSystemVersion="G. k. 4. r. 10, 2a™>
<!— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-7 —>
<!— G.k.4.r. 10, 2b: Route of Administration TermID #2-7 —>
<originalText>G. k. 4. r. 10. 1{/original Text>
<!— G.k.4.7.10.1: Route of Administration (free text) #2-7 -->
{/routeCoded>
{doseQuantity value="10" unit="G. k. 4.r. 1b"/">
{1—- G,k.4.r, 1a Dose (number) #2-7 —>
<I— G.k.4.r.1b: Dose (unit) #2-7 —
<constmable typeCode="CSM™>
<instance0fKind classCode="INST™>
(productInstanceInstance classCode="MMAT® determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
{]— G.k.4.r.7: Batch / Lot Number #2-7 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT™ determinerCode="KIND">
{formCode code="G. k. 4.r.%. 2b" codeSystem="TBD-DoseForm”
codeSystemVersion="G. k. 4.1.9.2a">

{!— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-7 —>
¢!— G.k. 4.1, 9.2b: Pharmaceutical Dose Form TermID #2-7 —>
<originalText>G. k. 4. r. 9. 1</originalText>
¢!~ G.k.4.r.9.1: Pharmaceutical Dose Form {(free text) #2-7 —=>
{/TormCode>
</kind0fProduct>
¢/instance0fKind>
{/consumable>

{inboundRelationship typeCode="REFR™>
<observation classCode="0BS” moodCade="EVN">
<code code="28" codeSystem="2.16. 840. 1. 113883, 3. 980. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdministration”/>
<value xsi:type="CE" code="G.k.4.r.11.2b" codeSystem="2. 16, 840. 1. 113883.3.989.2.1. 1, 14"
codeSystemVersion="6. k. 4. r. 11. 2a™> ‘
¢l— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Number #2-7
—>
<!~ G.k.4.1.11.2b: Parent Route of Administration TermID #2-7 —>
<originalText>G. k. 4 r. 11. 1¢{/originalText>
<!— G.k.4.r.11. 1: Parent Route of Administration (free text) #2-7 —>
{/value>
</observation>
</inboundRelaticnship?
{/substanceAdministration>
</outboundRelationship2>
CouthoundRelationship2 typeCode="COMP™>»
<!— G.k.4.r: Dosage and Relevant Information (repeat as necessary) H2-8 —>
{substanceAdministration classCede="SBADM" moodCode="EVN">
{text>G, k. 4. . B</text> .
¢l G.k.4.1.8: Dosage Text #2-8 —>
CeffectiveTime xsi:type="IVL_TS™>
{low value="20090101"/>
¢l— G.k.4.1. 4! Date and Time of Start of Prug §2-8 —>
{/effectiveTime> ‘
<routeCode code="G.k.4.r. 10.2b" codeSystem="2. 16, 840. 1. 113883. 3. 989. 2, 1. 1, 14"
codeSystemVersion="G. k. 4. r. 10. 2a”>
<= G.k.4.1.10. 23: Route of Administration TermID Version Date / Number #2-8 —>
<l— G.k.4.1.10.2b: Route of Administration TermID #2-8 —> '
<originalText>G. k. 4. r. 10, 1</originalText>
<!— G.k.4.r.10.1: Route of Administration (free text) #2-8 —>
{/routeCode>
<doseQuantity value="10" unit="G.k. 4.r.1b"/>
¢{l— 6.k.4.r. 1a Dose {(number) #2-8 ~->



¢!— G.k. 4.1.1b: Dose (unit) #2-8 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<l—- G.k.4r.7: Batch / Lot Number #2-8 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">

{formCode code="C. k. 4.r.9.2b" codeSysten="TBD-DoseForm”
codeSystenVersion="G. k. 4.r. 9. 2a™>
<l— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8 —>
<i=— G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-§ ——>
<originalText>G. k. 4. r. 9. 1</originalText>
{!— G.k. 4.1.9.1: Pharmaceutical Dose Form (free text} H2-8 —>
</formCode>
</kindCiProduct>
</instanceOfKind>
{/consumable>

{inboundRelationship typeCode="REFR™>
<observation ¢lassCode="0BS" moodCode="EVN™>
{code code="28" codeSystem="2.18, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRouteOfddministration”/>
<value xsi’type="CE" code="G.k. 4.1.11.2b" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 14"
codeSystenVersion="G. k. 4.r. 11. 2a">
<= G.k.4.1.11.2a: Parent Route of Administration TermID Version Date / Number #2-8
-2
<!— G.k.4.r. 11 2b: Parent Route of Administration TernID #2-8 —>
CoriginalText)G. k. 4.r, 11, 1{/originalText>
{l— G.k.4.7.11. 1! Parent Route of Administration (free text} #2-8 —>
</value>
{/observation>
{/inboundRelationship>
{/substanceAdministration>
. {/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢!-~ 6.k.4.1: Dosage and Relevant Information (repeat as necessary} §2-9 —
<substanceAdministration classCode="SBADM” moodCode="EVN™»
{text>G. k. 4. r. 8</text>
<l== G.k.4.r.B: Dosage Text #2-9 —>
CeffectiveTime xsi:type="IVL_TS™>
<high value="200901017/>
<)== G.k.4.7.5: Date and Time of Last Administration #2-9 —>
{/effectiveTime?
{routeCode code="G.k. 4.r.10.2b" codeSysten="2.16.840. 1. 113883. 3. 989. 2. 1.1. 14"
codeSystemVersion="G. k. 4. r. 10. 22"> !
<|— G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #2-9 -->
{I— G.k.4.r.10.2b: Route of Administration TermID #2-9 —>
<originalText>G. k. 4, r. 10. 1<{/originalText>
<!— G.k.4.r.10. 17 Route of Administration {free text} #2-9 —>
<{/routeCode>
{doseQuantity value="10" unit="G.k.4.r. 10"/
<I— G. k. 4.1. 1a Dose (number) #2-9 —>
¢1— G.k.4.r.1b: Dose {unit) #2-9 —>
<consumable typeCode="CSM">
<instance0fKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7</lotNumberText>
<{1— G.k.4.r.7: Batch / Lot Number #2-9 —>
{/productlnstanceInstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND™>

{formCode code="G.k.4.r.9.2b" codeSysten="TBD-DoseForm”
codeSystemVersion="G. k. 4.r. 9. 2a">

<l—= G.k.4.1.9.2a: Pharmaceutical Dose Form TernID Version Date / Number #2-3 —>
<= G.k.4.7.9.2b: Pharmaceutical Dose Form TermID #2-9 -->
{originalText>G. k. 4. r. 9. 1</originalText>
<{}— G.k.4.r.9. 1: Pharmaceutical Dose Form (free text) #2-9 —>

{/formCode>

</kind0fProduct>

</instance0fKind>



</consumable>
<inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="EVN™>
{code code="28" codeSystem="2. 16. 840, 1. 113883, 3.989.2.1.1.18" codeSystemVars1on— 1.17
displayName= parentRuuteOfAdm1n1strat10n />
<value xsi:type="CE” code="G.k.4.r. 11.2b" codeSystem="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4.1, 11, 2a">
¢!— G.k.4.r.11.2a: Parent Route of Administration TexrnID Version Date / Number #2-9
-
{l— G. k. 4.r. 11, 2b: Parent Route of Administration TermID #2-9 -=>
<originalText>G. k. 4. r. 11. I</originalText
¢l— G.k.4.r.11.1: Parent Route of Administration (free text) #2-9 —>
{/value?
{/observation>
¢/inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
¢!-~ 6.k 4.r: Dosage and Relevant Information (repeat as necessary) #2-10 —>
{substanceAdninistration classCode="SBADM" moodCode="EVN">
{text>G. k. 4. 1. 8</text>
¢l G.k.4.r.8: Dosage Text #2-10 —>
(effectiveTime xsi:itype="IVL_TS">
<width value="4" unit="G. k. 4.r. 6b"/>
¢l== G.k 4.r.6a: Duration of Drug Administration (number) #2-10 —>
¢]— G.k. 4.r.6b: Duration of Drug Administration (unit) #2-10 -
{/effectiveTime>
¢routeCode code="G. k. 4. r. 10. 2b” codeSystem="2. 16. 840, 1. 113883. 3,989, 2. 1.1, 147
codeSystemYersion="G. k. 4. r. 10.2a™>
¢l— G.k 4.1.10, 2a: Route of Administration TermID Version Date / Number #2-10 —>
<I-- 6.k 4.r. 10. 2b: Route of Administration TermID #2-10 —>
CoriginalText>G. k. 4. r. 10, 1<{/originalText>
<l— G.k. 4.r. 10, 1: Route of Administration (free text) #2-10 sy
{/routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{!— G.k.4.r.1a Dose {number) #2-10 -->
¢(t== G. k. 4.r. 1b: Dose (unit) #2-10 -->
<consumable typeCode="CSM">
¢instance0fKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNumberText>G. k. 4. r. 7{/lotNumberText>
<!— G.k.4.xr. 7 Batch / Lot Number #2-10 —>
{/productInstancelnstance>
<kindOfProduct classCode="MMAT" determinerCode="KIND">
<formCode code="G.k.4.r.9.2h" codeSysten="TED-DoseForm”

codeSystenVersion="G.k. 4.r. 9. 2a™>
¢!— G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-10 —>
¢I-- G. k. 4.7.9.2b: Pharmaceutical Dose Form TermID #2-10 —>
{originalText>G. k. 4. r. 9. 1{/originalText>
¢l== G.k.4.r.9. 1! Pharmaceutical Dose Form (free text) #2-10 —>
</formCode>
{/kind0fProduct>
</instance0fKind>
¢/consumable>

¢inboundRelationship typeCode="REFR™>
<observation classCode="0BS” moodCode="EVN™>
{code code="28" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1 1. 19" codeSystemVersion="1. 1%
displayName="parentRouteOfAdninistration”/>
¢value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 11. 2a™>
¢<l— 6.k.4.1.11, 2a: Parent Route of Administration TermID Version Date / Number H2-10
—>
¢]— G.k.4.r.11.2b: Parent Route of Administration TermID §2-10 —>
CoriginalText>G. k. 4.r. 11. 1{/originalText>
¢!— G.k.4.r.11. 1: Parent Route of Administration (free text) §2-10 —>
</value>
{/observation?
{/inboundRelationship>
{/substanceAdministration>



{/outboundRelationship2>
<outhoundRelationship2 typeCode="SUMM">
<observation classCode="0B3" moodCode="EVN™>
{code code="14" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="cumulativeDoseToReaction™/>
{value xsi:type="PQ" value="10" unit="G.k.5b"/>
{!— G.k 5a: Cumulative Dose to First Reaction (numher} #2 —>
<I— G.k.5b: Cumulative Dose to First Reaction (unit) #2 —>
{/cbservation>
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT*>
{code code="16" codeSystem="2.16. 840, 1. 113883, 3. 989.2. 1. 1. 19" codeSystemVersion="1.1"
displayName="gestationPeriod” />
{value xsi:type="PQ" value="10" unit="G.k.&6b"/>
{!— G.k.6a: Gestation Period at Time of Exposure (number) #2 —>
{!— G.k.6b: Gestation Period at Time of Exposure (unit} #2 ——>

{/observation>
</outhoundRelationship2>
<outhoundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN"™>
{code code="31" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystemVersion="1. 1~
displayName="recurranceOfReaction”/>
{value xXsi:type="CE" code="G.k.9.i.4" codeSystem="2.16.840. 1. 113883. 3,989 2. 1. 1. 16"
codeSystemVersion="1, 0"/> ‘
¢!— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #1 —>
<outboundRelationshipl typeCode="REFR™>
<actReference classCode="(0BS" moodCode="EVN">
<id root="154eb889-958b-4572-a02f-42d4d61465T" />
{/actReference>
{/outboundRelationshipl>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN">
{code code="31" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="recurranceOfReaction”/>
{value xsi:type="CE” code="G.k.9.1i.4" codeSystem="2.16. 840. 1. 113883.3.989.2.1. 1. 16"
codeSystemVersion="1. 0"/> ’
<{!— G.k.9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction #2 -~
{outboundRelationshipl typeCode="REFR™>
<actReference classCode="0BS” maodCode="BVN">
{id reot="2baa28d6~cYe8~-4e6c-93e9-5b860b314220" />
</actReference>
</outboundRelationshipl>
{/observation>
{/outboundRelationship2>
<outhoundRelationship2 typeCode="REFR™>
{ohservation classCode="0BS" moodCode="EVN">
{code code="9" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 18" codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
{value xsi:type="CE" code="G.k. 10.r" codeSystem="2, 16, 840. 1. 113883.3.589.2.1. 1. 17"
codeSystemVersion="1.0"/>
<!— 6.k 10, r: Additional Information on Drug (coded){repeat as necessary) #2-1 —>
</observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR™>
Cobservation classCode="0BS" maodCode="EVN")>
{code code="9" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="codedBrugInformation”/>
{value xsitype= CE" code="5. k. 10.1" codeSystem="2. 16.840.1.113853.3.989.2. 1.1, 17"
codeSystemVersion="1. 0"/>
{I— G.k. 10.r! Additional Information on Drug {coded) (repeat as mecessary) #2-2 -->
{/observation»
</outboundRelationship2>
{outhoundRelationship2 typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystenVersion="1. 1"
displayName="additionalInformation”/>



{value xsi:type="ST >G.k, 11</value
¢l== G.k 11: Additional Information on Prug (free text) #2 —>
¢/observation>
</outboundRelationship2>
{inboundRelationship typeCode="RSON™>
Cobservation classCode="0BS" moodCode="EVN">
{code code="19" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="indication”/>
¢value xsiitype="CE* code="G.k.7.r.2b" codeSystem="2. 16.840. 1. 113883. 6, 163"
codeSystemVersion="6. k. 7. 1. 2a™>
<l~- G.k.7.r. 2a: MedDRA Version for Indication #2-1 —>
{l— G. k. 7.r.2b! Indication (MedDRA code} #2-1 —>
<originalText>G. k. 7. r. 1<{/originalText>
¢lew G. % 7.r.1: Indication as Reported by the Primary Source #2-1 —>
</value>
{performer typeCode="PRF">
<assignedEntity classCode="ASSIGNED™>
{code code="3" codeSysten="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 217 codeSystemVersion="1.0"
displayName="sourceReporter”/>
¢/assignedEntity>
{/performer>
{/observation>
{/inboundRelationship>
¢inboundRelationship typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
<code code="19" codeSystem="2. 16. 840. 1. 113883. 3. 989, 2, 1 L. 19" codeSystenVersion="1.1"
displayName="indication”/>
<value xsiitype="CE" code="G.k.7.r.2b" codeSystem="2. 16. 840. I, 113883, 6. 163~
codeSystemVersion="G. k. 7.r. 2a™>
¢!— G.k.7.r.2a: MedDRA Version for Indication #2-2 —>
<I-- G.k. 7.7.2b: Indication (MedDRA code) #2-2 —=>
{originalText>G. k. 7. r. 1{/originalText>
¢{!— G.k.7.r.1: Indication as Reported by the Primary Source #2-2 —>
{/value> .
{performer typeCode="FRF")
{assignedBntity classCode="ASSIGNED">
<code code="3" codeSystem="2. 16. 840, 1, 113883.3.988.2. 1. 1. 21" codeSystemVersion="1.0"
displayName="sourceReporter”/>
</assignedEntity>
{/performer>
{/observation>
¢/inboundRelationship>
<inboundRelationship typeCode="CAUS™>
{act classCode="ACT" moodCode="EVN">
<code code="G.k.8" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 15" codeSystemVersion="1.0"/>
d— G.k.8: Action(s) Taken with Drug #2 —>
{/act>
¢/inboundRelationship>
{/substanceAdministration>
¢/component>
{/organizer>
{/subject0f2>
{subject0f2 typeCode="SBJ">
{organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3, 989. 5, 1. 3. 2. 1. 11" codeSystemVersion="1.0"
displayName="T4BeDIEE"/>
{component typeCode="COMP™>
{observation classCode="0BS” moodCode="EVN™>
Ccode code="7" codeSystem="2. 16.840. 1, 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemYersion="1,0"
displayName="/B HE¥" />
<value xsi:type="INT" value="1"/>
<l-- @88J2.13.x, 1: FRHBI%E #1 >
{/ocbservation>
</component>
{component typeCode="COMP™>
<observation c¢lassCode="0BS" moodCode="EVN™>
{code code="8" codeSystem="2. 16.840. 1. 113883. 2. 989. 5. 1. 3. 2.1, 10" codeSystemVersion="1.0"
displayName="%f&FEB"/>
{value xsi:type="ED">J2.13.r.2¢/value>



<I— 88072, 13.r.2: HPES 41 >
{/observation>
</component>
{component typeCode="COMP">
<observation tlassCode="0BS” moodCode="EVN™>
{code code="9" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3.2. 1. 10" codeSystemVerslon— 1.o"
displayName="BA%640"/>
{value xsi:type="CE" code="J2.13,r.3" codeSystem="2. 16. 840, 1. 113883.3.989.5. 1. 3. 2. 1. 7"
codeSystemVersion="1.0"/>
<!— @@ajz,13.r.3: M3EA #1 —
{fobservation®
{/ooponent>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="EVN™>
{code code="10" codeSystew="2. 16.840. 1. 113883. 3. 989.5. 1.3.2. 1. 10" codeSystemVersion="1.0"
displayName="{& 3R DIEFDHE"/>

{value xsi:type="BL" value="true"/>

{I--88E)Z2. 13.1. 4 BEPOEFOFE #1l —
{/observation>
{/component>
{/orgenizer>
{/subjectOf2>
{subject0f2 typeCode="5B]">
{organizer classCode="CATEGORY" moodCode="EVN">
{code code="1" codeSystem="2. 16.840. 1. 113883. 3.989.5.1.3.2. 1. 11" codeSystenVersion="1. 0"
displayName="{$kDIREE" />
{component typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN">
<eode code="7" codeSystem="2. 16.840. 1. 113883, 3,989, 5, 1.3.2. 1. 10" codeSystemVersion="1. 0"
displayName="/&@ H[EI¥" />
<value xsi:type="INT" value="1"/>
{i-— E8BJZ. 13.r. I BRHIES 42 —>
{/observation>
</component>
{component typeCode="COMP*>
{observation classCode="0BS" moodCode="EVN™>
{code code="8" codeSystem="2, 16, §40. 1. 113883. 3. 989, 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="X& B />
<value xsi'type="ED">J2. 13.r.2¢</value}
<!-- 828J2.13.1. 2: R&BER #2 —>
{/observation>
{/component>
{component typeCode="COMP"> .
{observation classCode="0BS" moadCode="EVN">
. <code code="9" codeSystem="2, 16, 840. 1. 113883. 3. 989. 5. 1, 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="BBF¥8"/>
<value xsi:type="CE” code="J2.13.r.3" codeSystem="2.16.840. 1.113883.3.989.5.1.3.2. 1. 7"
codeSystemVersion="1. 0" />
<!— 808J2. 13.r.3: BEZAA #2 —
{/observation>
{/component>
<component typeCode="COMP™>
{observation classCode="0BS" moodCade="EVN™>
{code code="10" codeSystem="2.16.840. 1. 113883.3,989,5.1,3.2. 1. 10" codeSystemVersion="1.0"
displayName="3EPRDEFIOHE" />
<value xsi:type="BL" value="false”/>
<l— 888J2.13.r. 4: BREFOEMNOHE #2 -
{/observation>
{/component>
</organizer>
{/subject0f2>
{/primaryRole>
{/subjectl>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="20" codeSystem="2. 16. 840, 1. 113583. 3. 989. 2. 1. 1. 19" codeSystemVer51on— .17
displayName="interventionCharacterization™/> .
{value xsi:type="CE” code="G.k.1” codeSystem="2. 16. 840. 1. 113883. 3.98%.2.1. 1. 13"
codeSystemVersion="1.0"/> .



<I-= G.% 1: Characterisation of Drug Role Drug #1 —>
{subject2 typeCode="SUB]">
<productUseReference classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0ef9%e4"™ />
¢/productUseReference>
¢/subject2>
¢/causalityAssessment>
{/component?
{component typeCode="COMP">
<causalityAssessment classCode="0BS” moodCode="EVN"™>
{code code="20" codeSystem="2. 16, 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="interventionCharacterization”/>
<value xsi:type="CE" code="G.k.1" codeSystem="2. 16. 840, 1. 113883.3.988.2.1. 1. 137
codeSystemVersion="1.0"/>
¢!-— G.k. 1: Characterisation of Drug Role Drug #2 -->
{subject2 typeCode="SUBJ">
{productUseReference classCode="SBADM" moodCode="EVN">
<id root="68d6f5ce~3b3b-45c7-92dd-69e06730c3a9” />
{/productlUseReference>
</subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP">
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="39" codeSystem="2. 16.840. 1. 113883. 3.989.2. 1. 1, 19" codeSystemVersion="1.17
displayName="causality”/>
<value xsiltype="S$T">G.%k.9.1i.2 r.3</value>
¢!— G.k.9.i.2.r. 3: Result of Assessment Drug #1, Reaction #1, Assessment #1 —>
{methodCode>
CoriginalText>G. k. 9. i. 2. r. 2<¢/original Text>
{l— 6.k 9.1.2.r.2: Method of Assessment Drug #1, Reaction #l, Assessment #1 —>
{/methodCode>
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
<code>
CoriginalText>G. k. 9. i. 2. r. 1<{/originalText>
¢l== G. k. 9.1.2. 1. 1! Source of Assessment Drug #1, Reaction #1, Assessment #1 —>
</code>
{/assignedEntity>
</author?
{subject] typeCode="SUBJ]™>
{adverseEffectReference classCode="0BS" moodCode="EVN™>
<id root="154eb889-958b~4512-a02f-42d4d6£4657£"/>
{/adverseEffectReference>
{/subject1d>
{subject? typeCode="SUBJ">
{productlUseReference classCode="5BADM" moodCode="EVN">
<id root="3c91b4d5-e039-4a7a~9c30-67671b0ef9%ed”/>
</productUseReference>
{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP">»
{causalityAssessment classCode="0BS™ moodCode="EVN™> i
{code code="39" codeSystem="2. 16. §40. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1,17
displayName="causality”/>

<value xsi:type="ST">G.k.9.1i.2.r. 3¢/value>
<!—G. k. 9.1.2.r.3: Result of Assessment Drug #1, Reaction #2, Assessment #1 —>
{methodCode>

{originalText>G. k. 9.1. 2. r. 2</originalText>
G, k. 9. 1. 2.r. 2: Method of Assessment Drug #l, Reaction #2, Assessment 1 —
{/methedCode>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
{code>
<originalText>G. k. 9. 1. 2. r. 1</originalText>
{l-- G.k.9.1.2.r.1: Source of Assessment Drug #1, Reaction #2, Assessment #1 ——>
</code>
{/assignedEntity>



{/author>
{subjectl typeCode="SUBJ™>
<adverseEffectReference classCode="0BS” moodCode="EVN™>
<id root="2Zbaa28d6-cYe8-4ebc-93e9-5bB6OBI14220" />
{/adverseEffectReference’
{/subjectl>
{subject? typeCode="SUB]">
{productUseReference classCode="SBADM” moodCode="EVN™>
{id root="3c91b4d5-2039-4a7a~9c3I0-67671bDefTed" />
{/productUseReference>
{/subject2>
{/causalityAssessment>
{/component>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS" moodCode="EVN">
{code code="39" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="causality”/>

<value xsi:type="ST">G.k.9. 1. 2.r. 3</value>

{1-—G. k. 9.1.2.r. 3: Result of Assessment Drug #2, hunm#ZAﬂwmmtm-ﬁ
<methodCode>

<originalText>G. k. 9. 1. 2. r. 2{/originalText}

{1-G.k.9.i.2. 1. 2! Method of Assessment Drug #2, Reaction #2, Assessment #1 -=>
{/methodCode>

<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
{code?
{originalText>G. k. 9. 1. 2. 1. 1{/originalText>
{l== G.k.9.i.2.r.1: Source of Assessment Drug #2, Reaction #2, Assessment #1 —)
{/coded>
{/assignedEntity>
{/author>
{subjectl typeCode="SUBJ">
{adverseEffectReference classCode="0BS™ moodCode="EVN">
<id root="2haa28d6-c9e8-4e6c-93e9-5b860b3 142207 />
<{/adverseEffectReference>
{/subjectl>
{subject2 typeCode="SIB]">
<{productlUseReference classCode="SBADM" moodCode="EVN">
<id root="68d6f5ce~3b3b-45c7-92dd-69e06730c3a0" />
{/praductUseReference>
</subject2>
{/causalityAssessment>
{/compenent>
{component typeCode="COMP™>
{causalityAssessment classCode="0BS" moodCode="EVN">
{code code="38" codeSystem="2, 16. 840, 1, 113883, 3. 989. 2, 1. L. 19" codeSystemVersion="1.1"
displayName="causality”/>
{value xsi:type="ST">G. %k 9.1.2.r.3¢/ value>
¢!--G.k.9.1.2.r. 3: Result of Assessment Brug &2, Reaction #2, Assessment #2 -->
{methodCoded
{originalText>G. k. 9. i. 2. r. 2/original Text>
{1—G.%. 9.i.2.r. 21 Method of Assessment Drug H2, Reaction #2, Assessment #2 —>
{/methodCode>
<author typeCode="AUT>
<assignedEntity classCode="ASSIGNED">
{code>
{originalText>G. k. 9. i. 2. r. 1</originalText>
d— Gk 9.i.2.x. 1: Source of Assessment Drug #2, Reaction #2, Assessment #2 —>
{/cade>
{/assignedEntity>
fauthor>
{subjectl typeCode="SUBJ">
{adverseEffectReference classCode="0BS" moodCode="EVN™>
{id root="2baa28d6-c9e8-4e6c-93e9~5b860b314220%/>
{/adverseEffectReference
{/subjectl>
<subject2 typeCode="SUBJ">
{preoductlseReference classCode="SBADM" moodCode="EVN">
<id root="68d6f5ce-3b3b—45c7-92dd-69e06730c3a9"/>



</productUseReference>
¢/subject2>
{/causalityAssessment>
</component>
{componentl typeCode="COMP">
{observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.17
displayName="comment” /> ‘
{value xsi:type="ED">H. 2<{/value>
¢l— H.2: Reporter’s Comments —>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
{code code="3" codeSystem="2. 16.840. 1. 113883, 3,989. 2. 1. 1. 21" codeSystemVersion="1. 0"
displayName="sourceReporter”/>
{/assignedEntity>
{/authar>
{/observationEvent>
{/conponent1>
{componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN">
{code code="15" codeSystem="2, 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="diagnosis”/>
<value xsi:type="CE” code="H.3.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="H. 3. r. 1a"/>
¢!-- 1. 3.r. la: MedDRA Version for Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #1 —> ‘
¢{!-— H.3.r. 1b: Sender's Diagnosis / Syndrome and / or Reclassification of Reaction / Event {(MedDRA
code) #1 —>
<author typeCode="AUT™>
{assignhedEntity c¢lassCode="ASSIGNED™>
<code code="1" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="sender”/>
{/assignedEntity>
{/author>
{/ohservationEvent>
{/component1>
{componentl typeCode="COMP">
<observationEvent classCode="0BS” moodCode="EVN™>
<code code="15" codeSystem="2. 1. B40. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="diagnosis™/>
¢value xsiitype="CE” code="H.3.r.1b" codeSystem="2. 16. 840. 1. 113883. 6. 163"
codeSystemVersion="H. 3. . 1a"/>
<]-- H.3.1. 1a: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction /
Event #2 —>
<l— H.3.r.1b: Sender's Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code) #2 —>
{author typeCode="AUT™>
CassignedEntity classCode="ASSIGNED")>
{code code="1" codeSysten="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 21” codeSystemVersion="1. 0"
displayName="sender”/>
{/assignedEntity>
{/author>
</chservaticonEvent>
{/component1>
{component] typeCode="COMP">
<observationEvent classCode="0BS" maodCode="EVN">
<code code="10" codeSystem="2. 16. 840, 1. 113883, 3. 589. 2. 1. 1. 19”7 codeSystemVersion="1.1"7
displayName="comment”/>
{value xsi:type="ED">H. 4</value>
<!—— H.4: Sender’s Comments —>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
<code code="1" codeSystem="2. 16. 840. 1. 113883, 3,989, 2,1, 1, 21" codeSystemVersion="1, 0
displayName="sender”/>
{/assignedEntity>
{/author>
¢/observationEvent>
{/componentl>
{compenent] typeCode="COMP">



{observationEvent classCode="0BS" moodCode="EVN™>
{code code="3" codeSystem="2.16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"

RETIEHTZITAL LS

{value xsi:type="ED">J2.7.2<{/valuad
<I--@@ej2.7.2: RETIZHTDaALF —
{/observationEvent>
{/component1>
{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN">
{code code="4" codeSystem="2. 16.840. 1. 113883, 3,989, 5. 1. 3, 2, 1. 10" codeSystemVersion="1, 0"

WEDMFRE />

<value xsi:type="ED">JZ. 9</valued>
<i-- eeeJz. 9: BPIEOMREE —
{/observationEvent>
</component1>
{componentl typeCode="COMP">

__SohservationEvent classCode="0BS" moodCode="EVN™>

displayName="

displayName="

SHOTIE",>

{code code="3" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3.2, 1. 10" codeSystemVersion="1. 0"

<value xsi:type="ED">J2.10<{/value’
<l-- @eaJz. 10: SEORE >
{/observationEvent>
{/componentl>
{componentl typeCode="COMP™>
{observationEvent classCode="0BS” moodCade="E¥N">
{code code="6" codeSystem="2, 16,840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemYersion="1. 0"

EDMBEERE"/>

{value xsi:type="ED">J2.11</value>
<I-- @eaJz. 11: FoeEsnSs —
{/observationEvent>
{/componentl>
{componentl typeCode="COMP">
{observationEvent classCode="0BS" moedCode="EVN™>
<code code="12" codeSystem="2. 16. 840, 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"

BERFOEE",

#5117,

HE2°,

wWEIFS

BE4H

{value xsi:type="ED">J2.16</value
<I— @e8J2. 16: WEAEDER —
{/cbservationEvent>
{/componentl1>
{conponentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVN">
{code code="13" codeSystem="2. 16, 840. 1. 113883.3.989.5.1.3.2. 1. 10" codeSystemVersion="1,0"

{value xsi:type="ED">J2.19<{/value>
<l-- @@8J2. 19: W% 1 —
{/observationEvent>
{/componentl>
{componentl typeCode="COMP™>
{observationBvent c¢lassCode="0BS” moodCode="EVN">
{code code="14" codeSystem="2. 16. 840. 1. 113883. 3.989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"

{value xsi:type="ED">J2.20¢/value
(- geaje. 20: g2 —
{/observationEvent>
{/component1>
{companentl typeCode="COMP">
{ohservationEvent c¢lassCode="0BS" moodCode="EVN">
Ccode code="15" codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1,0"

<value xsi:type="ED">J2.21<{/value>
<l-- @8I, 21 HE 3 —>
{/observationEvent>
</componentl>

" {componentl typeCode="COMP™>

{observationEvent classCode="0BS" moodCode="EVN™>
<code code="16" codeSystem="2, 16. 840, 1. 113883, 3. 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1.0"

{value xsi:type="ED">J2.22¢{/value>
{1-— @eag2. 22: HE4L -

displayName="

displayName="

displayNams="

displayName="

displayName="

displayName="

displayName="



¢/observationEvent>
</component1>
{/adverseEventAssessment>
</component>
{component typeCode="COMP”>
{observationEvent ¢lassCode="0BS" moodCode="E¥YN™>
{code code="1" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 13" codeSystenVersion="1.1"
displayName="additionalDocumentsAvailable”/>
{value xsi:type="BL" value="true"/>
¢l €.1.6.1: Are Additional Documents Available? —>
</observationEvent>
</component>
{component typeCode="COMP">
{cbservationEvent classCode="0BS” moodCode="EVN">
{code code="23" codeSystem="2. 16. 840. 1. 113883, 3,989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="localCriteriaForExpedited”/>
{value xsi:type="BL" value="true”/>
¢1==- €. 1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>
{/observationEvent>
</component?
<component typeCode="COMP">
{observationBvent classCode="0BS” moodCode="EVN">
{code code="36" codeSystem="2.16.840. 1. 113883, 3. 989, 2, 1. 1. 19" cadeSystemVersion="1.1"
displayName="summaryAndComment” />
<value xsi:type="ED" language="H.5.r.Ib">H. 5. 1. la¢/value>
¢t— H,B.r.la: Case Summary and Reporter's Comments Text H1 —>
<!— H.5.r.1b: Case Summary and Reporter’s Comments Language #1 —>
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
<code code="2" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 21" codeSystemVersion="1.07
displayName="reporter”/>
{/assignedEntity>
{/author>
{/observationBvent>
</component>
{component typeCode="COMP™>
{observationEvent ¢lassCode="0BS" moodCode="EVN™>
{code code="36" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="sumnaryAndComment”/>
{value xsi:type="ED” language="H.5.r.1b">H 5. r. 1a{/value>
¢!— H.5.r.1a‘ Case Summary and Reporter’s Comments Text #2 —>
<|—— H.5,r.1bh: Case Summary and Reporter’s Comments Language #2 —>
{author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED™>
{code code="2" codeSysten="2, 16, 840, 1. 113883, 3. 989. 2. 1. 1. 21" codeSystemVersion="1.0"
displayName="reporter”/>
{/assignedEntity>
{/author>
{/observationkvent>
</component>
<outboundRelationship typeCode="SPRT™>
<relatedInvestigation classCade="INVSTG" moodCode="EVN">
<code code="1" codeSystem="2. 16. B40. 1. 113883. 3. 989. 2. 1. 1. 227 codeSystemVersion="1.0"
displayName="initialReport™/>
{subject0f2 typefode="SUB]">
<controlActEvent classCode="CACT" moodCode="EVN™>
<author typeCode="AUT™>
<assignedEntity classCode="ASSIGNED™>
<ecode code="C.1.8.2" codeSystenm="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 3" codeSystemVersion="1.0"/>
<!— €. 1.8.2: First Sender of This Case —>
{/assignedEntity>
{/author>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
<{/outboundRelationship>
<outboundRelationship typeCode="SPRT™>
¢relatedInvestigation classCode="INVSTG”™ moodCode="EVN™>
{code nullFlavor="NA"/>



{subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT™ moodCode="EVN">
<id extension="C.1.10.r" root="2. 16, 840. 1. 113883. 3. 989.2.1.3.2"/>
<1-- C. 1. 10. 1% Identification Number of the Report Which Is Linked to This Report (repeat as necessary)
#1 —>
</controlActEvent>
{/subject0f2>
{/relatedInvestigation>
{/outhoundRelationship?
<outboundRelationship typeCode="SPRT">
{relatedInvestigation classCode="INVSTG" moodCode="EVN">
{code nuilFiavor="Na"/>
{subject0f2 typeCode="SUBJ">
{controlactEvent classCode="CACT” moodCode="EVN™>
<id extension="C. 1.10.r" root="2, 16.840. 1. 113883.3.989.2.1.3.2"/>
d== €.1.10.1: Identification Number of the Report Which Is Linked to this Report {repeat as necessary)

" JcontrolActEventy
</subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT™>
{priorityNumber value="1"/>
<!— C.2.r.5: Primary Source for Regulatory Purposes #1 -->
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code code="2" codeSystem="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 22" codeSystemVersion="1.0"
displayName="sourceReport”/>
{subject0f2 typeCode="SUBI]">
{controlActEvent classCode="CACT" moodCode="EVN™>
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED")>
<addr>
{streetAddressLine>C, 2. 1. 2, 3¢{/streetAddressLine>
{1~ C.2.r.2.3: Reporter’s Street #1 —=>
eity>C. 2. 1. 2. 4¢/city>
¢1— C.2.r.2.4: Reporter's City 1 —
<state>C. 2. r. 2. 5¢/state>

<1— C.2.r.2.5: Reporter's State or Province #1 —>
<postalCede>C. 2, 1. 2. 6</postalCode>
{l--¢.2.r.2.6: Reporter' s Postcode #1 —>

{/addr>

{telecom value="tel:C.2.r.2.77/>
¢{l— C. % r.2. 7' Reporter's Telephone #1 —>
<assignedPerson classCode="PSN" determinerCode="INSTANCE™>

<name>
<prefix>C. 2. r. 1. 1<{/prefix>
<l— ¢.2.r.1.1: Reporter’s Title #1 -->

{given>C. 2.1. 1. 2{/givend
<I--C.2.r. 1.2 Reporter's Given Name #1 ——>
{given)C. 2.r. 1. 3¢/given>

¢l==€.2.r.1.3: Reporter’ s Middle Name #1 —>

(family>C. 2. 1. L. 4¢/Family>

{I-- €. 2.r.1.4: Reporter' s Family Name #1 ——>
</name>

<asQualifiedEntity classCode="QUAL">
{code code="C.2.r.4" codeSystem="2. 16, 840. 1. 113883. 2.989. 2. 1. 1. 6" codeSystemVersion="1. 0" />
<I— C.2.r.4: Qualification #1 —>
</asQualifiedEntity>
<aslocatedEntity classCode="LOCE™>
<location c¢lassCode="COUNIRY” determinerCode="INSTANCE">
{code cade="C, 2.1.3" codeSystem="1.0. 3166. 1.2.27/>
<l— €.2.r.3: Reporter’s Country Code #1 —>
{/location>
{/asLocatedEntity>
{/assignedPerson>
{represented0rganization classCode="0RG” determinerCode="INSTANCE">
<name>C. 2. r. 2. 2{/name>
<{I~-C,2.r.2.2: Reporter’s Department #1 —>
<assignedEntity classCode="ASSIGNED™>



{represented0rganization classCode="ORG” determinerCode="INSTANCE™>
<{name>C. 2. r. 2. 1{/name>
¢!— C.2.1.2.1: Reporter’s Organisation #1 —>
{/representedOrganization>
{/assignedEntity>
{/representedOrganizationd
{/assignedEntity>
{/author>
{/controlActEvent>
{/subjectOf2>
{/relatedInvestigation>
{/outboundRelationship>
<outhoundRelationship typeCode="SPRT™>
{relatedInvestigation classCode="INVSTG" maodCode="EVN™>
<code code="2" codeSystem="2. 16.840. 1. 113883, 3. 989, 2. 1. 1. 22" codeSystemVersion="1.0"
displayName="sotrceReport”/>
{subject0f2 typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN")>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED™>
<addr>
{streetAddressLine>C. 2. 1. 2. 3¢/streetAddressLine>
{!— C.2.r.2.3: Reporter's Street #2 —>
<eity>C. 2.r. 2. 4</city>
¢l== C.2.r.2.4: Reporter’'s City #2 —>
<statedC, 2. r. 2. 5¢/state>
¢l-- C.2.r.2.5: Reporter’ s State or Province #2 -=>
<postalCode>C. 2. r. 2. 6¢/postalCode>

¢]— C.2.r.2.6: Reporter’'s Postcode #2 —>
{/addr>
{telecom value="tel:C.2.r.2.77/>

{l—— €. 2.r.2.7: Reporter' s Telephone #2 ==
{assignedPerson ¢lassCode="PSN” determinerCode="INSTANCE™>
<name>
Cprefix®C, 2.1, 1, 1{/prefix>
{!— C.2.r.1.1: Reporter’'s Title #2 —>
{given>C. 2. r. 1. 2<{/given>
¢l=—=C.2.r.1.2: Reporter’'s Given Name #2 -->
{given>C. 2. x. 1. 3</given>
¢{l— C.2.r.1.3: Reporter’'s Widdle Name #2 —>
{family>C. 2. r. 1. 4</Tamily>
¢l== C.2.r.1.4: Reporter's Family Name #2 —>
{/name>
CasQualifiedEntity classCode="QUAL™>
{code code="C. 2. 1.4 codeSystem="2. 16. 840, 1. 113883. 3. 989, 2. 1. 1. " codeSystemVersion="1.07/>
<l— C.2.r.4: Qualification #2 —>
</asQualifiedEntity>
CaslLocatedintity classCode="LOCE™>
{location classCode="COUNTRY" determinexCode="INSTANCE™>
{code code="C.2.1.3" codeSystem="1.0.3166.1.2.2"/>
¢!-- C,2.r.3: Reporter's Country Code #2 -->
{/location>
¢/asLocatedEntity>
{/assignedPerson> :
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<name>C. 2. r. 2. 2¢/name>
¢l-- C.2.1.2.2¢ Reporter’s Department #2 —>
<assignedEntity classCode="ASSIGNED™>
{represented0rganization classCode="0RG" determinerCode="INSTANCE"™>
<{name>C. 2. 1. 2. 1<{/name>
¢i== C.2.1.2.1: Reporter’s Organisation #2 —>
{/representedOrganization>
{/assignedEntity>
</representedOrganization>
{/assignedEntity>
{/author>
{/controlActEvent>
{/subjectOf2>
{/relatedInvestigationd



{/outboundRelationship)
{subject0fl typeCode="SUB]™>
{controlActEvent classCode="CACT” moodCode="EVN™>
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
{code code="C.3,1" codeSystem="2, 16, 840. 1. 113883.3.989.2. 1. 1. 7° codeSystemVersion="1,0"/>
{1-- C.3.1: Sender Type —>
<addr>
{streetAddressLine>C. 3. 4, 1{/streetAddressLine>
¢l-- C.3.4.1: Sender’s Street Address -->
{eity>C. 3. 4. 2¢/city>
{i— C.3.4, 2: Sender’ s City —>
{state>C. 3. 4. 3{/state>
{l=- €. 3.4.3: Sender’ s State or Province —>
<{postalCode>C. 3. 4. 4</postalCode>
¢l-- C.3.4.4: Sender's Postcode -~
{/addr>

{telecom value="tel:C.3.4.6°/>
¢1— C.3.4.6: Sender's Telephone —=>
{telecom value="fax:C.3.4.7"/>
<I—C.3.4.7: Sender's Fax —>
{telecom valute="mailto:C.3.4.8"/>
¢l--C.3.4.8: Sender’s E-mail Address —>
<assignedPerson classCode="PSN” determinerCode="INSTANCE™>
{name> .
{prefix>C. 3. 3. 2¢/prefix>
<I— €.3.2,2: Sender's Title —
<given>C. 3. 3. 3¢/given>
{I— £.3.3.3: Sender’ s Given Name —>
<given>C, 3. 3. 4¢/given>
{1— C.3.3.4: Sender’s Middle Name —>
{family>C. 3. 3. 5</family>
¢}— €. 3.3.5: Sender’s Family Name —>
{/name>
<asLocatedBntity classCode="LOCE">
{location classCode="COUNIRY” determinerCode="INSTANCE™>
Ccode, code="C, 3. 4. 5" codeSystem="1.0.3166.1.2.2"/>
<I— C.3.4.5: Sender's Country Code -=>
{/location> -
{/asLocatedEntity>
<{/assignedPerson’ ,
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
{name>C. 3. 3. 1<{/name>
{l=- €.3.3.1: Sender’ s Department —>
{assignedEntity classCode="ASSIGNED">
{represented0rganization classCode="0RG" determinerCode="INSTANCE™>
<name>C. 3. 2<{/name>
<}—-C.3.2: Sender’s Organisation ——}
{/representedOrganization>
{/assignedEntity>
{/represented0rganization>
{/assignedEntity>
{fauthor>
<primaryInformationRecipient typeCode="PRCP">
{assignedBntity classCode="ASSIGNED">
{assignedPerson classCode="PSN” determinerCode="INSTANCE">
<name>
{prefix>J2. 18. 2¢/prefix)
<I-- 88@J2. 18.2: E{ZTE EHFz —
{family>J2. 18. 3¢/family>
{1— 88872.18.3: ZiEE £ —
{given>J2.18. 4</given>
— 808J2.18.4: ZELE £ —
{/name>
{/assignedPerson>
{represented0rganization classCode="0RG" determinerCode="INSTANCE">
<name>J2. 18. 1</name>
<l— @a0aj2.18. 1: F{EE HRs -

{/representedOrganization>



{/assignedEntity>
{/primaryInformationRecipient>
{/controlActEvent>
{/subject0f1>
{subjectOfl typeCode="SUBJ">
{controlActEvent classCode="CACT™ moodCode="EYN">
{id assigningAuthorityName="C.1.9.1.r. 1" extension="C.1.9.1.r.2" root="2.16.5840.1.113883.3.989.2.1.3.3"/>

¢l-— €. 1.9.1,r.1: Source(s) of the Case Identifier (repeat as necessary) #l —>
¢!— €. 1.9.1.1. 2 Case Identifier(s) #1 —> .
{/controlActEvent>
</subjectOfl>

{subjectOfl typeCode="SUBJ">
{controlActEvent classCode="CACT” moodCode="EVN">

<id assigningAuthorityName="C.1.8.1.r.1" extension="C.1.9.1.r.2" raot="2.16.840.1.113883.3.989.2. 1. 3. 3"/>
<l-—— C.1.9.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #2 ——>
¢<l— C.1.9.1.r. 2 Case Identifier(s) #2 —>
</controlActEvent>
{/subjectOf1>

{subject0f2 typeCade="SUB]™>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2. 16. 840, 1. 113883, 3, 989, 2, 1. 1. 23" codeSystenVersion="1,0"
displayName="ichReportType”/>
{value xsiitype="CE” code="C.1.3" codeSystem="2. 16, 840, 1. 113883. 3. 989. 2. 1. 1. 2" codeSystenVersion="1. 07/>
¢l-= C.1.3 Type of Report —>
{/investigationCharacteristic>
</subject0f2>
<subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="(BS" moodCode="E¥N">
¢code code="2" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 23" codeSystemVersion="1.0"
displayName="otherCaselds”/>
<value xsi:type="BL" value="true”/>
¢l=- C.1.9.1 Other Case Identifiers in Previous Transmissions -->
{/investigationCharacteristic>
<{/subjectOf2>
<subject0f2 typeCode="SUB]">
(investigationCharacteristic classCode="0BS" moodCode="EVN™>
¢code code="3" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1. 23" codeSystemVersion="1.0"
displayName="nullificationAmendmentCode”/>
<value xsi:type="CE” code="C.1.11.1" codeSystem="2.16.840. 1. 113883. 3. 989, 2, 1.1. 57 codeSystemVersion="1.0"/>
¢l— C.1.11.1: Report Nullification / Amendment ~->
{/investigationCharacteristic>
</subject0f2>
{subject0f2 typeCode="SUBI">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="4" codeSystem="2.16.B40. 1. 113883. 3. 989. 2. 1. 1. 23" codeSystemVersion="1,0"
displayName="nullificationAmendmentReason”/>
{value xsi:type="CE™>
<originalText>C. 1. 11. 2</originalText>
¢!— €.1.11.2: Reason for Nullification / Amendment —>
{/value>
{/investigationCharacteristic>
</subject0f2>
<subjectOf2 typeCode="SUBJ™>
<investigationCharacteristic classCode="0BS" moodCode="EVN">

<code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 12" codeSystemVersion="1. 0" displayName="5k5!
B (@EHE N
: {value xsi‘type="CE" code="]2,1a" codeSystem="2. 16. 840, 1. 113883.3.989.5.1,3.2. 1, 1"

codeSystemVersion="1. 0" />
<1— @geJ2. la: WAES (HEHW —
</investigationCharacteristic>
</subject0f2> .
<subject0f2 typeCode="SUB]™>
{investigationCharacteristic classCode="0BS" moodCode="EVN™>
¢code code="2" codeSystem="2.16. 840, 1. 113883. 3. 989. 5. 1. 2. 2, 1. 12" codeSystemVersion="1.0" displayNene="#%
BREE,
<value xsi:type="T$~ value="20130107"/>
¢I-- ggeJz. 2. 1: MEERA
{/investigationCharacteristic>
¢/subject0f2>



"{subject0f2 typeCode="SUBJ">
{investigationCharacteristic c¢lassCode="0BS" moodCode="EVN">
<code code="3" codeSystem="2. 16. 840, 1. 113883. 3. 989, 5. 1. 3. 2. 1. 12" codeSystemVersion="1. 0" displayName="3f45
HEBEETIaA RN
{value xsi:type="ED">]J2.2, 2¢{/value>
<l—eeaJ2.2.2: $EERBEZETs2A —
{/investigationCharacteristic>
</subject0f2>
{subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2. 16,840, 1. 113883. 3.989.5.1.3. 2. 1.12" codeSystemVersion="1, 0" displayName="EjIF¢
BREFZI5
<value xsi:type="CE" code="J2.3" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 2" codeSystemVersion="1. 0"/>
<i-- @888]12.3: AIRERE 57 —
{/investigationCharacteristic>
{/subjectDf2>
_ {subject0f2 typeCode="SUBJ">

{investigationCharacteristic classCode="0BS" moodCode="EVN">
{code code="5" codeSystem="2. 16.840. 1. 113883, 3,989, 5. 1. 3. 2. 1. 12" codeSystemVersion="1.0" displayName="$R%
MBHFZ TN
<value xsi:type="CE" code="J2.8.1" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 6~
codeSystemYersion="1.0"/>
<! @@@ye. 8. 1 |EMHBAZS S —
{/investigationCharacteristic>
{/subject0f2>
¢subjectOf2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCode="EVN">
<code code="6" codeSystem="2. 16, 840. 1, 113883.3.989.5.1.3.2.1, 12" codeSystenVersion="1.0" displayName="#R%%
Fop - Tadosiy:: i
{value xsi:type="ED">J2, 8. 2</value>
<!-- @eajz.8.2: WMEHHFAOEE —>
{/investigationCharacteristic}
{/subject0£2>
{/investigationEvent>
{/subject>
¢/controlActProcess?
</PORR_INO49016UV>
{l— Message #1 —>
{l— Message #2 —>
<!— PORR_INO49016UV —>
<l—— /PORR_INO48016UV —>
<l— Message #2 —>
{receiver typeCode="RCV™>
{device classCode="DEV" determinerCode="INSTANCE™>
<id extension="N.1,4" root="2.16.840.1.113883.3.989,2, 1. 3. 14"/>
<i-- N.1.4: Batch Receiver Identifier —>
{/device>
{/receiver>
{sender typeCode="SND">
{device classCode="DEV" determinerCode="INSTANCE">
{id extension="N.1.3" root="2. 16.840.1.113883.3.989.2.1.3,.13"/>
¢le= N. 1 3: Batch Sender Identifier —> -
{/device>
{/sender>
</MCCI_IN200100UV01>
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EEFBE AT LAEBAT—FZRE (JIEB) OE%

J2.1a WHES (BELIH
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XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi:schemalocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'l/PORR,_IN049016UVI[r]/controlActProcess[@classCod
e='"CACT'][@mood Code="EVN/subject[@typeCode='"SUBJ']{1)/investigationEvent
[@classCode="INVSTG'[@moodCode='EVN'l/subjectOf2[@typeCode="SUBJ'] [inve
stigationCharacteristic/code[@code="1'][@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.127][1)/investigationCharacteristic[@classCode="OBS'] [@mood Code="EVN'
I/valuel@xsi:type="CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1')/@code

XPath /MCCI_IN200100UV01[@ITS Version=XML,_1.07[@xsi:schemaLocation="urn:hl7-

(codeSystem | org:v3

Version) MCCI_IN200100UV01.xsdT/PORR_IN049016UVIrl/controlActProcess(@classCod

e='CACT'][@moodCode="EVN'l/subject{@typeCode="SUBJ'l[1}/investigationEvent
[@classCode='INVSTG1[@moodCode="EVN'/subjectOf2[@type Code='SUBJ'] [inve
stigationCharacteristic/code[@code="1"][@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.12'11[1)/investigationCharacteristicl@classCode="OBS'}[@moodCode="EVN'
Iivaluel@xsi:type='CE'l[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.1')/@code

SystemVersion

J2.1b BRIEER (&5

5 B A BN TE LERNES LT,
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HEE mEL :

XPath MCCI_IN200100UV01[@ITSVersion="XML_1.0'][@xsi:schemaLocation="urn:hl7-
orgv3

MCCI_IN200100UV01.xsd'J/PORR_IN049016UV[r)/controlActProcess[@classCod
e='CACT"}[@mood Code="EVN/subject[@typeCode="SUBJ'][1l/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN'/id[@root='2.16.840.1.113883.3.989.5.
1.3.2.3.1'1[1]/@extension




J2.2.1 HEEERA

EHEHE | BERECOWT, BREOKREL R BETT, BE. AR 22840 205 1S
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Gt WS HIERR CCYYMMDD % CiE#T2Z &,
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd']/PORR_IN049016UVIr]/controlActProcessi@classCod
e='CACT'][@mood Code="EVN'l/subjecti@typeCode="SUBJ'[1]/investigationEvent
[@classCode=TNVSTG[@mood Code="EVN'l/subjectOf2[@type Code='SUBJ'] [inve
stigationCharacteristic/code[@code="2"1[@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.12'1[1)/investigation Characteristic[@classCode="OBS' [@mood Code=EVN'
Ivaluel@xsi:type="TS/@value | '
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EHRZEBLTWET & %2, BUERFEER N ERFIREREESEEL TWD
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0[@xsi:schemaLocation="urn’hl7-
org:v3
MCCI_IN200100UV01.xsd1/PORR_IN049016UV(rl/controlActProcess[@classCod
e="CACT'H@moodCode="EVN'/subjectl@typeCode="SUBJ'][1)/investigationEvent
[@classCode=TNVSTG'][@mood Code="EVN'l/subjectOf2[@type Code="SUBJ'H[inve
stigationCharacteristic/code[@code="3'l[@codeSystem="'2.16.840.1.113883.3.989.5.
1.3.2.1.121][1)/investigationCharacteristic[@classCode='OBS' [@mood Code="EVN'
Ivaluel@xsitype="ED'Vtext(
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XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'][@xsi:schemal.ocation="urn*hl7-
org:v3 ‘
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[r)/controlActProcess[@classCod
e='CACT1@moodCode="EVN')/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode=INVSTG'][@moodCode="EVN'/subjectOf2[@typeCode="SUBJ'l[inve
stigationCharacteristic/code[@code="4'l{@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.1271[1)/investigationCharacteristicl@classCode="OBS'l[@mood Code=EVN'
l/valuel@xsi:type='CE[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.2'1/@code

XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.07[@xsi:schemal.ocation="urn*hl7-

(codeSystem | org:v3

Version) MCCI_IN200100UV01.xsd' l/PORR_IN049016UV[r]/controlActProcess[@classCod

e='CACT"}[@moodCode="EVN'V/subjectl@typeCode='"SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'[@moodCode="EVN/subjectOf2[@type Code="SUBJ'|[inve
stigationCharacteristic/codel@code="4'l[@codeSystem="'2.16.840.1.113883.3.989.5.
1.3.2.1.12T1[1)/investigationCharacteristicl@classCode="OBS'| [@mocd Code="EVN'
valuel@xsictype='"CEl[@codeSystem='2.16.840.1.113883.8.989.5.1.3.2.1.2'}/@

codeSystemVersion
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XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0"][@xsi'schemalocation="urn-hl7-
org:v3 : .
MCCI_IN200100UV01.xsd'//PORR_IN049016 UV [rl/controlActProcess[@classCod
e='CACT][@mood Code="EVN'/subject{@type Code="SUBJ'l[1}/investigationEvent
[@classCode="INVSTG'][@mood Code="EVN'l/component[@typeCode='COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment@classCode=TNVSTG'l[@mo
0dCode="EVN'l/subject 1 [@typeCode="SBJ|[1]/primaryRole[@classCode='TNVSBJ’
VsubjectOf2[@typeCode="SBd'l[organizer/codel@code="4'1[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20']1[1)/organizer(@classCode="CATEGORY'l[@mood Code='E
VN/component[@type Code='"COMP'][substanceAdministration/id] [k]/substanceA
dministration[@classCode="SBADM'][@mood Code="EVN'l/consumable[@typeCode
='CSM'][1)/instanceOfKind[@classCode="TNST"//kind OfProduct[@classCode="MM
AT[@determinerCode="KIND')/asManufactured Product[@classCode="MANUl/su
bjectOfi@typeCode="SBJ'l [characteristic][1)/characteristiclcodel@code="1'][@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.1011[1][@classCode='OBS' [@mood Cod
e="EVN'|/value[@xsi:type="CE'][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.
3'l/@code

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITS Version=XML_1.0'1[@xsi:schemaLocation="urn‘hl7-
org-v3

MCCI_IN200100UV01.xsd' l/PORR_IN049016UV[r}/controlActProcess[@classCod
e='CACT")[@moodCode="EVN'/subjectl@typeCode="SUBJ']{1)/investigationEvent
[@classCode=TINVSTG' [@moodCode="EVN'//component[@typeCode="COMP'][adv -
erseEventAssessmentl[1]/adverseEventAssessment[@classCode="INVSTG'][@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'][1]/primaryRolel@classCode="INVSBJ'
l/subjectOf2[@typeCode="SBd'l[organizer/code[@code="4"1[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.2011[1)/organizer[@classCode='CATEGORY'| [@moodCode="E
VN'/component[@type Code='COMP'][substanceAdministration/idl[kl/substanceA
dministration[@classCode="SBADM'][@mood Code="EVN'//consumable[@typeCode
='CSM'][1)/instanceOfKind [@classCode="TNST"//kind OfProducti@classCode="MM
AT][@determinerCode="KIND')/asManufactured Product[@classCode="MANUl/su
bjectOf[@typeCode="SBJ'] [characteristic][1)/characteristiclcode[@code="1' [@code
System='2.16.840.1.113883.3.989.5.1.3.2.1.10}(1][@classCode='OBS'][@mood Cod
e=EVN/valuel@xsi:type='CE[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
3'l/@codeSystemVersion
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XPath

/MCCI_IN200100UV01[@ITS Version=XML_1.0'[@xsi‘schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'}/PORR_IN049016UV[x)/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'/subject@typeCode="SUBJ'l[1)/investigationEvent
[@classCode='TNVSTG][@mood Code="EVN'l/component[@typeCode='"COMP'] [adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'] [@mo
0dCode="EVN')/subject1[@typeCode="SBJ'l[1]/primaryRole(@classCode='INVSBJ'
/subjectOf2[@typeCode="SBJ'][organizer/code[@code="4'[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.207][]/organizer[@classCode="CATEGORY'l[@moodCode="E
VN')/component[@typeCode='"COMP'] [substanceAdministration/id][k]/substanceA
dministrationl@classCode='SBADM'l[@moodCode="EVN'l/consumable[@typeCode
=CSM'][1)/instanceOfKind[@classCode="INST'I/kind OfProduct[@classCode=MM

"I AT'[@determinerCode="KIND'VasManufacturedProductf@classCode=MANUl/su

bjectOfl@typeCode="SBJl[approvall[il/approvall@classCode="CNTRCT'] [@mood
Code="EVN'/pertinentInformation[@typeCode="PERT'][1}/policy[@classCode="PO
LICY') [@moodCode="EVN')/code[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.
4'/@code

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITS Version="XML,_1.0'[@xsi‘schemaLocation="urn‘hl7-
orgvd :

MCCI_IN200100UV01.xsd J/PORR_IN0498016UV[r]/controlActProcess[@classCod -
e="CACT'] [@moodCode="EVN"/subject[@typeCode='SUBJ'H{1)/investigationEvent
[@classCode=TNVSTG'[@moodCode="EVN'/component[@typeCode="COMP}[adv
erseEventAssessment][1)/adverseEventAssessment [@classCode="INVSTG][@mo
0dCode="EVN'l/subject1[@typeCode="SBJ'][1]/primaryRole[@classCode='TNVSBJ'
I/subjectOf2l@typeCode='SBJ'] [organizer/code[@code='4[@codeSystem='2.16.840.
1.113883.3.989.2.1.1.2011[1)/organizer[@classCode="CATEGORY'll@moodCode="E
VN/componentl@typeCode="COMP'] [substanceAdministration/id][kl/substanceA
dministration[@classCode="SBADM'l[@mood Code='"EVN'l/consumable[@typeCode
='CSM1[1}/instanceOfKind[@classCode='INST'}/kind OfProduct(@classCode="MM




AT'][@determinerCode="KIND')/asManufactured Productl@classCode="MANU"/su
bjectOfl@typeCode="SBJ'l[approvall[1l/approvall@classCode="CNTRCT'] [@mood
Code="EVN'l/pertinentInformationl@typeCode="PERT'I[1)/policy[@classCode="PO
LICY'}[@mood Code="EVN')/code[@codeSystem="2.16.840.1,.113883.3.989.5.1.3.2.1.
4'//@codeSystem Version
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XPath | MCCI_IN200100UV01[@ITS Version="XML,_1.0"[@xsi:schemaLocation="urn:hl7-

(value) org:v3

MCCI_IN200100UV01.xsd']/PORR_IN049016UV[rl/controlActProcessl@classCod
e="CACT'][@mood Code="EVN'l/subject[@typeCode='SUBJ [ 1)/investigationEvent
[@classCode="INVSTG'[@mood Code="EVN'l/componentl@type Code='"COMP'I [adv
erseEventAssessmentl[1)/adverseEventAssessmentl@classCode='INVSTG' [@mo
0dCode="EVN')/subject1[@type Code="SBJI[1]/primaryRole[@classCode=TNVSBJ'
I/subjectOf2l@typeCode="SBJl[organizer/codel@code="41[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.2011[1]/organizer[@classCode="CATEGORY"[@moodCode="E
VN'T/component[@typeCode='COMP'] [substanceAdministrationfidl[kl/substanceA
dministration[@classCode="'SBADM'l[@mood Code="EVN'l/consumable[@typeCode
='CSM'[1)/instanceOfKind[@classCode='INST'l/subjectOf[@type Code='SBJ'l/obse
rvationEvent[code[@code="2] [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10’
l111]{@classCode="OBS1[(@mood Code="EVN'I/value[@xsi:type='CE'l{@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5'1/@code




XPath
(null

flavor)

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'{@xsi‘schemalocation="urn:hl7-
org-vad

MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UVir)/controlActProcess[@classCod
e='CACT"][@mood Code="EVN')/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="TNVSTG'[@moodCode="EVN"/component[@typeCode="COMP'l[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG'][@mo
0dCode="EVN/subject1[@typeCode='SBJ'| [1]/primaryRole[@classCode='INVSBJ'
)/subjectOf2[@typeCode="SBJl{organizer/code[@code="4"[@codeSystem="'2.16.840.
1.113883.3.989.2.1.1.20'T1[1)/organizer[@classCode='"CATEGORY){@moodCode='E
VN'l/componentl@typeCode='COMP'][substanceAdministration/idl[1)/substanceA
dministration[@classCode="SBADM'] [@moodCode="EVN')/consumable[@typeCode
='CSM']{1)/instanceOfKind[@classCode="TNST')/subjectOf[@typeCode="SBd'l/obse
rvationEventlcodel@code="2"1i@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1¢'
lI[1][@classCode="0BS'I[@mood Code="EVN}/value[@xsi:type='"CE'][@codeSystem
='2.16.840.1.113883.3.989.5.1.3.2.1.5')/@nullFlavor

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion="¥ML._1.0']{@xsi'schemaLocation="urn:hl7-

orgiv3

MCCI_IN200 100UV01.xsd')/PORR_IN049016UV[rl/controlActProcessl@classCod
e="CACT'][@mood Code="EVN'l/subject@typeCode="SUBJ'][1)/investigationEvent
[@classCode='INVSTG'][@moodCode="EVN'}/component[@typeCode="COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=INVSTG' [@mo

0dCode="EVN')/subject1[@typeCode="SBJ'][1}/primaryRole[@classCode='INVSBJ'
I/subjectOf2[@typeCode='"SBdJ'Horganizer/code[@code='4'[@codeSystem="'2.16.840.
1.113883.3.989.2.1.1.20')[1]/organizer[@classCode='CATEGORYJ[@moodCode='E
VN'l/componentl@typeCode="COMP'l[substanceAdministrationfid][kl/substanceA
dministration[@classCode="SBADM[@moodCode='"EVN'//consumable[@typeCode
=CSM'][1)/instanceOfKind[@classCode=TNSTV/subjectOf[@type Code="SBJ'/obse
rvationEvent[code[@code='2][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10’
Jl[1][@classCode='0BS1[@moodCode="EVN'l/value[@xsi:type="CE']{@codeSystem

='9.16.840.1.113883.3.989.5.1.3.2.1.5')/@codeSystemVersion

J2.7.1 57T

. RETRES

BR#HA

WHREILO>WT, RETHREXZZETHREDESERT,

R

WETREFHOPENET LTWRWVESIE, RETHEL LTHRETDZ L. &2
B, BRTHERIHELBEREAFE LGSR, XHTETHEE LTHET S,
HL7 LY EESNFa— F2AWTERTDIZ &,

HL7 =—F 10A

active=FR5ET

completed=5ET




XPath

MCCI_IN200100UV01[@ITSVersion="XML,_1.0'[@xsi:schemalocation="urn-hl7-
org:v3d
MCCIL_IN200100UV01.xsd')lV/PORR_IN049016UVIr)/controlActProcessi@classCod
e="CACT'Ii@mood Code="EVN'l/subject[@type Code="SUBJ"l[1}/investigationEvent
[@classCode="INVSTG'[@moodCode='"EVN'//statusCode/@code ‘

J2.7.2 Rz

TrETsa AL

H H &

RETHEDEHGE, RETHEOCEBZTRY,

LT IE

2L

F— 57l

10000AN

HEE

B B

XPath

/MCCI_IN200100UV01[@ITSVersion="XML,_1.0][@xsi:schemal.ocation="urn:hl7-

org-v3

MCCI_IN2OOIOOUVOl.xsd']lPORR_IN 049016UV[rl/controlActProcess[@classCod
e="CACT']{@moodCode="EVN/subject[@type Code="SUBJ"I[1]/investigationEvent
[@classCode='INVSTG'][@mood Code='EVN'}/component[@typeCode='COMP'H{adv
erseEventAssessment]{1]/adverseEventAssessment(@classCode=TNVSTG')[@mo

0dCode="EVN'"/component1[@typeCode='COMP'][observationEvent[code[@code="
3'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']}/{1)/observationEvent[@c
lassCode="0BS'l[@moodCode="EVN/valuel@xsi‘type="EDTtextQ

J2.8.1

wENRAZZ 7

| EHEHRHA

BIVEFRIEFIERE U EESE PRSI BV T, 5024 0OBMRE OB SICTR#T
3, '

ELET IR

RUTHHEEDS [1=HExSHI) 2ERHT D&,

F— 5

1IN

FFAE

1=t & x &t

XPath

/MCCI_IN200100UV01[@ITS Version="XML_1.01[@xsi:schemaLocation="urnhl7-
orgv3
MCCI_IN200100UV01.xsd')/PORR_IN049016UV(rl/controlActProcessl@classCod
e="CACT"l[@moodCode="EVN'l/subjectl@type Code="SUBJ'l[1}/investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN']/subjectOf2[@typeCode="SUBJ l[inve
stigationCharacteristic/code[@code='5'l [@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.127][1)/investigationCharacteristicl@classCode='"OBS'l [@mood Code="EVN'
Jivaluel@xsi‘type='CE'l{@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.6'1/@code

XPath
(codeSystem

Version)

MCCI_IN200100UV01[@ITSVersion=XML_1.0][@xsi:schemalocation="urn:hl7-
org-v3 ‘
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcessl@classCod

e='CACT'][@moodCode='"EVN/subjecti@typeCode="SUBJ'][1]/investigationEvent




[@classCode="INVSTG'][@mood Code="EVN'l/subjectOf2[@typeCode="SUBJ'l[inve
stigationCharacteristic/code [@code="5"][@codeSystem='2.16.840.1.113883.3.989.5.
1.3.2.1.121](1)/investigationCharacteristic[@classCode='0BS'|[@mood Code="EVN'
Ivaluel@xsi‘type="CE][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.61/@

codeSystemVersion

Jz2.8.2 #E

HENOEB

BHEHEHA

BIVE GRS I TRBIEEFIRE TRV TSR RAOBMBE 21T D BETH
HERHNTHLSEB LT D,

CRUT R

7L

F—5E

10000AN

A E

B AR

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'][@xsi:schemalocation="urnhl7-
org:v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r)/controlActProcessl@classCod
e='CACT"{@mood Code="EVN')/subjecti@typeCode="SUBJ'l[1)/investigationEvent
[@classCode="INVSTG'] [@mood Code="EVN'/subjectOf2[@typeCode="SUBJ'] inve
stigationCharacteristic/codel@code='6'1[@codeSystem="2.16.840.1.113883.3.989.5.
1.3.2.1.1211[1)/investigationCharacteristic[@classCode='"0OBS'] [@mood Code="EVN'
Jivaluel@xsitype="EDVtext()

J2.9 BUYE

OB EFE

EEHE

RLILFERE G SRS DIBA L. Bk 24 £ 3 A 6 HfHTEAT 0306 BELEFBEEER S
BEEEm TSR IPRFET A RS54 2] O—BEEIZOVWT] OFIE
[ ERASICRBBRBENA FIA4V) REVRESNRENEELRT 2,

RLRT

7L

751

10000AN

FFAUE

B B

XPath

/MCCI_IN200100UVO01[@ITSVersion="¥ML_1.0'][@xsi'schemalLocation="urn:hl7-

org-v3

MCCI_IN200100UV01.xsd T/PORR_IN049016UVIx)/controlActProcess[@classCod
e='CACT'|[@mood Code="EVN"/subjectl@type Code="SUBJ'1[1)/investigationEvent
[@classCode="INVSTG'][@moodCode='"EVNl/component[@typeCode='COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG'l{@mo

0dCode="EVN')/component1[@typeCode='COMP'][observationEvent[code[@code="
41[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.101]][1)/observationEvent[@c
lassCode='OBS'{@mood Code="EVN'l/value[@xsi:type="ED')/text(

J2.10 SHRO*:

HEWH

L EAEOBIEREICHT 2R EFOIEICES LB LA RO OV TER




92,

s AR 7L

F—HH 10000AN

WAl | pomRk |

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'] [@Xsi1schemaLocation="urnihl’?-
org:v3a

MCCI_IN200100UV01.xsdl/PORR_IN049016UVIr)/control ActProcessi@classCod
e='CACT'l[@moodCode="EVN"l/subjecti@typeCode="SUBJ'][1)/investigationEvent
[@classCode=TNVSTG'][@moodCode="EVN'l/component[@type Code="COMP] [adv
erseEventAssessment][1])/adverseEventAssessment[@classCode=TNVSTG' [@mo

0dCode="EVN'"V/component1[@typeCode="COMP'][observationEvent[codel@code='
5'1[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10"]][1)/observationEvent[@c
lassCode="OBS"I[@moodCode="EVNI/valuel@xsi:type="EDV/text(

Jo.1l FOMBEEES

HEHHA ZDMMEE LR HEEEREHT 5,

RS 7

F— & H 10000AN

FrAE B R

XPath /MCCI_IN200100UV01[@ITS Version="XML,_1.0'][@xsi:schemalocation="urn:hl7-
org:v3

MCCI_IN200100UV01.xsd'/PORR_IN049016UV{r)/controlActProcess[@classCod
e="CACT'][@moodCode=EVN/subjectl@typeCode='SUBJ"I[1)/investigationEvent
[@classCode=INVSTG'][@moodCode="EVN'l/component[@type Code="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment(@classCode="TNVSTG'[@mo
0odCode="EVN"l/component1[@typeCode='"COMP'][observationEvent{code[@code="
6'[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10']]1[1}/observationEvent[@c.
lassCode="OBS'l[@moodCode="EVNT/valuel@xsi:type="ED")/text(

J2.12 BERLEE ‘

15 B A BRAEBEICER LTV IBBRESTESETRT,

G BRHERERRE LT ARWESIZE, BRERHEEICEHR L WA —F
FERTDH L,

5 — & Bl 70AN

FrAE BB

10




XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0"{@xsi:schemaLocation="urn‘hl7-

orgva
MCCI_IN200100UV01.xsd')/PORR_IN049016UV[r)/controlActProcess[@classCod
e='CACT"[@mood Code="EVN'V/subjectl@typeCode="SUBJ'I[1)/investigationEvent
[@classCode="TNVSTG][@mood Code="EVN'l/component[@typeCode="COMPI[adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG'][@mo
0dCode="EVNT/subject1[@typeCode="SBJ1[1]/primaryRole[@classCode=TNVSBJ'
/subjectOf2l@typeCode="SBJ'l[organizer/code[@code="4'[@codeSystem="2.16.840.
1.113883.3.989.2.1.1.20"1[1)/organizer[@classCode='CATEGORY'l[@mood Code="E
VN'l/componentl@typeCode='COMP'] [substanceAdministration/id]/substanceAd
ministration{@classCode="SBADM'l[@mood Code="EVN'][consumable/instanceOf
Kind/kindOfProduct/asSpecializedKind/generalizedMaterialKind/code/original Te
xt][1)/consumablel@type Code="CSM'][1)/instance OfKind[@classCode="INST')/kin
dOfProduct@classCode="MMAT"][@determinerCode="KIND')/asSpecializedKind[
@classCode="GEN'[1l/generalizedMaterialKind[@classCode="MAT'] [@determiner
Code="KIND')/code/original Text/text()

J2.13.r.1 JEHEH

HHE

BRI, WREHERECRBERE T S,

ELE T A

BBHEREEFEE L TWRWESITIT. ZBRETHZ L,

751

2N

A

ZEL

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.01[@xsi:schemalocation="urn:h17-
org:v3

MCCI_IN200100UV01.xsd'l/PORR_IN0490 16UVirl/controlActProcess(@classCod
e="CACT'][@moodCode="EVN'l/subjectl@typeCode='"SUBJ'I[1)/investigationEvent
[@classCode="INVSTG'|{@mood Code="EVN'l/component[@type Code="COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode="INVSTG][@mo
0dCode="EVN')/subject1{@typeCode="SBJ'1[1]/primaryRole[@classCode="INVSBJ'
l/subjectOf2[@typeCode='SBJ'l[organizer/code[@code='1][@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11']}[r)/organizer[@classCode="CATEGORY'][@mood Code
=EVN'|/component[@typeCode="COMP'}observation[@classCode="OBS[@mood
Code="EVN'[code[@code="7"][@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'

llivaluel@xsistype="INT'l/@value

J2.13.r2 X

HHRA

5 H &

BRI, BRAEBREICERIN TV OHERBEZERT D,

FROTA

BRHEBLEZRHEL TV AHAIIL, BlEERTLIENTED, B, BR
FEBEZRYE L TWAVSEICE, BREMAEEFICRE L TV o xRRE L M

TB5ZL, A—DRBERHEETOEROREETHRLTEHEE. A v TR

i1




0“(%3&'3‘5: Cl:o

1000AN

B B EC#

/MCCI_IN200100UV01[@ITS Version="XML_1.0"1[@xsi:schemalocation="urn:hl7-
org:vd
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[rl/controlActProcessl@classCod
e='"CACT1[@mood Code="EVN'l/subject@typeCode="SUBJ'][1)/investigationEvent
[@classCode=INVSTG'l[@moodCode="EVN'l/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'][@mo
0dCode="EVN/subject l[@typeCode='SBJ"1[1l/primaryRole[@classCode=INVSBJ"
I/subjectOf2[@typeCode="SBJ ' organizer/codel@code="1][@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1. 11'll[r)/organizer[@classCode="CATEGORY'l [@mood Code
=EVN')/component[@type Code='"COMP')/observation[@classCode="0BS' [@mood
Code="EVN'[code[@code='81[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10’
llivaluel@xsi:type="ED/text(

J2.13.r.3 PBA%EHE

HEHHA

BRFEEECRBRSNLTOSHEEEEZTT,

o e

?ﬁﬁ%{@l@m%%éﬁﬂj LTWAESIIL, BHEEET2 L8 TED, 2B, IFR
HEEBEZIEE L T ARWESIZI, BUHS L @ a— FMEZRIRLCRETS
AP0 ‘ '

57—y 3

1N

FFAE

BUFE 5 18

XPath

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcessi@classCod
e='CACT']{@mood Code="EVN'l/subject[@typeCode="SUBJ'|[1]/investigationEvent
[@classCode="INVSTG'l[@moodCode="EVN'l/component{@typeCode="COMP’] [adv
erseEventAssessment][1}/adverseEventAssessment[@classCode="TNVSTG'[@mo
0dCode="EVN'/subject1li@typeCode="SBJ'][1l/primaryRolel@classCode="INVSBJ'
VsubjectOf2[@typeCode="SBJ'] [organizer/code[@code="11[@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11']1[r]/organizer[@classCode='"CATEGORY' [@mood Code
='EVN'V/component[@type Code="COMP')/observation[@classCode="OBS'] [@mood
Code="EVN'l[code[@code="9'1[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'
J/valuel@xsiztype="CE][@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7]/@cod

1 e

12




XPath
(codeSystem ‘

Version)

/MCCI_IN200100UV01[@ITS Version="XML_1.0'|[@xsi:schemalocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r]/controlActProcess[@classCod
e='"CACT][@mood Code="EVN')/subjectl@typeCode="SUBJ'][1]/investigationEvent
[@classCode=TNVSTG' [@mood Code="EVN')/component[@typeCode="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode="TNVSTG'l[@mo
0dCode="EVN'//subject1[@typeCode='SBJ'l[1]/primaryRole[@classCode=TNVSB.J'
J/subjectOf2[@typeCode='SBJ'{organizer/code[@code='1"][@codeSystem="2.16.840.
1.113883.3.989.5.1.3.2.1.11']] (r)/organizer[@classCode='"CATEGORY'l [@mood Code
=EVN/componentl@type Code="COMP')/observation(@classCode="0BS'l[@mood
Code="EVN'[code[@code="'9"|[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10'
valuel@xsi:type="CEll@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.7/@cod

eSystem Version

J2.13.r.4 BWIEFOEHOF K

HHEHH

WIS DIRBRELS B RET DEBRE OFEERT,

LRI

o — RIETIE7 < Boolean T UBEMN VARSI true=H | & W i WiFE 1 [false=
g BBERITHE, : :

F—yH

Boolean 10A

RIS

true=F%/
false=14&

XPath

/MCCI_IN200100UV01[@ITSVersion=XML_1.0'l[@xsi‘schemalocation="urn:hl7-
orgv3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcessl@classCod
e='CACT'|[@mood Code="EVN'l/subject(@typeCode="SUBJ'}[1)/investigationEvent
[@classCode=TINVSTG[@maoodCode="EVN'/component[@typeCode="COMP'][adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=INVSTG'[@mo
0dCode="EVN'//subject1{@typeCode="SBJ'l[1]/primaryRolel@classCode=INVSBJ'
J/subjectOf2[@typeCode="SBJ'l [organizer/codel@code="1'[@codeSystem="2.16.840.
1.113883.3.989.5.1.8.2.1.11'll[r)/organizer[@class Code='"CATEGORY ' [@moodCode
='EVN')/component[@typeCode='COMP'}/observation[@classCode='OBS'][@mood
Code="EVN'l[codel@code='101[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.1
01l/valuel@xsi:type="BL'l/@value

J2.14.i RiH-

SEXn

EHE#HHA

RBROBRE, YZHREORERSNAREREEN L TFRITERVWLOTHIEEIE
R, FOMDEEIEITEME T5, E2BEH O Ei.2.1b BHEA /FEES (MedDRA
o— K) EEEST b, BWEREICRE - BEE {575, (TRIEOHIBELET,
ABHBIRD 8. ZOMOBBRBEERESHREFCHRLCOEEEHE] © (1) 2538
TBHIE,)

13




a— FMEMOBERLTE#MTDIZ L,

F—HE

1N

HAE

1=>2R30

2=BE4n

XPath

/MCCI_IN200100UV01[@ITS Version=XML_1.0'][@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'YPORR_IN049016UV(x]/controlActProcess[@classCod
e='CACT'l[@moodCode="EVN'l/subject[@typeCode="SUBJ'[1)/investigationEvent
[@classCode="INVSTG1@moodCode="EVN'l/component[@typeCode="COMP'][adv |
erseEventAssessment][1]/adverseEventAssessment[@classCode="TNVSTG'][@mo
0dCode="EVN'l/subject1[@typeCode='"SBJ'l[1)/primaryRolel@classCode=TNVSBJ'
I/subjectOf2[@typeCode="SBJ'][observation[id]l[code[@code='29'][@codeSystem='2.
16.840.1.113883.3.989.2.1.1.19']]][il/cbservation[@classCode='"OBS'l[@mood Code=
'EVNY/outboundRelationship2[@type Code="PERT'] [observation/code[@code='111(
@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.107] [1)/observation[@classCode=
'OBS{@moodCode='"EVN'l/value[@xsi:type="CE'l[@codeSystem='2.16.840.1.11388
3.3.989.5.1.3.2.1.81/@code

XPath
(codeSystem

Version)

/MCCI_IN200100UV01[@ITSVersion="XML_1.0'[@xsi:schemaLocation="urn:hl7-
org:v3 '
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcessl@classCod
e='CACT'l[@mood Code="EVN')/subject{@type Code="SUBJ'][1)/investigationEvent
[@classCode=TNVSTG[@moodCode="EVN'l/componentl@typeCode="COMP[adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG'][@mo
odCode='"EVN')/subject1[@typeCode="SBJ'][1)/primaryRole[@classCode=INVSB.J'
l/subjectOf2[@typeCode='SBJ'[observationlid][code[@code="29][@codeSystem="2.
16.840.1.113883.3.989.2.1.1.19'11[il/observation[@classCode="OBS'] [@mood Code=
'"EVN'T/outboundRelationship2[@typeCode="PERT" [observation/code[@code='11"{
@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10'][1)/observation[@classCode=
'0BS'1[@moodCode="EVN'l/valuel@xsi:type="CE[@codeSystem="'2.16.840.1.11388
3.3.989.5.1.3.2.1.8'/@codeSystem Version

J2.15r 2AFE

THHEEA MERERUVHAEHEREICBNT, BB THRENEBRAR IR TN DEE.
AREERT, ,
o EE Eo2— FrbEflia— FE28RLTERTAZ L,

MEREDHE, MEE/IHEZZOHEN L, RBRERFHTOELEHT D&,
e, SEREREORES. WEETLERTHTIZ L,

HERECBWT, BREOCRHEBICL > CTR—OHEEFPRINLBE, 1 2D%K
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AL LTHELTELILEY, FORBCIRAREL 1 FBICERL, BYELEZF
ALT, ZHBUBRIZZOMOARE ZLHE T DI &,

% B, A—O#HBEMUE TR ENTBEEITIE, YEAREICOWTENRET D, ©
DRI, BIEERE O%ITHET THRBMBEDORRELZRRTE 2 &, SEBRED
AFREPERH LB VEBELEANATDIZ L,

B, FEOHEBENASRRIBEIE. JREET DI L,

T 2A
A IS0 3166-1 77 7-2 DE=— K, EU
XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.07[@xsi‘schemal.ocation="urn:hl7-

orgv3
MCCI_IN200100UV01.xsd')/PORR_IN049016UVIr]/controlActProcess[@classCod
e='CACT'[@moodCode="EVN'l/subjectl@typeCode='SUBJ'][1}/investigationEvent
[@classCode=INVSTG'1[@mood Code="EVN'/referencel@typeCode="REFR][docu
ment/codel@code="21[@codeSystem='2.16.840.1.113883.3.989.2.1.1.271}[x}/docum
ent@classCode=DOC{@moodCode="EVN'l/participation[@typeCode="AUTl/assi
enedEntity[@classCode='ASSIGNED)/representedOrganization[@classCode="OR
G'l[@determinerCode=TNSTANCE)/asLocatedEntity[@classCode="LOCE/locatio
nl@classCode='"COUNTRY'l[@determinerCode="INSTANCE/code[@codeSystem=
'1.0.3166.1.2.21/@code

J2.16 WERNEDOER

HEB %N HESERUSEREREICBO T, ITESEZARICKIT 2HEOME (H.1))
KRB LEASOELZEFEBITTRT,

FRMT R 2L

F—4&8 | 500AN

A B B R .

XPath /MCCI_IN200100UV01[@ITS Version=XML_1.0'}[@xsi:schemaLocation="urn’hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV(rl/controlActProcess[@classCod
e="CACT1[@moodCode="EVN'l/subject[@typeCode="SUBJ'] [1]/investigationEvent
[@classCode=INVSTG[@moodCode="EVN'l/component[@typeCode='COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode=TNVSTG][@mo
0dCode="EVN'Ycomponent1[@typeCode="COMP'] [observationEventlcode[@code="
12[@codeSystem='2.16.840.1.113883.3.989.5.1.8.2.1.10]]][1)/observationEventl@
classCode="OBS'|[@moodCode=EVNl/value[@xsi:type="ED'I/text(

J2.17r BB/ FROLHE

HE 7R HrEeE DA, TERERRER /) it MFERRRR L] OETT,

EM R 7L

7 — 5 IN




1=ERAR#ER /9L
2=JERRIRABR B

/MCCI_IN200100UV01[@ITSVersion="XML_1.0][@xsi:schemaLocation="urn‘hl7-
org:v3 ' .
MCCI_IN200100UV01.xsd'[/PORR_IN049016UV[rl/controlActProcess[@classCod
e='CACT'][@mood Code="EVN'l/subject[@type Code="SUBJ'][1V/investigationEvent
[@classCode='INVSTG'[@moodCode="EVN'l/reference[@type Code=REFR'][docu
ment/code[@code="2'][@codeSystem="2.16.840.1.113883.3.989.2.1.1.271] [r)/docum
ent[@classCode=DOC'][@moodCode="EVN/title/text(
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XPath

/MCCI_IN2001000V01[@ITSVersion="XML_1.0'][@xsi:schemalocation="urn’hl7-
org-v3 )
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVI[x]/controlActProcess[@classCod
e="CACT'][@mood Code="EVN/subject@typeCode="SUBJ'][1]/investigationEvent
[@classCode="INVSTGl{@mood Code="EVN'l/subjectOf1[@type Code='"SUBJ'l{cont
rolActEvent/primaryInformationRecipient][1]/controlActEvent[@classCode="CAC
T'l[@mood Code="EVN'l/primaryInformationRecipient[@typeCode="PRCP'|/assign
edEntity(@classCode='ASSIGNED/representedOrganization[@classCode="ORG']
[@determinerCode=TNSTANCE']/name/text(
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/MCCI_IN200100UV01[@ITSVersion="XML_1.0'l[@xsi:schemalocation="urn:hl7-
org-v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIrl/controlActProcessl@classCod
e="CACT'|[@mood Code='EVN'l/subject[@typeCode="SUBJ']{1)/investigationEvent
[@classCode="INVSTG[@moocdCode="EVN'l/subjectOf1[@typeCode='"SUBJ' [cont
rolActEvent/primarylnformationRecipient][1)/controlActEvent[@classCode='CAC
T'[@moodCode="EVN)/primaryInformationRecipient|@typeCode="PRCP'}/assign
edEntity[@classCode="ASSIGNED"/assignedPerson{@classCode="PSN'l [@determ
inerCode="INSTANCE'/name/prefix[1l/text(
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7F—FE 100AN

rAE B HEEE _

XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'[@xsi:schemaLocation="urn:hl7-

‘ orgv3

MCCI_IN200100UV01.xsd')/PORR_IN049016UV[rl/controlActProcessl@classCod
e='CACT'1[@mood Code="EVN'/subject[@typeCode="SUBJ'][1]/investigationEvent
[@classCode='INVSTG Ji@moodCode="EVN'l/subjectOf1[@typeCode='"SUBJ'l[cont
rolActEvent/primaryInformationRecipient][1)/controlActEvent[@classCode="CAC
T][@moodCode="EVN']/primaryInformationRecipient[@typeCode="PRCP")/assign
edEntity[@classCode='ASSIGNED/assignedPerson[@classCode="PSN'][@determ
inerCode="INSTANCE'/name/family[1)/text(
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0'] [@xsi:schemaLocation="urn:hl7-
org-va
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIr)/controlActProcess[@classCod
e='"CACT'l{@moodCode="EVN'l/subject[@type Code='"SUBJ'|[1V/investigationEvent
[@classCode="INVSTG'1[@mood Code="EVN"/subjectOf1[@typeCode="SUBJ'l [cont
rolActEvent/primaryInformationRecipient][1)/controlActEvent[@classCode="CAC
T1[@mood Code=EVN')/primaryInformationRecipient[@typeCode="PRCP')/assign
edEntity[@classCode='ASSIGNEDV/assignedPerson[@classCode=PSN'[@determ
inerCode='"INSTANCE'Jname/given[1}/text(
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XPath /MCCI_IN200100UV01[@ITSVersion="XML_1.0][@xsi‘schemaLocation="urn:hl7-
org-v3d
MCCI_IN200100UV01.xsd'l/PORR_IN049016UVIx)/controlActProcess[@classCod
e='CACT"l[@mood Code="EVN'/subjectl@typeCode="SUBJ'][ 1)/investigationEvent
[@classCode="INVSTG'l{@mood Code="EVN'l/component[@type Code="COMP'] [adv
erseEventAssessment][1]/adverseEventAssessment[@classCode=TNVSTG][@mo




0dCode="EVN'Vcomponent1[@typeCode="COMP'])[observationEvent[code[@code='
131[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.10']][1]/cbservationEvent[@
classCode="OBS"1[@moodCode="EVN"/valuel[@xsi:type=EDl/text()
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XPath MCCI_IN200100UV01[@ITSVersion=XML,_1.0'][@xsi:schemal.ocation="urnhl7-
orgivd '

MCCI_IN200100UV01.xsd I/PORR_IN049016UV[rl/controlActProcess[@classCod
e='"CACT"][@mood Code="EVN'l/subject[@typeCode="SUBJ'][1)/investigationEvent
[@classCode="INVSTG'l[@mood Code="EVN'l/componentl@typeCode='COMP'Hadv
erseEventAssessmentl[1)/adverseEventAssessment[@classCode=INVSTG'H@mo
0dCode="EVN'l/component1[@typeCode="COMP'l[observationEvent[code[@code='
141[@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10T1][1//observationEvent[@
classCode='"OBS'l[@mood Code="EVN'l/value{@xsi:type="EDl/text(
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XPath /MCCI_IN200100UV01[@ITS Version="XML_1.0'[@xsi:schemalocation="urn:hl7-
org:v3
MCCI_IN200100UV01.xsd'l/PORR_IN049016UV[r)/controlActProcessl@classCod
e='"CACT'|[@moodCode="EVN"l/subject[@typeCode="SUBJ')[1])/investigationEvent
[@classCode=INVSTG'[@mood Code="EVN'l/component{@typeCode='"COMP'][adv
erseEventAssessment][1)/adverseEventAssessment[@classCode='INVSTG' [@mo
0dCode="EVN')/component1l@typeCode="COMP'l [observationEvent[codel@code="
15'[@codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1. 10'111[1)/observationEvent(@
classCode='0BS"1[@mood Code="EVN'lvalue[@xsi:type="ED")/text(
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XPath /MCCI_IN200100UV01[@ITSVersion=XML_1.0'[@xsi:schemalocation="urn:hl7-

org-v3

i8




MCCI_IN200100UV01.xsd'//PORR_IN049016UV[r]/controlActProcess{@classCod
e='CACT'[@moodCode="EVN'/subject[@typeCode="SUBJ'[1)/investigationEvent
[@classCode='INVSTG'] [@mood Code="EVN")/component[@typeCode='COMP][adv
erseEventAssessment][1]/adverseEventAssessmentf@classCode=TNVSTG'|[@mo

0dCode='"EVN'/component1[@typeCode='"COMP'] [observationEventlcode[@code='
16 [@codeSystem='2.16.840.1.113883.3.989.5.1.3.2.1.10]][1)/observationEvent[@
classCode='"OBS'1[@mood Code="EVN'l/value[@xsi:type='EDl/text(
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